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FP ,�.�� �� *�.G���� B���θD

G(s) 3�.��K �1 ,1�;-� �� .����,��G���� �� *���.�

Gp(s) 3�.��K �1 ,1�;-� �� .����,��G���� �� *���.� ��3

*��.1�4�;-�

h e ��*���1�� �� ��.��,����

e *��E��� �� �3��.��5�3

hchaves *��E��� �� �3��.��5�3 *��� �61���;-� � ��3*���!

;-� ��� ������.��C������3��.� ��� �0���� �� �����!

���
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hcont *��E��� �� �3��.��5�3 *��� �61���;-� �� ����� ��

ω(t)C�L��1�� �� iSqref B3��0� �� ���.���� *��*���!

3��.� ��.�D

H ��.�������� �� ��3*�

imR(t) ��.�� ������.� �� 3�5��.�K�;-�

imR(t) 3N�1�� �� imR(t)

ImR(s) .����,��3��� �� ��*���� �� imR(t)

imR
′(t) ����� ��.�3��� �� imR(t)

ImR
′(s) .����,��3��� �� ��*���� �� imR′(t)

iR1(t), iR2(t), iR3(t) ������.�� ��� ,���� >/ 7 � 9 �� ��.��

iS(t), iR(t) ��.���� ������.� �� ��.�.�� � �� ��.��

iS(t), iR(t) 3N�1��� �� iS(t) � iR(t)

iSa(t), iSb(t) ��3*����.�� ����.� � �� 61����.1�� �� iS(t) 61����

����3*��.� ��4�� 13 *�� �� ��H�� ��O���� *��� ��H�

�� ������3��.� �� ,��� > �� ��.�.��

iSd(t), iSq(t) ��3*����.�� ����.� � �� 61����.1�� �� iS(t) 61����

����3*��.� ��4�� 13 *�� �� ��H�� ��O���� *��

imR(t)

ISd(s), ISq(s) .����,��3���� �� ��*���� �� iSd(t) � iSq(t)

iSdref(t), iSqref(t) ������.�� �� ��,��G���� *��� iSd(t) � iSq(t)

ISdref(s), ISqref(s) .����,��3���� �� ��*���� �� iSdref(t) � iSqref(t)

iS1(t), iS2(t), iS3(t) ������.�� ��� ,���� >/ 7 � 9 �� ��.�.��

IS1(s), IS2(s), IS3(s) .����,��3���� �� ��*���� �� iS1(t)/ iS2(t) � iS3(t)

iS1ref(t), iS2ref(t), iS3ref(t) ������.�� �� ��,��G���� *��� iS1(t), iS2(t) � iS3(t)

ICC(t) ������.� ���.E�1�/ �� ������ *��� � �����.G���� ��

��.�.�� �� 3�.�� �� ���1;-�

IL(t) 3���� ���.3�.��� ��3*��� �� IL1(t)/ IL2(t) � IL3(t)

IL1(t), IL2(t), IL3(t) ������.�� �� ���0�/ ��� ������� �� 3�.�� �� ���1;-�

Imag(t) ������.� �� 3�5��.�K�;-�/ *�� ,���/ ��� ������� ��

3�.�� �� ���1;-�

IS(t), IR(t) ������.�� �� ,��� �� ��.�.�� � �� ��.��/ ��� �������

�� 3�.�� �� ���1;-�

H����



j
√−1

J 3�3��.� �� �������

k e ,�.�� �� ���*��3��.� 5��4��

e E����� *��� ����� �.1�� �� ����L���� �� �61�;-� �

��,����;��

kabs 5��0� �� 3����� 3�.�3L.��� �� 3�.�� �� ���1;-�

kM ����.��.� �� �61�;-� �� .��61�

kp 5��0� *��*�������� �� ���.������� ��

K(s) ,1�;-� �� .����,��G���� �� ���.�������

l ��3*��3��.� �H���

Lmag ���1.S���� �� 3�5��.�K�;-�

Lmut ���1.S���� 3�.1�

LS, LR ���1.S����� *�N*����/ *�� ,���/ �� ��.�.�� � �� ��.��

L1, L2 ���1.S����� �� ���*���-�/ *�� ,���/ �� ��.�.�� � ��

��.��

mL(ε, ω, t) .��61� �� ���5�

mM(t) .��61� ���.����

M(s), M̃(s) F����3��������F �� ,�.���;-� �1*��3��.� ��*��3�

�� G(s)

nS(α) ��������� �� ����1.���� �� ��.�.��

N(s), Ñ(s) F�13��������F �� ,�.���;-� �1*��3��.� ��*��3�

�� G(s)

NS, NR ��3��� �� ���.�� ��� ������3��.�� �� ���� ,��� ��

��.�.�� � �� ��.��

Pale(t) *�.G���� �.��41E�� P� *����� ����.N����

PA&V (t) *�.G���� 61� ��*�����.� �� *����� *�� �.��.� � ���!

.���;-�

PCE(t) *�.G���� 61� ��*�����.� �� *����� �� ��4�� ��� ��!

����3��.�� �� ��.�.��

Pconv(t) *�.G���� ������.��� �� ,��3� ���.���� *��� � ,��3�

3��S����

H�H



PCR(t) *�.G���� 61� ��*�����.� �� *����� �� ��4�� ��� ��!

����3��.�� �� ��.��

PEF (t) *�.G���� �� ��.��,����

Pnu(t) *�.G���� 61� ��*�����.� �� *����� �� ������/ *��

0��.����� � ������.�� *�����.�� �� ��.�.��

Psai(t) *�.G���� �� *��.� �� ��H� �� 3�.��

Q(s) ,1�;-� ���N5��.� �� *��4��3� �� �M1�.� �� 3������

r ���� �� ��.��

Rconv �����.G���� 61� F�����*�F Pconv(t)

Rnu �����.G���� 61� �����*� Pnu(t)

RRB �����.G���� �� ��.�� 4��61����

RS, RR �����.G���� *�� ,���/ �� ��.�.�� � �� ��.��

s ����L��� �� ��*����

S �������5�3��.�

S(s) ,1�;-� �� .����,��G���� �� �����4�������

t .�3*�

ti ����.��.� �� .�3*� �� ��.�5��;-� �� ���.������� ��

T (s) ,1�;-� �� .����,��G���� ��3*��3��.�� �� S(s) B,) .)

�� 3��0� ,��0���D

TR, TR
′ ����.��.� �� .�3*� ��.N���� � ��1 ����� ��.�3���

Tdy(s) ,1�;-� �� .����,��G���� �� ����� �� ���.��4�� *��� �

����� �� ��E��

Tre(s) ,1�;-� �� .����,��G���� �� ����� �� ��,��G���� *���

� ����� �� ����

Tvz(s) ,1�;-� �� .����,��G���� �� *��4��3� �� �M1�.� ��

3������

Tηy(s) ,1�;-� �� .����,��G���� �� ����� �� �1E�� *��� � �����

�� ��E��

uR1(t), uR2(t), uR3(t) .���T�� ,���!��1.�� ��� ,���� >/ 7 � 9 �� ��.��

uS1(t), uS2(t), uS3(t) .���T�� ,���!��1.�� ��� ,���� >/ 7 � 9 �� ��.�.��

T1(s), T2(s), T3(s) 3�.��K�� �1 ,1�;T�� �� .����,��G���� �� *��4��3�

�� �M1�.� �� 3������

HH



uS(t), uR(t) ��.���� .���-� �� ��.�.�� � �� ��.��

VCC(t) 3���� ���.3�.��� ��3*��� �� VCC1(t)/ VCC2(t) �

VCC3(t)

VCC1(t), VCC2(t), VCC3(t) .���-� ���.E�1� ��4�� �� ������3��.�� ��� ,���� >/

7 � 9 �� ��.�.��/ �� ������ *��� � �����.G���� ��

��.�.��

VL(t) .���-� �� ���0� ��� ������� �� 3�.�� �� ���1;-�

VS(t) .���-� ,���!��1.�� ��� ������3��.�� �� ��.�.�� ���

������� �� 3�.�� �� ���1;-�

Wc,Wo 5��3����� �� ���.����4������� � �4�����4�������

W1(s),W2(s) 3�.��K�� �1 ,1�;T�� �� *������;-� ��� *��4��3��

H∞

Xmag ���.S���� �� 3�5��.�K�;-�/ *�� ,���/ �� 3�.�� ��

���1;-�

XRB ���.S���� �� ��.�� 4��61����/ �� ,��6bG���� ��3�!

���

X ′
RB ���.S���� �� ��.�� 4��61����/ �� ,��6bG���� �� ��!

����

X1, X2 ���.S����� �� ���*���-�/ *�� ,���/ �� ��.�.�� � ��

��.��

X ′
1, X

′
2 ���.S����� �� ���*���-�/ *�� ,���/ �� ��.�.�� � ��

��.��/ �� ,��6bG���� �� ������

z ����L��� �� .����,��3��� z

Zeq �3*��S���� �61������.�

Zo ,�.�� ��*��.��� *��� ���1;-� �� *��4��3� �� 7!4�����

ZRB �3*��S���� �� ��.�� 4��61����

α e ���������� ��51���/ ��3 ��,��G���� �� ��H� ��

������3��.� �� ,��� > �� ��.�.��

e inf(‖T1 − T2QT3‖∞ : Q ∈ RH∞)

β ���������� ��51���/ ��3 ��,��G���� �� ��H� �� ��!

����3��.� �� ,��� > �� ��.��

HH�



γ e 2π/3

e ����L��� *��� � 3�.��� �� 4�����;-�

γ0 ‖R2‖∞
γ∗ ����� ������5��� �.����� �� 3�.��� �� 4�����;-�

*��� ���1;-� �� *��4��3� �� 7!4�����

δ(jω) ,1�;-� ���� �-� ��5�.���

δ(t) ����� �� *���;-� ��51��� �� iS(t)/ ��3 ����;-� ��

��H� ��O���� *�� imR

∆(s) ,1�;-� �� *��.1�4�;-�

∆a(s),∆p(s) ,1�;T�� �� *��.1�4�;-� ���.��� � 31�.�*����.���

ε(t) ����� �� *���;-� ��51��� �� ��.��/ ��3 ����;-� ��

��H� �� ������3��.� �� ,��� > �� ��.�.��

ε(s) .����,��3��� �� ��*���� �� ε(t)

ζ(t) ����� �� *���;-� ��51��� �� iS(t)/ ��3 ����;-� ��

��H� �� ������3��.� �� ,��� > �� ��.�.��

θ S�51�� �� ��,���5�3 ��.�� � .���-� � � ������.� ��

���0� ��� ������� �� 3�.�� �� ���1;-�

Θ ,��;� 3�5��.�!3�.��K B,33D

Θ(α, ε, t) ,33 ���1�.��.� B�1*��*���;-� �� ΘS(α, t) �

ΘR(α, ε, t)D

ΘR(α, ε, t),ΘR(β, t) ,33 �� ��.��

ΘS(α, t) ,33 �� ��.�.�� B�1*��*���;-� �� ΘS1(α, t)/ ΘS2(α, t)

� ΘS3(α, t)D

ΘS1(α, t),ΘS2(α, t),ΘS3(α, t) ,33 ������ ��� ������3��.�� ��� ,���� >/ 7 � 9 ��

��.�.��

λ ���������� ��51��� *��� ��.�5��;-�/ ��3 ����;-� ��

��H� �� ������3��.� �� ,��� > �� ��.�.��/ ������ P

���.��41�;-� �-� 1��,��3� ��� ������3��.��

µ0 ����.��.� �� *��3��4������� �� ��

ξ(t) ����� �� *���;-� ��51��� �� iR(t)/ ��3 ����;-� ��

��H� �� ������3��.� �� ,��� > �� ��.��
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π 3.14159265359

ρ(t) ����� �� *���;-� ��51��� �� imR(t)/ ��3 ����;-� ��

��H� �� ������3��.� �� ,��� > �� ��.�.��

ρ(s) .����,��3��� �� ��*���� �� ρ(t)

ρ′(t) ����� ��.�3��� �� ρ(t)

ρ′(s) .����,��3��� �� ��*���� �� ρ′(t)

σ ,�.�� �� ���*���-� .�.��

σS, σR ,�.���� �� ���*���-� �� ��.�.�� � �� ��.��

τ ����.��.� �� .�3*� �� 3����� 3�.�3L.��� �� 3�!

.�� �� ���1;-�

τ̄ *N�� ��.���1K��� �� ,1�;-� Q(s) *��� .���L!��

*�N*���/ ��� �L��1��� �� ���.��������� H∞

ψR1(t), ψR2(t), ψR3(t) X1H�� ����;���� *���� ������3��.�� ��� ,���� >/ 7 �

9 �� ��.��

ψS1(t), ψS2(t), ψS3(t) X1H�� ����;���� *���� ������3��.�� ��� ,���� >/ 7 �

9 �� ��.�.��

ψ
S
(t), ψ

R
(t) ��.���� �� X1H� ����;���/ �� ��.�.�� � �� ��.��

ω ,��6bG���� ��51���

ω(t) ����� �� ���������� ��51��� �� ��.��/ ��3 ����;-� ��

��.�.��

ω(s) .����,��3��� �� ��*���� �� ω(t)

ωmR(t) ����� �� ���������� ��51��� �� imR(t)/ ��3 ����;-�

�� ��.�.��

ωmR(s) .����,��3��� �� ��*���� �� ωmR(t)

ωmR
′(t) ����� ��.�3��� �� ωmR(t)

ωmR
′(s) .����,��3��� �� ��*���� �� ωmR′(t)

ωref(t) ����� �� ���������� ��51��� �� ��,��G���� *��� ω(t)

ωref(s) .����,��3��� �� ��*���� �� ωref(t)

ω1(t) e ����� �� ���������� ��51��� �� iS(t)/ ��3 ����;-�

�� ��.�.��

e ,��6bG���� ��51��� ��� ������.�� iS1(t)/ iS2(t) �

iS3(t)
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ω1(s) .����,��3��� �� ��*���� �� ω1(t)

ω1nom ,��6bG���� ��51��� ω1 ��3���� �� 3�.��

ω1ens ,��6bG���� ��51��� ω1 �� ������ �� 3�.��

ω2(t) e ����� �� ���������� ��51��� �� imR(t)/ ��3 ����;-�

�� ��.��

e ,��6bG���� ��51��� ��� ������.�� iR1(t)/ iR2(t) �

iR3(t)

ω2(s) .����,��3��� �� ��*���� �� ω2(t)

ω2
′(t) ����� ��.�3��� �� ω2(t)

ω2
′(s) .����,��3��� �� ��*���� �� ω2

′(t)

����	����� ����
��� ����
��� � ���
���
��

C ���M1�.� ��� ��3���� ��3*��H��

N ���M1�.� ��� ��3���� ��.1����

R ���M1�.� ��� ��3���� �����

�2 ��*�;� ��� ,1�;T�� �3 R �� 61������ ��.�5�L���

RL2 ��*�;� ��� ,1�;T�� ��������� ��.��.�3��.� *�N*����/

��3 *N��� �� ��H� �3�5��L���

RL∞ ��*�;� ��� ,1�;T�� ���������/ *�N*����/ ��3 *N��� ��

��H� �3�5��L���

RH∞ ��*�;� ��� ,1�;T�� ���������/ *�N*���� � ��.L����

RH+
∞ ��*�;� ��� ,1�;T�� ���������/ *�N*���� � ��.�!

��.L����

Pm ������ �� *���.�� ��3 *��.1�4�;-� 31�.�*����.���

inf [ . ] E�O3�

max [ . ] 3LH�3�

min [ . ] 3E��3�

Re ( . ) *��.� ����

Im ( . ) *��.� �3�5��L���

K (s) ��. G (s) K (s) 61� ��.�4���K� G (s)
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| . | 3N�1��

‖ . ‖ ���3�

‖ . ‖∞ ���3� ��O��.�

‖ . ‖2 ���3� 7 �1 ���3� �1��������

‖ . ‖H ���3� �� "��V��

〈 . , . 〉 *���1.� ��.����

[ . ]∗ ��3*��H� ���M15��� .����*��.�

[ . ]T .����*��.�

[ . ]i , [ . ]ci 3�.��K �1 ,1�;-� �� .����,��G���� F�����F � F��!

�����F

[ . ]o , [ . ]co 3�.��K �1 ,1�;-� �� .����,��G���� F�1.��F � F��!

�1.��F

F [ . ] .����,��3��� �� $�1����

σ̄ ( . ) 3���� ����� ���51���
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� ������ ,1���3��.��� � ���*��.� �� 3�.�� �� ���1;-� ,���3 ������������� �3

3����� �� >\\8 *�� ������ �����) "�1�� 13 *��E��� ������� �� �L*��� ����������!

3��.� ��4�� �� ������ 4L����� ��51��� �� �*��,��;��3��.�� 61� �G3 ����� �3*��!

3��.���� �.� �� ���� �� 0�M�) � ,��3�.� �� 3�.�� �� ���1;-� 1.���K��� �.1��3��.�

�*�����1 ��.�� >\\\ � >\@?) ����� *��E��� � ��.�� 5����� �� ��61��� ,�� �*�����.���)

�3 >\@] 3�.���� �� ���1;-� .��,L����� ML ���3 ���*��E���� ��3������3��.� � 0�M� �

� 3�.�� ���.���� 3��� 1.���K���) 	1� �����;-� ��1 13 ,��.� �3*1��� *��� � .�����;-�

�� 
� *��� 
� �� ��3*� �� 5���;-�/ .����3���-� � ���.��41�;-� �� ����5�� ���.����)

	1� *�����*�� ���.�5�3 � � ���3���;-� �� .���� �� ���.�.�� �����K��.��/ ���1�.����

�3 13� ����.�1;-� �H.�����������3��.� ��3*��� � ��41�.�)

�34��� �� *��4��3�� �� ���.����� �O����.�3��.� � ���������� ��� 3�.���� ��

���1;-� .G3 ���� �����.�5���� *�� �������/ .���� �� ���1;T�� �����KL���� �.� *�1���

���� �.�L� ���3 ����.��,�.N���� ��3 ���*��.� P ��3*��H�����/ �O��G����/ ����3*��0�

���S3��� �1 �1�.�) 	�3��.� ������ �� *��5����� �� .������5�� ��� ��3�����1.����

��� ��.�3�� 9? ���� � 61� ����������� �� ,��61G���� ��.L.���� ��.��,�.N���� *1����3

��� ����.�1E��� � �1�.� ����.L���/ ,�K���� �� 3�.�� �� ���1;-� � 3��� *��3�����

���*���.��� �� ���������� �M1�.L��� *��� 31�.�� �*����;T��)


 �14�.�.1�;-� �� ��31.����/ �.1���� ��3� 13 ��������� 3��S����/ *�� 13

��������� �� ��.��� �N���� �� ���.�Q���� �� *�.G����/ ���1K � 3L61��� 
� ��3��.�

P .���,� �� �������-� ���.��3��S���� �� ����5��/ ���1�.���� �3 31�.� 3��� �����!

���� �� *�.G���� *�� ���13� �1 3����) 
��3 �����/ � �*��,��;��3��.� ���.E�1� ��

61������� ��� �;��/ ��� .������� �� ,1���;-�/ �� �����3��.� � ��� �����.��E�.���� ��

>



����.�1;-� .�34�3 ���.��41E��3 *��� � ��3��1�;-� �� ���13� �� 3�.�� �3 ����;-�

� 13� 3��3� *�.G���� � *��� � ���1;-� �� ��1 �1�.�)

	��.�3�� �� ���.���� �-� *��M�.���� *��� 61� ���.�� ������/ .��� ��3� ����� �

��.����� �� �.1������/ �-� �H����3 �E���� *��!��*���O�����) 
���3 ��� ������� �3

���.� .�34�3 �� �����.�K�� ��4�� � *���.� � ��� ���.������ B�� 3������ 1����� *���

��*�����.�� ���.�3�� ,E����� �-� 3���� ������K�;T��D � �� ����� ��� 3������ �� ������

B�� �������� �-� *���1�3 *�����-� ��O��.�D) 
 ���*��.� �� �*����.�3��.� N4��� ��!

��������� �� �� ���������� �����.�K�� �3 *���.�� �H*����.�3��.� ��� *��4��3�� ��

���.����/ �*���� �� ��E��� �� ������ �� >@\8 �� *��61�������� �� ���.���� ���.�4���!

����3 � ��5�;-� ��3 � .��4��0� ��L����� �� ���� � �1.���/ ,��31����� 13� ��;-�

��4�� �����.�K� 3�.�3�.���3��.� .��.L��� �3 13� ��.�1.1�� 4L���� �� ��.����!��E��

� ������������� .������� 3�.�3L.���� ��5������ *��� ��������L!�� <>=/ <7=/ <9=)

��.� .��4��0� *��*T� � *��M�.� � �3*��3��.�;-� �� 13 ���.�3� �� ���.����

*��� 3�.���� �� ���1;-� ��3 �4����5�3 *��� ���.���� ��.����� �1 �����.��� *���

��3*�/ 61� .��0� 13� ���*��.� ���S3��� ��K�L��� � ��M� *�1�� ����E��� � �����;T��

��� *��S3�.��� �� *���.�/ 3��� ��*���O��3��.� �����;T�� �� ����� �� ����.��.� ��

.�3*� ��.N���� ��.�3���) ��� ���� 3�.��� �����0�1!�� �*����� � .����� �� ���.����

��41�.� H∞ �� *��M�.� �� ��3*��������� *��� � ���.�3�/ �*���� �� �� .��.�� ��

13 *��4��3� �-� ������) ��.��.��.�/ *���!�� �4.�� 13 3����� ������ *��� � *���.�

�.����� �� ���.���� �����.��� *��� ��3*�) 
 ����L��� � ��� ���.������ � � ����������

�� ��.��) 
��� *��4��3�� H∞ �-� ,��31����� � ����������+ ��� 13 *��4��3� ��

>!4���� ��3 �4M�.��� �� 3�H�3�K�� � ����3*��0� �� ���.�3�/ �1 ��M�/ � ���*��.�

.�����.N��� *��� .���� �� ������ �� 61������ ��.�5�L���/ ��3 � ���.��;-� �� ���� ��

��5�3� *��3����.� �1�� *��� ������ �� ��,��G���� �� .�*� ��5��1R ���� 13 *��4��3�

�� 7!4�����/ ,��31���� *��� 3�H�3�K�� .��.� � ����3*��0� �� ���.�3� B���*��.�

.�����.N���D 61��.� � .����S���� �� ���.�3� � �����.�K�� �� 3����� �� *���.�) 


����� *�� .�L� �� ,��31��;-� �� *��4��3� �� 7!4����� � 3������ � ���0���3��.�

���H�.� �� ����.��.� �� .�3*� ��.N���� B��K-� ��.�� � ���1.S���� � � �����.G����

�� ��.��D ��3� 13� *��.1�4�;-� �� 3����� ��3����/ 61� � �1*��.� ���0����� �

�� *��3���� ����3/ 61���� � ����.��.� �� .�3*� ��.N���� � ���0����� �H�.�3��.�

� � *���.� � ,��3��� *�� 13 3�.�� �� ���1;-� � 13 �������� �����) ����� ��

���.��������� *��M�.���� ,���3 �3*��3��.���� �3 13 ���.�3� ����)
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 �*����;-� �� ���.���� ��41�.� H∞ �3 3�.���� �� ���1;-� � 13 .�3� 61�

ML ,�� �4������ *�� �1.��� �1.����) 
..������� � ��3���� <Z= OK���3 1�� �� ���!

.���� ��.����� � �� .����� �� ���.���� H∞ *��� ���.����� � ���������� �� 3�.����

�� ���1;-� � �����1���3 �.����� �� ��3*���;-� ��.�� ���1�.���� �H*���3��.��� �

��31����� 61� � *������3��.� � �L���� *��� � *��M�.� �� ���.���������/ ���3 ��

���O�3�� 61� *���!�� �����;�� 4�3 ����3*��0� ���S3��� � ��41�.�K 61��.� �

�����;T�� ��� *��S3�.��� �� ���.�3� � ���.��4��� �H.�����) ��V�1, �� ��� <?= �H*��!

����3 � .�3� ��41�.�K � ��.�4������� �� 13� ��.�1.1�� �� ���.���� H∞ �� 3�.��

�� ���1;-� �����.��� *��� ��3*� 61��.� � ���.��4��� ��.����� � �H.�����/ 1�����

�������K�;-� *�� �����3��.�;-�/ �����1����/ *�� 3��� �� ���1�.���� ��31�����/ 61�

�� �4M�.���� �� ���.���3��.� � ��M��;-� �� ���.��4��� ,���3 �����;����) �0��������

�� ��� <]= *��M�.���3 13 ���.������� �� ���������� ��41�.� 1����� .������ H∞/

�����.�;-� *��� ��3*� � �������K�;-� *�� �����3��.�;-�/ �4.���� ���� �14���.�3��

�������� ������*����� ��*�����.���� � ���������� �� ��.�� � � ���S3��� �� ���3�

�� X1H�/ �1*���� 3���;-� ��3*��.� ��� ��.����) �����1���3 ��3 4��� �3 ���1�.�!

��� ��31�����/ 61� 0�1�� 13 4�3 ��3*��.�3��.� �� 3�.�� �� ���1;-� 61��.� �

�����;T�� �� .�*� ��5��1 �� .��61� �� ���5�) ��1f. �� ��� <A= �4������3 � *��M�.�

�� ���.��������� 4������ �3 �)�)� � 3����� *���.N*��� ��3 ���.�� � �*����;-� �3

���.�3�� �-� �������� �1M��.�� � �����;T�� �� *��S3�.���) ���3����3��.� 1����3

3�����5�3 *���.N*��� *��� �H*������ � �����;-� *���3�.���� �� 3����� �������K���

�/ �3 ��51���/ 13� .������ �� *��M�.� 3��.� H2CH∞ 4������ �3 13 3����� ��

��,��G����/ ,�� 1���� *��� 5����.�� �� �4M�.���� �� *��M�.�) �3 ��51��� �����K���3

� ��.�4������� ��41�.� �� ���.�3� �3 3��0� ,��0��� �������K���/ �� *�����;� ���

�-� ������������ �5������� �� *������� �� �E�.��� �� ���.�������/ 1����� ,1�;T�� ��

�W�*1���) � 3�.��� ,�� �*������ ��3 �1����� �3 13 3�.�� �� ���1;-� �1M��.� �

�����;T�� �� �����.G���� � ���1.S����)

���� �1.���� *���3 ��� ��.����/ �� 61� ��K ���*��.� P �*����;-� �� .�������

�-� �������� *��� ���.���� �� 3�.���� �� ���1;-�) ��.�5� �� ��� <\= *��*T�3 �

*��M�.� �� 13 ���.������� �-� ������/ 5��4��3��.� ��.L���/ *��� ��51��;-� �� .��61�

�� 3�.���� �� ���1;-�/ ��3 3���;-� �� ����L���� �� ��.�� � ��3 ���51��������� ��

���.�������R � 3�.�����5�� �� �*���� �� ���.���� ��.�����) ��*�����!����K �� ��� <@=

�*�����.�3 13 ���.������� �-� ������/ 5��4��3��.� ��.L���/ *��� ���.���3��.� ��
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.��61� � ��51��;-� �� X1H� �� 3�.���� �� ���1;-�R � 3�.�����5�� ��61�� 3���;-�

��� ����L���� �� ��.�.�� � �� ���������� �� ��.��) ��.�5� �� ��� <>8= ����1��3 13

���.������� �-� ������ *��� ���.���3��.� �� ����������/ 61� �-� ��61�� �4����������

�� ��.���/ 1.���K���� 13 O�.�� ������ *��� � ���� �� ����������) ��� ��.�5�� ��

��.�5� �� ��� <\= � <>8= � ��*�����!����K �� ��� <@= ��3��.� ���1�.���� �� ��31��;T��

�-� �*�����.����) ��.�5� �� ��� <>>= �*�����.�3 13 ���.������� *��� �����.�;-�

*��� X1H�/ �� 3�.���� �� ���1;-� ���3��.���� *�� ������.�/ �3 .�3*� ������.�/ 61�

5����.� ��51��;-� �����.N.��� 5��4��/ ����3 ��3� ���.���3��.� �� ���3� �� X1H�)

g�. �� ��� <>7= �����.�5�3 � 61��.-� �� ��41�.GK 61��.� � �����.�K�� *���3�.�����

���.�� �� ���.�H.� �� �����.�;-� *��� X1H�) �����;T�� *��� ��.�4������� �����.N.���

����� � 5��4��/ ����3 ��3� ��3�.��.�� *��� .���� �� ������ �-� �4.����) _�3 �� ���

<>9= �*�����.�3 13� ��3*���;-� .�N���� � �H*���3��.�� ��.�� ���� ���.��������� �-�

�������� �����.�� *��� ��51��;-� �� ���������� �� 3�.���� �� ���1;-� ���3��.���� *��

������.�R .��.�!�� �� ���.������� 4������ �3 *���������� B���D � �� ���.�������

���*.�.��� 4������ �3 �4���������� B��
�D) ������ �� ��� <>Z= <>?= *��*T�3 �

*��M�.� �� 13 ���.������� ���*.�.��� *��� 3�.���� �� ���1;-� ���3��.���� *��

������.�/ �1*���� 3���;-� �� ���������� �� ��.�� � ������.�� �� ��.�.��/ 5����.����

���.���3��.� �H*�������� 5��4��/ �� ���������� � �� X1H� �� ��.��/ 1����� 13

��.�3���� �� ��.�3� ����3) �0������ <>]= �*�����.� 13� ���� �4����5�3 *��� �

���.���� �� 3�.�� �� ���1;-� 1����� �������K�;-� *�� �����3��.�;-�) ������������

� 3����� �!6 �� 3�.��/ ��� 3��.�� 61� �H��.� 13� ����� .����,��3�;-� ������ *��

�����3��.�;-�/ 61� � �L���� ��61��.� � 3�5��.1�� �� X1H� �� ��.�� ,�� �-� �1��)

$1�.1��.� �� ��� <>A= �*�����.�3 13 ���.�3� �� ���.���� �� ���������� �� 13 3�.��

�� ���1;-� �.����� �� ���.���� ��.����� ��3 �����.�;-� *��� X1H� �� ��.�� ������.�)


 ��.��.�5�� � � ���.���� ���*.�.��� *�� 3����� �� ��,��G���� � ��.�1.1�� ����L���/

���.����� �� ���.���� �� *���.�� ��3 �����.�K��) �3 ������ �� ��� <>Z= � $1�.1��.�

�� ��� <>A= ���1�.���� �H*���3��.��� �-� �*�����.����)


 ����.�1;-� �� 13 ���.�3� �� ���.���� 5����3��.� ������� 31�.�� *�����) �3

���L��� .E*��� � ������.� � ��51��+

�D ��.1��� � ���.�3� � ��� ���.������ � ������� 61��� .�*�� �� �������� � �.1������

���-� 1.��K���� � ���� ���� ���-� ���������)

��D ������� � ���.�3� ���1�.��.� � ��� ���.������)

Z



���D 	�3*��O��� � 3�����/ �� ������L���/ *��� 61� ��� ��M� .��.L���)

��D 
������� � 3����� ���1�.��.� � ��.��3���� �1�� *��*��������)

�D �����0�� �� �4M�.���� �� ���.����)

��D �����0�� � .�*� �� ���.������� � ��� 1����)

���D ���M�.�� 13 ���.������� 61� �.���� �� ��*���O��;T��/ �� ,�� *���E���R �� �-�

,��/ 3���O��� �� �4M�.���� �1 5�������K�� � .�*� �� ���.������� *���1����)

����D 	�31��� � ���.�3� �� ���.���� ���1�.��.�/ ��M� �3 ��3*1.����/ ��M� �3 *���.�

*���.�)

�HD ��.����� �� *���� > �� ,�� ������L���)

HD �����0�� � ��	
��	� � � �
����	� � �3*��3��.�� � ���.�������)

H�D 
M1�.�� � ���.������� �� F��3*�F/ �� ,�� ������L���)


� ���5� �� .�3*� ,���3 ������������� �L���� 3������ 3�.�3L.���� *��� ��!

*�����.�� � ,1������3��.� �� 3�.�� �� ���1;-�) �H��.�3 3������ 61� �-� G�,���

�� ��3*��.�3��.� �� 3�.�� �3 ��5�3� *��3����.� <>\= � 3������ 3��� ��3*��H��/

61� �� *����1*�3 �3 ��*�����.�� ��.��,�.����3��.� � ��5�3� .�����.N��� �� 3L61���

<>@=) ���� .��.�/ � ��*E.1�� 7 �*�����.� ��.��0���3��.� � 3�����5�3 3�.�3L.���

�� 3�.�� �� ���1;-�/ ��3 ���.�� P �*����;-� �� ���.���� ��.����� �1 ���.���� �����!

.��� *��� ��3*�) 
 4��� 3�.�3L.��� *��� � �L��1�� �� ���.��������� / 1.���K����

.������� �� ���.���� ��41�.� H∞/ ��.L ������������ �� ��*E.1�� 9) �� ������� *���

����.�O��;-� ��� *��S3�.��� � ������;-� �� 3����� 3�.�3L.��� �� *���.� �-� ���!

���.�� �� ��*E.1�� Z) �� �4M�.���� �� ���.���� � � *��M�.� ��� ���.��������� H∞

���1�.��.�� ��� *��4��3�� �� >! � 7!4�����/ ����3 ��3� �� ���1�.���� �4.���� ��

�3*��3��.�;-� ������ ���.��������� �3 4������ ��.-� �*�����.���� �� ��*E.1�� ?)

$����3��.�/ �� ��*E.1�� ] �-� �*�����.���� �� �����1�T�� � ��3��.L���� ��4�� �

.��4��0� ������������/ ���3 �� *��*��.�� *��� � ���.��1�;-� �� 3��3�)

?



�
��	��� �

��� �� �!� �"���� ��

����� � �������
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3�.�3L.��� ���4����� .���� �3 ���.� �� ��3*�� 3�5��.���� 5����.�� � �� ����;T��

��*������ ��*�����.�� �� ���������� � �� ���5�) ��� ���� ��K-�/ � ��1 .��.�3��.�/

�� *��.� �� ���.� ���1�.����/ ��61�� ��3*��O��;T��) �� ����1�.�� �61������.�� �����!

�������� *��� � �*���;-� �3 ��5�3� *��3����.� ��3 .���T�� � ������.�� ���������/

�-� �����61���� *��� �� .��4��0�� ��3 .�����.N���� �1 61���� � 3�.�� � ���3��!

.��� *�� 13 ��������� �0������) ��3� ��.����.���/ ����!�� *���1��� 13 3�����

3�.�3L.��� � ��� 1���� *��� O�� �� ���.���� 61� �����*��� � 3������ ��� �����.��E�!

.���� 61���.�.���� �� 13 3�.�� ����) ����3/ ��.� 3����� �-� ���L �1O����.�3��.�

*������ *��� � O�������� �� �� *��M�.�� 13� 3L61���) ���.� ����/ � �����;-� ��

��5�3� *��3����.� � .��.��� ��3� 13 ���� ��*����� �� ���� ���S3��� 5����)

���.� ��*E.1�� �*�����.�!�� � 3����� �� 3�.�� �� ���1;-� ������������ *��

����0��� <>@=) �������3��.� ����������!�� � 3����� ��.����� ��,��������� � 13 ���!

.�3� .��!�H��� �� ����������� OH�� B�� ��.�.�� � �� ��.��D � *��.�����3��.� �����0�!��

13 ���� ���.�3� �� ����������� ��3*��H�� 3N���� �1M� ��H� ���� � �����L��� �� *���

*���.��� �� X1H� �� ��.��) �3 3����� ��.����.��� � �61������.� *��� ��� �4.��� �

*��.�� ��� �61�;T�� *��*��.�� *�� 	��3�� <78=)
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�� ��51��.�� �1*���;T��+ (i) � ��.�.�� � �� 3L61��� � ��*�����.��� *�� 13 ��������

��� �� ,���� ��3 ��;-� .���������� ����1���/ ���.���� 13 ��.�� � ����G�.���� .��

61� 13 ��.���.� ��.��,����/ �� ��*���1�� ����.��.� � ������ h/ �H��.� ��.�� �� �1*��!

,E���� ���E������� ��4�� �� 61��� �*N��3!�� ������3��.�� .��,L����� �� *��,1�������

���*��KE���R (ii) 
 ���.��41�;-� ��*����� ��� ��*���� � *������ ��3� ����� *���1K���

*�� ����1.���� �� O�� O��� �1 *�� ,��0�� ����1.���� ���61���3��.� ���������R (iii)

�34�� �� ��1.��� ��� ����HT�� �3 ��.���� ��� 4�4���� �-� ��������R (iv) �� .��3�����

�� ������3��.� �� ��.�� ��.-� �����.���� � ����� �����K��.�� �1 �1�.�!����1�.����

��.����3��.�R (v) NS/ NR �-�/ ���*��.���3��.�/ �� ��3���� �� ���.�� ��3*��.�� ��

������3��.� �� ���� ,��� �� ��.�.�� � �� ��.��) �� 3L61��� �� ���1;-�/ ����M�!��

�����/ 13� ���.��41�;-� �������� �� ��.��,����/ �� ��������� �� X1H� B/ �� ��.����!

���� �� ��3*� H � �� ,��;� 3�5��.�!3�.��K B,33D Θ) ���� .��.�/ �1*T�!�� 61� �

������3��.� �� ���� ,��� *���1� 13� ��������� �� ����1.���� ���.��41E�� ��������!

3��.�) ��� �H�3*��/ *��� � ,��� > �� ��.�.��/ � ��������� �� ����1.���� B��3

1������ ���� �3 ����1.���� *�� �������D *��� 0 ≤ α ≤ π � �51�� �

nS (α) =
NS

2
���α

���� α ����.� � ���������� ��51��� ��3 ��,��G���� �� ��H� �� ������3��.� �� ,���

> �� ��.�.�� 61� � �������� *��� �1� ��*��� ���.���/ ���,��3� 3��.���� �� $�51��

7)>) $����3��.�/ �1*T�!�� 61� � *��3��4������� �� ,���� ��3����� �� ��.�.�� � ��

��.�� ��M� ��O��.�/ � 61� � ��.1��;-�/ �� *����� �� ,���� � �� �,��.�� �� 4���� � ���

���01��� ��M�3 �5�������)

��������� �5��� � ���5��3� ��61�3L.��� �� $�51�� 7)>/ ���� �� ��H�� ��� ������!

3��.�� ��G�.���� ��� ,���� 7 � 9 ��.-� *����������� �3 α = γ = 120◦ � α = 2γ = 240◦

���*��.���3��.�) 
���!�� ������.�� 61� ��O��;T�� ������*�����.�� ����3 *��� �� ��!

����3��.�� �� ��.��/ ���� β ����.� � ���������� ��51��� ��3 ��,��G���� �� ��H�

�� ������3��.� > �� ��.��) 	-� ��O����� �����+ ε(t)/ S�51�� �� ��.�;-� �� ��.��/

3����� �� ���.�3� �� ����������� �� ��.�.��R ω(t) = dε (t) /dt/ ���������� ��51���

A



ζ

α
β

ε

γ = 2π
3

iS(t)

iR(t)

ΘS(α, t)

iS1

iS2iS3

iR1

iR2

iR3

$�51�� 7)>+ 	�;-� .���������� �� 3�.�� �� ���1;-�

���.��.S��� �� ��.��) 
��� ��� ����� �4������� 61� � ����1��-� � ��51�� �� �*����

� 3�.���� �� 7 *N���R �3 3L61���� ��3 3��� �� 7 *N��� � ���������� �E������ �

������*�����.�3��.� ���1K���)

� ��3*� 3�5��.��� �� ��.��,���� �� 3L61��� .�3 ����;-� ������ ������ ��

*��������3� ��.�� �� �1*��,E���� �� ��.�.�� � �� ��.�� � P �1*���;-� �� *��3��4���!

���� ��O��.� �� ,����) ��3� �� �,��.�� �� 4���� ,���3 ���*��K����/ ���������!�� �

��3*� 3�5��.��� ��3� ����� 4�!��3��������/ ��.� �/ ��3*�� *��.�����.� � 13 *����

*��*�����1��� �� ��H� �� 3�.��)


� .�G� ������.�� �� ��.�.�� iS1(t), iS2(t), iS3(t) *���3 �*�����.�� 61��61��

,��3� �� ����R *�� ��KT�� �� ��3�.��� .���� �� ������.�� �-� 3��.���� �� ���5�

��� �L��1��� �34��� 13� ��� ������.�� ��M� ���1����.� *��61�/ ������ �� ��1.��

�������/ .�3!�� 61� � ����;-�

iS1(t) + iS2(t) + iS3(t) = 0 B7)>D

� �L���� �3 61��61�� ���.��.�/ �1 ��M�/ �� ������.�� �-� 4����������)

��3 ��.�� ��3*��O��;T�� � ��O��;T��/ � ,��;� 3�5��.�3�.��K B,33D ������ ��.�!

����L��� ������ �� ������3��.� �� ,��� > �� ��.�.�� � 61� � 5����� *��� ����1��;-�

\



�� 13� ������.� �� 3��3�/ .�3 ���.��41�;-� ��*����� ��������/ ����� ���� *��+

ΘS1(α, t) = NSiS1(t) cosα/

���� � ,�.�� cosα �� ���� �� ,�.� �� 61� � ���.��41�;-� �� ����1.���� � ��������/

�1 ��M�/ ��� �����.���K� � ���.��41�;-� �� ,33 �� ������3��.� �� ,��� > �� ��.�.��)


����5�3��.�/ �� ,33 ������� ��� ������3��.�� ��� ,���� 7 � 9/ ������������ �

�������3��.� ��*����� ������ ������3��.��/ �-� ����� ���*��.���3��.� *��+

ΘS2(α, t) = NSiS1(t) cos (α− γ)

ΘS3(α, t) = NSiS1(t) cos (α− 2γ) / γ =
2π

3
)


 �1*��*���;-� ��� ,33 ,������ � ��51��.� �61�;-�+

ΘS(α, t) = ΘS1(α, t) + ΘS2(α, t) + ΘS3(α, t)

ΘS(α, t) = NS [iS1(t) cos (α) + iS2(t) cos (α− γ) + iS3(t) cos (α− 2γ)] B7)7D


� ������ ��3 � $�51�� 7)>/ ΘS(α, t) ������*���� ��� �3*����!��*���� �1 ,33

�� ��.�.��/ ����;���� *�� 13� ���0� �� ��3*� 3�5��.��� ������ 61� ��1K� � 3�.�� �3

13 S�51�� α) %1���� �� ������3��.�� �-� ���3��.���� ��3 ������.�� ��.�������/

���� .��3� �� �61�;-� B7)7D ������ ��3� 13� ���� ��.�����L���/ OH� �� ��*�;�) 


�1*��*���;-� ����� ���1�.� �3 13� ���� 5����.� ΘS(α, t))

��.���1K���� � ��.�;-� ��3*��H�

cosα =
1

2
(ejα + e−jα)

� �14�.�.1����!� �� �61�;-� B7)7D/ .�3!�� 61�+

ΘS(α, t) =NS

[
iS1(t)

2

(
ejα + e−jα

)
+
iS2(t)

2

(
ejαe−jγ + e−jαejγ

)
+

+
iS3(t)

2

(
ejαe−j2γ + e−jαej2γ

)]
ΘS(α, t) =

NS

2

[(
iS1(t) + iS2(t)e

jγ + iS3(t)e
j2γ
)
e−jα +

+
(
iS1(t) + iS2(t)e

−jγ + iS3(t)e
−j2γ) ejα]

ΘS(α, t) =
NS

2

[
iS(t)e

−jα + i∗S(t)e
jα
]
/ B7)9D

����

iS(t) = iS1(t) + iS2(t)e
jγ + iS3(t)e

j2γ B7)Z�D

i∗S(t) = iS1(t) + iS2(t)e
−jγ + iS3(t)e

−j2γ B7)Z4D

@



����� iS(t) 13 ��.�� ������.� ��*�����.� �� .�3*� �� *���� ��3*��H� � i∗S(t) ��1

��.�� ���M15��� ��3*��H� ���*��.���3��.�) ��.� 61� ΘS(α, t) � ����/ ��*�����.����

13� 61��.����� ,E���� 3���1�L��� ��*�����.� �� α � t)

iS(t)e−jα

−α

iS(t)

i∗S(t)

i∗S(t)ejα

α

iS(t)e−jα

2
NS

ΘS(α, t)

ejγ

ej2γ

γ ζ
iS(t)

iS1(t)

iS2(t)

iS3(t)1

(a) (b)

$�51�� 7)7+ #�.�� ������.� ��3*��H�

��3� iS(t) � 13� 5�����K� ��3*��H�/ *��� ��� �����.� ��3�

iS(t) = iS(t)e
jζ(t)) B7)?D

���� iS(t) = |iS(t)| � ζ(t) = ∠iS(t)/ �3 ��������/ �����3 ��3 � .�3*�) �3�

����.�1;-� �� ��.�� ������.� �� ��.�.�� iS(t) � 3��.���� �� $�51�� 7)7 *��� �1*��.��

������� �� iS1(t) > 0/ iS2(t)/ iS3(t) < 0) � ��.�� ������.� iS(t) ��.��3��� � 3N�1�� �

� *���;-� ��51��� ���.��.S��� �� *��� �� ,��3� �� ���� ������*�����.� P ,33 61�

� ���.��41E�� ��������3��.�/ ����� *���1K��� *���� ������.�� ��� .�G� ������3��.��

�� ��.�.�� ��*�����3��.� ����������) ��34������ �� �61�;T�� B7)9D � B7)?D .�3!��

61� � ,33 *��� ��� �H*����� ��3� 13� ���� ���M��.�/ �1M� *��� ��51� � S�51�� ζ(t)

�� ��.�� ������.�) 
���3+

ΘS(α, t) =
NS

2

[
iS(t)e

jζ(t)e−jα + iS(t)e
−jζ(t)ejα

]
ΘS(α, t) = NSiS(t)

[
1

2

(
ej(ζ(t)−α) + e−j(ζ(t)−α)

)]
ΘS(α, t) = NSiS(t) cos [ζ(t) − α] ) B7)]D

	� �� ������.�� �� ��.�.�� �-� ��������� � ,��3�3 13 ���.�3� .��,L���� ��3�.����/

� ���� �� ,33 �� 3��� ��3 3N�1�� ����.��.� � ���������� ω1 = dζ/dt �� ��.��,����

�� 3�.��)

>8



�3� ��K 61� �� ��.���� ��3*��H�� ��O����� ��� �61�;T�� B7)ZD � B7)]D ������!

��3 � ���.��41�;-� ��*����� �� 13 ��3*� 3�5��.��� �3 13 *���� *��*�����1��� ��

��H� �� 3�.��/ ���� .�34�3 �-� �0�3���� �� ��.���� ��*������ �1 ,������ ��*������)

����3/ ���� �-� ����3 ��� ���,1������ ��3 �� ,������ ����.��.�� ��3*��H�� 61�

��������3 5�����K�� ��.������� ��������� �3 ��5�3� *��3����.�)

� 3��3� ������E��� ��.����� ���� *��� � ,33 *���1K��� *���� ������3��.��

.��,L����� �� ��.��/ �1 ��M�+

ΘR(β, t) = NR [iR1(t) cosβ + iR2(t) cos(β − γ) + iR3(t) cos(β − 2γ)] ) B7)AD

��5�/ ��O�����!�� 13 ��.�� ������.� �� ��.�� �/ ���*��.���3��.�/ ��1 ��3*��H�

���M15���/ .�3!��+

iR(t) = iR1(t) + iR2(t)e
jγ + iR3(t)e

j2γ = iR(t)ejξ(t)/ B7)\�D

i∗R(t) = iR1(t) + iR2(t)e
−jγ + iR3(t)e

−j2γ = iR(t)e−jξ(t)/ B7)\4D

���� iR(t) = |iR(t)| � ξ(t) = ∠iR(t)/ �3 ��������) 
��.� ,��3� � ,33/ 5����� *����

������.�� �� ��.�� � �H*����� �3 .��3�� ��� ����������� �� ��.��/ � ���� *��+

ΘR(β, t) =
NR

2

[
iR(t)e−jβ + i∗R(t)ejβ

]
) B7)@D

���� ������G!�� �3 .��3�� ��� ����������� �� ��.�.��/ ��.� 61�/ �� ������ ��3 �

$�51�� 7)>/

β = α− ε B7)>8D

�/ *��.��.�+

ΘR(α, ε, t) =
NR

2

[
iR(t)e−j(α−ε) + i∗R(t)ej(α−ε)

]
) B7)>>D


 ,33 ���1�.��.� � 13� �1*��*���;-� ��� ,33 �� ��.�.�� � �� ��.��/ ����� ����

*��+

Θ(α, ε, t) = ΘS(α, t) + ΘR(α, ε, t)) B7)>7D

��3 � *��3��4������� �� ,���� �1*��.� ��O��.� � � ,��;� 3�5��.�3�.��K ��� ����

��1K�3��.�� �� ��.��,����/ � ��������� �� X1H� ����� �� ��.��,���� �� ���� �� ��.�.��

� ���� *��+

BS(α, ε, t) =
µ0

2h
[ΘS(α, t) + kΘR(α, ε, t)] / B7)>9D
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cosλ∆λ

$�51�� 7)9+ 
��.��41�;-� �� ������3��.� �� ,��� >)

���� k < 1 � 13 ,�.�� �� ���*��3��.� 5��4��/ 61� ���� �3 ���.� � ���*���-� 3�5!

��.��� B� ��� 61��.�O���� 3��� �����.�D � µ0 � � ����.��.� �� *��3��4������� ��

��)

�� �L��1�� ��� ������� �� X1H�/ � ���.��41�;-� ��*����� ��� ����1.���� ���� ���

����������� ���,��3� 3��.���� �� $�51�� 7)9 *��� � �H�3*�� �� 13 ������3��.�

�� ��.�.��) 	1*���� 13� ���.��41�;-� 61��� ���.E�1� �� ���.�� ��3 13� h���������

�����3��.��i 1
2
NS cosλ/ .�3!�� � ���.��41�;-� �������� ����M���) 
��� ��� �4�������

61�/ ���.� ����/ � ��3��� .�.�� �� ���.�� �� .���� NS/ ��3� *��� ��� ��3���.����

*��� ��.�5��;-� �� ��.������ −π
2
≤ λ ≤ π

2
) 
���3 � X1H� ����;��� *��� ������3��.�

> �� ��.�.�� � �4.��� *�� 13� �1*�� ��.�5��;-�/ 61�� ��M�+

ψS1(t) =
NS

2

π
2∫

λ=−π
2

cosλ




λ+ π
2∫

α=λ−π
2

lrBS(α, ε, t)dα


 dλ/ B7)>ZD

���� l � � ��3*��3��.� �H��� �,�.��� � r ����.� � ���� �� ��.��) 
 ��.�5��;-� ��4�� α

� 13� �����61G���� �� ��3*� �-� 1��,��3� �� ��.��,����/ ��61��.� 61� � ��.�5��;-�

��4�� λ � ������L��� *�� ��1�� �� ���.��41�;-� �-� 1��,��3� �� ������3��.�)

��������� � �61�;-� B7)>9D �3 B7)>ZD �4.�3!��+

ψS1(t) =
NS

2

π
2∫

λ=−π
2

cos λ




λ+ π
2∫

α=λ−π
2

lrµ0

2h
[ΘS(α, t) + kΘR(α, ε, t)] dα


 dλ

>7



� �14�.�.1���� B7)9D � B7)>>D �� �61�;-� ���3�/ ���1�.�+

ψS1(t) =
NS

2

π
2∫

λ=−π
2

cosλ

λ+ π
2∫

α=λ−π
2

lrµ0

2h

NS

2

[
iS(t)e

−jα + i∗S(t)e
jα
]
dαdλ+

+
NS

2

π
2∫

λ=−π
2

cosλ

λ+ π
2∫

α=λ−π
2

lrµ0

2h

kNR

2

[
iR(t)e−j(α−ε) + i∗R(t)ej(α−ε)

]
dαdλ)

��3� cos λ = 1
2
(ejλ + e−jλ)/ .�3!�� 61�+

ψS1(t) =
lrµ0N

2
S

16h

π
2∫

−π
2

[
ejλ + e−jλ

] λ+ π
2∫

λ−π
2

[
iS(t)e

−jα + i∗S(t)e
jα
]
dαdλ+

+
lrµ0kNSNR

16h

π
2∫

−π
2

[
ejλ + e−jλ

] λ+ π
2∫

λ−π
2

[
iR(t)e−j(α−ε) + i∗R(t)ej(α−ε)

]
dαdλ)


*N� �������� � ��.�5��� �3 α *���!�� ��������+

ψS1(t) =
lrµ0N

2
S

j16h

π
2∫

−π
2

[
iS(t)

(
ej

π
2 − e−j

π
2 + e−j(2λ−

π
2 ) − e−j(2λ+ π

2 )
)

+

+ i∗S(t)
(
ej

π
2 − e−j

π
2 + ej(2λ+ π

2 ) − ej(2λ−π
2 )
)]
dλ+

+
lrµ0kNSNR

j16h

π
2∫

−π
2

[
iR(t)ejε

(
ej

π
2 − e−j

π
2 + e−j(2λ−

π
2 ) − e−j(2λ+ π

2 )
)

+

+ i∗R(t)e−jε
(
ej

π
2 − e−j

π
2 + ej(2λ+ π

2 ) − ej(2λ−π
2 )
)]
dλ)

$����3��.�/ ����������!�� � ��.�5��� �3 λ/ � �*N� ��513� 3���*1��;-� ��5�4����/

�4.�3!��+

ψS1(t) =
lrµ0N

2
S

8h

[
iS(t)

(
π ���

π

2
+

1

2
cos

π

2
− 1

2
cos

3π

2

)
+

+ i∗S(t)
(
π ���

π

2
+

1

2
cos

π

2
− 1

2
cos

3π

2

)]
+

+
lrµ0kNSNR

j16h

[
iR(t)ejε

(
π ���

π

2
+

1

2
cos

π

2
− 1

2
cos

3π

2

)
+

+ i∗R(t)e−jε
(
π ���

π

2
+

1

2
cos

π

2
− 1

2
cos

3π

2

)]
/

61� *��� ��� �������.� ��3�+

ψS1(t) =
lrµ0πN

2
S

8h
[iS(t) + i∗S(t)] +

lrµ0πkNSNR

8h

[
iR(t)ejε + i∗R(t)e−jε

]
)

>9



�.���K����!�� �� ��O��;T�� �� ���1.S���� *�N*��� (LS) � ���1.S���� 3�.1� (Lmut)

<7>=/ ��.� �+

lrµ0πN
2
S

8h
=

LS
3
/ B7)>?�D

lrµ0πkNSNR

8h
=

Lmut
3
/ B7)>?4D

13 ���1�.��� ��3*��� � �4.���+

ψS1(t) =
LS
3

[iS(t) + i∗S(t)] +
Lmut

3

[
iR(t)ejε + i∗R(t)e−jε

]
) B7)>]�D

� X1H� ����;��� *��� ������3��.� > �� ��.�.�� � 13� 61��.����� ���������3��.�

,E���� � ����/ *��.��.�/ ��� ���� �34��� � �61�;-� B7)>]�D .��0� ��3*����.�� ��3!

*��H��)

�� X1H�� ��� �1.��� ������3��.�� �� ��.�.�� �-� ����1����� �� ,��3� ��L��5�/

��3 � �H��;-� �� 61� � ��.�5��;-� ��4�� λ/ ��X�.���� � *���;-� ��� ������3��.��/ �

��������� *��� γ ± π
2
� 2γ ± π

2
���*��.���3��.�) ���.��.�+

ψS2(t) =
LS
3

[
iS(t)e

−jγ + i∗S(t)e
jγ
]
+
Lmut

3

[
iR(t)ej(ε−γ) + i∗R(t)e−j(ε−γ)

]
/ B7)>]4D

ψS3(t) =
LS
3

[
iS(t)e

−j2γ + i∗S(t)e
j2γ
]
+
Lmut

3

[
iR(t)ej(ε−2γ) + i∗R(t)e−j(ε−2γ)

]
)

B7)>]�D


 ��3�.��� ��� �61�;T�� B7)>]D �15��� � ��O��;-� �� 13 ��.�� ��3*��H� ��

X1H� ����;���+

ψ
S
(t) = ψS1(t) + ψS2(t)e

jγ + ψS3(t)e
j2γ / B7)>AD

61� *��� ��� �H*����� *��+

ψ
S
(t) =

[
LS
3

[iS(t) + i∗S(t)] +
Lmut

3

[
iR(t)ejε + i∗R(t)e−jε

]]
+

+

[
LS
3

[
iS(t)e

−jγ + i∗S(t)e
jγ
]
+
Lmut

3

[
iR(t)ej(ε−γ) + i∗R(t)e−j(ε−γ)

]]
ejγ+

+

[
LS
3

[
iS(t)e

−j2γ + i∗S(t)e
j2γ
]
+
Lmut

3

[
iR(t)ej(ε−2γ) + i∗R(t)e−j(ε−2γ)

]]
ej2γ)

������ � ,�.� �� 61� γ =
2π

3
� �*N� ��513� 3���*1��;-� ��5�4����/ ���1�.�+

ψ
S
(t) =

LS
3

[
3iS(t) +

(
1 + cos

4π

3
+ j ���

4π

3
+ cos

8π

3
+ j ���

8π

3

)
i∗S(t)

]
+

+
Lmut

3

[
3iR(t)ejε +

(
1 + cos

4π

3
+ j ���

4π

3
+ cos

8π

3
+ j ���

8π

3

)
i∗R(t)e−jε

]

>Z



�1/ �61������.�3��.�+

ψ
S
(t) = LSiS(t) + LmutiR(t)ejε(t)) B7)>\D

��.� ��.�� �� X1H� ψ
S
(t) �������� � 3N�1�� � � *���;-� ��51��� �� *��� �� ���!

.��41�;-� �������� �� X1H� �� ��.��,���� �� 3L61���) � .��3� �H*�������� ���H���

� iR(t) ������ 61� � ��.�� ������.� �� ��.�� ���� ��� 5����� *��� S�51�� �� ��.�;-�

3��S���� ��.�� 61� ��1 �,��.� *���� ��� ��4��*��.� P61��� �� ��.�� ������.� �� ��!

.�.�� iS(t))

� X1H� ����;��� *���� ������3��.�� 3N���� �� ��.�� � ����1���� �H�.�3��.� ��

3��3� 3������) ���� .��.�/ ��������� � �61�;-� B7)9D � ��.� 61� � �������-� ��

��.�� ������.� �� ��.�.�� *��� �� ����������� �� ��.�� *�� 3��� �� �61�;-� B7)>8D

*���1K+

ΘS(β, ε, t) =
NS

2

[
iS(t)e

−j(β+ε) + i∗S(t)e
j(β+ε)

]
/ B7)>@D

� 61��/ M1�.�3��.� ��3 � ������.� �� ��.��/ 5��� 13� ��������� �� X1H� �� �1*��!

,E��� �� ��.��/ ��L��5� P �61�;-� B7)>9D/ �1 ��M�+

BR(β, ε, t) =
µ0

2h
[ΘR(β, t) + kΘS(β, ε, t)] ) B7)78D


��� ��� ������.��� 61� � 3��3� ,�.�� �� ���*��3��.� 5��4�� k ,�� �3*��5���/ *���

����� �3 ���.� �� �����.L���� �,��.�� �� ���*���-�)


 ��.�5��;-� �3 .���� �� ����1�,��G���� �� ��.��/ ����3��.� *����1*���� 13

������3��.� �� ��.�� ���.��41E�� ��������3��.�/ ����1K P ��51��.� �H*����-� *���

� X1H� ����;��� *��� ������3��.� > �� ��.��+

ψR1(t) =
NR

2

π
2∫

λ=−π
2

cosλ




λ+ π
2∫

β=λ−π
2

lrBR(β, ε, t)dβ


 dλ)

���������!�� �� �61�;T�� B7)@D/ B7)>@D � B7)78D �� �H*����-� ���3�/ ���1�.�+

ψR1(t) =
NR

2

π
2∫

λ=−π
2

cosλ




λ+ π
2∫

β=λ−π
2

lrµ0

2h
[ΘR(β, t) + kΘS(β, ε, t)] dβ


 dλ/

� *��������� �� ,��3� ��G�.��� �� ����������3��.� �����K��� *��� � �4.��;-� ��

ψS1(t)/ �4.�3!��+

ψR1(t) =
lrµ0πN

2
S

8h
[iR(t) + i∗R(t)] +

lrµ0πkNSNR

8h

[
iS(t)e

−jε + i∗S(t)e
jε
]

>?




�O����� � ���1.S���� *�N*��� �� ������3��.� �� ��.��/ LR/ ��3� ������.� �3

��0�� <7>=+
lrµ0πN

2
R

8h
=
LR
3
/ B7)7>D

.�3!�� 61� ψR1(t) *��� ��� �������.� ��3�+

ψR1(t) =
LR
3

[iR(t) + i∗R(t)] +
Lmut

3

[
iS(t)e

−jε + i∗S(t)e
jε
]
) B7)77�D

��.� 61� � �61�;-� B7)77�D .�3 13� ,��3� ��3���� P �� �61�;-� B7)>]�D) 
��� ���

������.��� .�34�3 61� ��3� ��.� X1H� � ��O���� ��� ����������� �� ��.��/ � ��.��

������.� �� ��.�.�� � ��,��������� P *���;-� �� ��.��)


����5�3��.�/ �� X1H�� ����;���� *���� �1.��� ������3��.�� �� ��.�� ���-�

����� *���� �61�;T��+

ψR2(t) =
LR
3

[
iR(t)e−jγ + i∗R(t)ejγ

]
+
Lmut

3

[
iS(t)e

−j(ε+γ) + i∗S(t)e
j(ε+γ)

]
/ B7)774D

ψR3(t) =
LR
3

[
iR(t)e−j2γ + i∗R(t)ej2γ

]
+
Lmut

3

[
iS(t)e

−j(ε+2γ) + i∗S(t)e
j(ε+2γ)

]
)

B7)77�D

��.�� �H*����T�� �-� ����3��.� �5�1*���� ,��3���� 13 ��.�� ��3*��H� *��� �

X1H� �� ��.��

ψ
R
(t) = ψR1(t) + ψR2(t)e

jγ + ψR3(t)e
j2γ = LRiR(t) + LmutiS(t)e

−jε(t)) B7)79D

uS1

uS2

uS3

uR1

uR2

uR3

iS1

iS2

iS3

iR1

iR2

iR3

RS

RS

RS

RR

RR

RR

ψS1

ψS2

ψS3

ψR1

ψR2

ψR3

$�51�� 7)Z+ 
��*��3��.�� 3�5��.���� � .���T��

�� ������� 3�5��.���� ������.�� *���� �61�;T�� B7)>]D � B7)77D ���-� 1�����

�5��� *��� *���1K�� �� �61�;T�� �� .���-� *��� �� ����1�.�� �� ��.�.�� � �� ��.��/

>]



��*�����.���� �� $�51�� 7)Z) 
 *��.�� �� $�51�� 7)Z .�3!�� 61� �� .���T�� ,���!��1.��

�� ����1�.� �� ��.�.�� �-�+

RSiS1(t) +
d

dt
ψS1(t) = uS1(t) B7)7Z�D

RSiS2(t) +
d

dt
ψS2(t) = uS2(t) B7)7Z4D

RSiS3(t) +
d

dt
ψS3(t) = uS3(t) B7)7Z�D

���� RS � � �����.G���� *�� ,��� �� ��.�.�� � uS1(t)/ uS2(t)/ uS3(t) �-� .���T�� ��

,��3� �� ���� ��4�.�L����) ��.� 61� ψSi(t) � ψRi(t)/ i = 1, 2, 3/ ����3 �3 ���.� ��

���1.S����� *�N*���� � 3�.1��)

���������!�� �� �61�;T�� B7)>]D ��� �61�;T�� B7)7ZD ���3�/ *���!�� ��������+

uS1(t) + uS2(t) + uS3(t) = RSiS1(t) +
d

dt
ψS1(t) +RSiS2(t) +

d

dt
ψS2(t) +RSiS3(t) +

d

dt
ψS3(t) =

= RSiS1 +
d

dt

[
LS

3
[iS(t) + i∗S(t)] +

Lmut

3
[
iR(t)ejε + i∗R(t)e−jε

]]
+

+ RSiS2 +
d

dt

[
LS

3
[
iS(t)e−jγ + i∗S(t)ejγ

]
+

1
3
Lmut

[
iR(t)ej(ε−γ) + i∗R(t)e−j(ε−γ)

]]
+

+RSiS3 +
d

dt

[
LS

3
[
iS(t)e−j2γ + i∗S(t)ej2γ

]
+
Lmut

3

[
iR(t)ej(ε−2γ) + i∗R(t)e−j(ε−2γ)

]]
=

= RS (iS1 + iS2 + iS3) +
d

dt

[
LS

3
[
iS(t) + i∗S(t) + iS(t)e−jγ + i∗S(t)ejγ + iS(t)e−j2γ + i∗S(t)ej2γ

]
+

+
Lmut

3

[
iR(t)ejε + i∗R(t)e−jε + iR(t)ej(ε−γ) + i∗R(t)e−j(ε−γ) + iR(t)ej(ε−2γ) + i∗R(t)e−j(ε−2γ)

]]
�

��.�/ �� ������ ��3 � �61�;-� B7)>D/ 61� iS1(t) + iS2(t) + iS3(t) = 0 �/ *��.��.�/

� �61�;-� ���3� � �61������.� �+

uS1(t) + uS2(t) + uS3(t) =
d

dt


LS3


iS(t)

(
1 + e−jγ + e−j2γ

)︸ ︷︷ ︸
0

+ i∗S(t)
(
1 + ejγ + ej2γ

)︸ ︷︷ ︸
0


 +

+
Lmut

3


iR(t)ejε

(
1 + e−jγ + e−j2γ

)︸ ︷︷ ︸
0

+ i∗R(t)e−jε
(
1 + ejγ + ej2γ

)︸ ︷︷ ︸
0




 .

�����61��.�3��.�+

uS1(t) + uS2(t) + uS3(t) ≡ 0/ B7)7?D

61� 3��.�� 61� �� .���T�� ,���!��1.�� �� 3L61��� �� ���1;-�/ .�34�3 �-� 4����!

������ �3 61��61�� ���.��.�)

� *�NH�3� *���� � �4.�� 13� ����;-� ��.�� �� .���T�� �*������� �� 3�.�� � ��

���1�.��.�� ������.�� �� ��.�.�� � �� ��.��) ���� .��.�/ ��O��!�� 13 ��.�� .���-�

��3�+

uS(t) = uS1(t) + uS2(t)e
jγ + uS3(t)e

j2γ) B7)7]D

>A



	14�.�.1����!�� �� �61�;T�� B7)7ZD �� �61�;-� B7)7]D ���3�/ �4.�3!��+

uS(t) =
[
RSiS1(t) +

d

dt
ψS1(t)

]
+
[
RSiS2(t) +

d

dt
ψS2(t)

]
ejγ+

[
RSiS3(t) +

d

dt
ψS3(t)

]
ej2γ

= RS
[
iS1(t) + iS2(t)ejγ + iS3(t)ej2γ

]
+
d

dt

[
ψS1(t) + ψS2(t)e

jγ + ψS3(t)e
j2γ
]
�

��.�/ � *��.�� �� �61�;-� B7)Z�D/ 61� iS = iS1 + iS2e
jγ + iS3e

j2γ) ��.� �����/ �

*��.�� �� �61�;-� B7)>AD/ 61� ψ
S

= ψS1 + ψS2e
jγ + ψS3e

j2γ) ���.��.�/ � �61�;-�

���3� *��� ��� ��!�����.� ��3�+

uS(t) = RSiS(t) +
d

dt
ψ
S
(t) B7)7AD

	14�.�.1���� ψ
S
���� *��� �61�;-� B7)>\D �� �H*����-� ���3�/ ���1�.�+

uS(t) = RSiS(t) + LS
d

dt
iS(t) + Lmut

d

dt

(
iR(t)ejε(t)

)
/ B7)7\D

�1 �61������.�3��.�/ �3*��5���� �� ��5��� �� ��,�������;-�/ ��.� �61�;-� ���13�

� ,��3�+

uS(t) = RSiS(t) + LS
d

dt
iS(t) + Lmut

d

dt
(iR(t)) ejε(t) + jωLmutiR(t)ejε(t)/ B7)7@D

���� ω = dε(t)/dt � � ���������� ��51��� �� ��.��) �� ���� .��3�� ���.���� � ���!

���.� �� ��.�� *���3 ��� ��.��*��.���� ��3� .���T�� ���1K����/ ������� P ���1.S����

3�.1� � P ��.�;-�/ ���*��.���3��.�)

�� 3������ ��� 3�.���� � *��.� �� ��1.�� �� ������3��.� �� ��.�.�� �-� �

�����E���/ �� ,��3� 61� ��3��.� �� .���T�� .��3����� uS12(t) = uS1(t)−uS2(t) �.�) ��!

.-� ���*��E���� *��� 1�� �H.����/ ��61��.� 61� �� .���T�� ,���!��1.�� �-� 5�����K��

��*�����.��) �� 3��3�� ��513��.�� �-� �L����� *��� � ������3��.� �� ��.��/ ����

�� ������.�� �-� .�34�3 4����������/ ������ �� �1*��.� *��.� �� ��1.�� O�.E���)

�4�����/ � *��.�� �� $�51�� 7)Z 61�+

iR1(t) + iR2(t) + iR3(t) ≡ 0/ B7)98D

� 61� 3��.�� 61� �� ����HT�� *��.��0���� ��� ��1.���/ �� ��������� �-� ���1����.��)

��34�3/ � *��.�� �� $�51�� 7)Z/ .�3!�� 61� �� �61�;T�� �� .���-� *��� � ��.�� �-�+

RRiR1(t) +
d

dt
ψR1(t) = uR1(t) B7)9>�D

RRiR2(t) +
d

dt
ψR2(t) = uR2(t) B7)9>4D

RRiR3(t) +
d

dt
ψR3(t) = uR3(t) B7)9>�D

>\



�1�.�*�������!�� �� �61�;T�� B7)9>D *�� 1/ ejγ � ej2γ/ ���*��.���3��.�/ �/ �3 ��51���/

��3���� 3�34�� � 3�34��/ .�3!��/ �� ������ ��3 �� �61�;T�� B7)\D � B7)79D/ 61�+

uR(t) = RRiR(t) +
d

dt
ψ
R
(t) = RRiR(t) + LR

d

dt
iR(t) + Lmut

d

dt

(
iS(t)e

−jε(t)) / B7)97D
����/ ���,��3� � �61�;-� B7)\D/ iR = iR1 + iR2e

jγ + iR3e
j2γ) ��.� 61� .���� ��

����L���� �-� ��O����� ��� ����������� �� ��.��) � ��.�� .���-� �� ��.��/

uR(t) = uR1(t) + uR2(t)e
jγ + uR3(t)e

j2γ / B7)99D

*��� ��� 5����� *�� 13� ,��.� �� .���-� �H.����) �� ���� �� 13 ��.�� 5�����/ ��

.���T�� �-� K��� � � ����1�.� �� ��.�� � �1�.�!����1�.��� ��.����3��.�)


� �61�;T�� B7)7\D � B7)97D ��������3 �� ��.���;T�� ���.��3�5��.���� �� 3�.��

�
 ��3�.���� �3 ��5�3�� .�����.N��� � *��3����.�) ���� �� ��3*��.�� � 3�����

3�.�3L.��� �� 3�.�� �� ���1;-�/ ����3 ��� �4.���� �5���/ �61�;T�� *��� � .��61�

���.���� � .�����.N��� 3��S����) �� 3�.�� ���� �� ,��;�� .��5������� �.1�3 ��� �����

��� ���01���/ ���� � ��3*� 3�5��.��� *���.�� �� ,����) ��3� �-� �H��.�3 ���01���

�� ����� 3����� ��3*��O����/ � .��61� � ��3*1.��� ��3 � �M1�� �� ,��;� �� �����.K

.��5������ �H������ ��4�� �� ����1.���� �H���� �.���������� ��.�5����3��.� *���

��3*� 3�5��.��� ������) ���� .��.�/ ��.� 61� � �61�;-� B7)78D *��� ��� ��!�����.�

��3�+

BR(β, ε, t) = BRR(β, t) +BRS(β, ε, t)/

����

BRR(β, t) =
µ0

2h
ΘR(β, t) =

NRµ0

4h

[
iR(t)e−jβ + i∗R(t)ejβ

]
B7)9ZD

�

BRS(β, ε, t) =
µ0k

2h
ΘS(β, ε, t) =

µ0kNS

4h

[
iS(t)e

−j(β+ε) + i∗S(t)e
j(β+ε)

]
) B7)9?D

���,��3� ���L 3��.���� � ��51��/ � ��3*� 3�5��.��� *���1K��� *���� ������.�� ��

��.��/ BRR(β, t)/ �-� 5��� ,��;� .��5������ �E61��� ��3 �� ������.�� �� ��.�� 13�

��K 61�/ ��3 ��.��,���� 1��,��3�/ �-� 0L .��61� �� ���1.S����) ( ��4��� 61� �

���.��41�;-� �� ������.� aR(β, t) �� ���5� �� ����1�,��G���� �� ��.�� � .�34�3/ ��3

�� �1*���;T�� ,��.��/ ��������) 
��3 �����/ �� ������ ��3 � $�51�� 7)?/ .�3!�� 61�

� ,33 �� ��.��/ *��� 13 ���3��.� ��O��.���3�� � ���� *��+

∂ΘR(β, t) = 2aR(β, t)∂l/

>@



���� l = rβ) ���.��.�+

aR(β, t) =
1

2

∂ΘR(β, t)

∂(rβ)
/

�/ �� ������ ��3 � �61�;-� B7)@D/ ���L+

aR(β, t) = −jNR

4r

[
iRe

−jβ − i∗Re
jβ
]
) B7)9]D

df aR(β, t)
BRS(β, t)

β

ε

r

mM , ω

χ

iS

iRe
jε

� 4

$�51�� 7)?+ 
��.��41�;-� �� ������.� �� ��.�� � .��61�)


 ,��;� .��5������ df �5���� ��4�� 13� ���.� �H��� �� ���51�� rdβ �� �1*��,E���

�� ��.�� � � *���1.� ��.�� � ��������� �� X1H� � � ���.��41�;-� �� ������.� �� ��.��)

���.��.�+

df = −BR(β, ε, t)aR(β, t)lrdβ/

� 61�� *�� ��.�5��;-� *���1K � .��61� ���.���� �� ����;-� �� ��.�;-�/

mM(t) = r

∫
F

df = −r2l

2π∫
0

BR(β, ε, t)aR(β, t)dβ) B7)9AD

	14�.�.1���� BR(β, ε, t) ���� *��� �61�;-� B7)78D �� �61�;-� ���3�/ �4.�3!��+

mM (t) = −r2l

2π∫
0

µ0

2h
ΘR(β, t)aR(β, t)dβ − r2l

2π∫
0

µ0k

2h
ΘS(β, ε, t)aR(β, t)dβ)

��.� 61� � *��3���� *������ �� ��51��� 3�34�� �� �61�;-� ���3� ������*���� ��

.��61� ������ P ��.���;-� ��.�� � ������.� �� ��.�� � � ��3*� 3�5��.��� *���1K���

*��� ������.� �� ��.��/ ��61��.� � ��51��� *������ ��*�����.� � .��61� ������ P

��.���;-� ��.�� � ������.� �� ��.�� � � ��3*� 3�5��.��� *���1K��� *��� ������.� ��

��.�.��) 	14�.�.1���� �5��� ΘR(β, t)/ ΘS(β, ε, t) � aR(β, t) ����� ���*��.���3��.�
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*���� �61�;T�� B7)@D/ B7)>@D � B7)9]D �/ ��34����� 61�/ �� �61�;-� B7)>8D/ β = α−ε/
*���!�� ��������+

mM(t) = r2l

2π∫
0

µ0

2h

NR

2

[
iR(t)e−j(α−ε) + i∗R(t)ej(α−ε)

]
j
NR

4r

[
iRe

−jβ − i∗Re
jβ
]
dβ+

+r2l

2π∫
0

µ0

2h

kNS

2

[
iS(t)e

−j(β+ε) + i∗S(t)e
j(β+ε)

]
j
NR

4r

[
iRe

−jβ − i∗Re
jβ
]
dβ)

B7)9\D

��������� �������3��.�+

mMR(t) = r2l

2π∫
0

µ0

2h

NR

2

[
iR(t)e−j(α−ε) + i∗R(t)ej(α−ε)

]
j
NR

4r

[
iRe

−jβ − i∗Re
jβ
]
dβ)

����������!�� � ��.�5��� � �*N� ��513�� 3���*1��;T�� ��5�4����� .�3!�� 61�+

mMR(t) = − LR
6πj

[
i2R(t)

(
e−j(4π) − 1

)
+ (i∗R)2 (t)

(
ej(4π) − 1

)]
= 0)

���.��.�/ � �61�;-� B7)9\D *��� ��� �����.� ��3�+

mM(t) = r2l

2π∫
0

µ0

2h

kNS

2

[
iS(t)e

−j(β+ε) + i∗S(t)e
j(β+ε)

]
j
NR

4r

[
iRe

−jβ − i∗Re
jβ
]
dβ/

61�/ �*N� ��513�� 3���*1��;T�� ��5�4�����/ � ���1K��� �+

mM(t) = −Lmut
6πj

2π∫
0

[
i∗SiRe

jε − iSi
∗
Re

−jε] dβ/
���� Lmut � � ���O����.� �� ���1.S���� 3�.1� ��O���� �� �61�;-� B7)>?4D � LR

� ���1.S���� *�N*��� �� ��.�� ���,��3� � �61�;-� B7)7>D) 
� ��.�5��� ��4�� .���

� ����1�,��G���� �� ��.��/ �� .��3�� �H*��������� ���.���� β �� ��1��3/ ������� P

��51��.� �H*����-�+

mM (t) = −Lmut
6πj

[
i∗SiRe

jε − iSi
∗
Re

−jε] 2π =
Lmut
3j

[
iSi

∗
Re

−jε − i∗SiRe
jε
]

	�M�/ �5���/ Z 13 ��3��� ��3*��H�) ������ � ����.�����+

Im (Z) =
Z − Z∗

j2
/

.�3!�� 61�+

mM(t) =
2

3
Lmut

[
iSi

∗
Re

−jε − i∗SiRe
jε

j2

]
=

2

3
Lmut Im

[
iS(t)

(
iRe

jε
)∗]
/

7>



� *��.��.�/

mM (t) =
Lmut
3π

2π∫
0

iSi
∗
Re

−jε − i∗SiRe
jε

2j
dβ =

2

3
Lmut Im

[
iS(t)

(
iRe

jε
)∗]
) B7)9@D


 *��.� �3�5��L��� �� �61�;-� ���3� � �61������.� � 13 *���1.� ��.�����/ ����� *��!

.��.� *��*�������� �� *���1.� ��� ���� ��.���� ������.� � �� ���� �� �������3��.�

��51��� χ/ ��3� ���.� �� $�51�� 7)?4)

$����3��.�/ �1*���� 61� �� ������3��.�� �� ��.�� � �� ��.�.�� .G3 13 ��3���

�51�� �� ��*����/ �)�/ NR = NS/ .�3!�� 61�

Lmag = Lmut/ B7)Z8D

���� Lmag ����.� � ���1.S���� �� 3�5��.�K�;-�/ � ��.���1K����!�� �� ,�.���� 1�1���

�� ���*���-�/ ���1�.�/

LS = (1 + σS)Lmag/ LR = (1 + σR)Lmag) B7)Z>D


��.� ,��3�/ � 3����� 3�.�3L.��� ��3*��.� �� 3L61��� �
/ �1*��3��.� ���3��!

.���/ ��3�.����/ ��3 3�3��.� �� ������� J / *��� ��� ������.� *��+

RSiS(t) + LS
d

dt
iS(t) + Lmag

d

dt

(
iR(t)ejε(t)

)
= uS(t)/ B7)Z7D

RRiR(t) + LR
d

dt
iR(t) + Lmag

d

dt

(
iS(t)e

−jε(t)) = uR(t)/ B7)Z9D

J
d

dt
ω(t) = mM(t) −mL(t) =

2

3
Lmag Im

[
iS(t)

(
iR(t)ejε(t)

)∗]−mL(ε, ω, t)/ B7)ZZD

d

dt
ε(t) = ω(t)) B7)Z?D

���� mL � � .��61� �� ���5� �E61��� �� *��.� �� ��H� �� 3�.��) 
��� ��� �4�������

61� ��3� �� �1�� *��3����� �61�;T�� *���3 ��� ��*������ �3 *��.� ���� � �3�5�!

�L���/ .�3!�� 13 ���M1�.� �� ] �61�;T�� ��,��������� �-� �������� ���������) ����

�-� �L����� *��� 61���61�� ,��3�� �� ���� �� .���-� � ������.� ���3 �� ����������

� .��61� �� ���5� ����L����) $����3��.�/ �4����� 61�/ �� ������ ��3 � �61�;-�

B7)Z8D � ���1.S���� �� 3�5��.�K�;-� Lmag �� �51��� P ���1.S���� 3�.1� Lmut ������

P ����;-� �� ��*���� 1��.L���) ��� �H�3*��/ �� ������.�� �� ��.�.�� �-� ,����3��.�

�4.���� � *��.�� �� ��*�����.�;-� ��.�����/ ��34�����!�� 61� � ��.�� ������.� ��
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��.�.�� � ���� *��

iS(t) = iS1(t) + iS2(t)e
jγ + iS3(t)e

j2γ =

= iS1(t) + iS2(t) (cos γ + j ��� γ) + iS3(t) (cos 2γ + j ��� 2γ)

� ��3� γ = 2π/3/ ��.-�+

iS(t) = iS1(t) + iS2(t)

(
−1

2
+ j

√
3

2

)
+ iS3(t)

(
−1

2
− j

√
3

2

)
=

= iS1(t) − 1

2
[iS2(t) + iS3(t)] + j

√
3

2
[iS2(t) − iS3(t)] )

$����3��.�/ ��.� 61� iS1(t) + iS2(t) + iS3(t) = 0 �/ *��.��.�+

iS(t) = iS1(t) − 1

2
[−iS1(t)] + j

√
3

2
[iS2(t) − iS3(t)]

=
3

2
iS1(t) + j

√
3

2
[iS2(t) − iS3(t)] /

� 61� *��3�.� �����1�� 61�+

iS1(t) =
2

3
Re [iS(t)] ) B7)Z]�D

( ,L��� ����O��� ����� 61� iS2(t) � iS3(t) �-� ����� *��+

iS2(t) =
2

3
Re
[
iSe

−jγ] B7)Z]4D

iS3(t) =
2

3
Re
[
iSe

−j2γ] ) B7)Z]�D


� ������.�� ��� ������3��.�� �� ��.�� �-� �4.���� �����5�3��.�R � �3*��.��.�

�4������ 61� �� ��.�� 5����� �� ��61���/ � ��;-� �� ������.�� �� ,��� *���� ��1

���.��� ,E����/ �34��� � .����� ��3*��O���� ���.��1� �*���L���)


� �61�;T�� B7)Z7D � B7)Z?D �-� � *��.� �� *��.��� *��� .���� �� ����1��T��

�14��6b��.�� �� ,��Q3���� .�����.N���� � �� ��.��� *��3����.�) ���� ��������3 ��

��.���;T�� ���.��3��S����� �� 13� 3L61��� �
 ��3�.���� � *���3 ��� ���*.���� �

�L���� ���.��;T��/ �3*��.�� *��� .�*� �� 3L61��� 1����/ ���.��.� 61� �� �1*���;T��

4L����� ��4�� �� 61��� � 3����� ,�� 4������/ ��M�3 3��.����) ���� �� ��,��� *�����!

*��3��.� P ��3�.��� ������ � �� ��.��,���� ����.��.�/ �H��1���� ����G����� �� ��.�.��

�1 �� ��.��)
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��	�� �� �� ��	�� �� ������� ����

���	��� ��� ������	�

����� �
������� �� �
�����
�� ���� �����

��������� �� �61�;T�� B7)Z7D � B7)Z?D �� 3����� ���S3��� �� 3�.�� �� ��!

�1;-�/ 4������� �3 ������.�� � .���T�� ���.��.S����/ ��3� ������������ �� ��;-�

7)>) 	1*����!�� �������3��.� ���.���� *�� ������.�/ ��.� �/ 61� �� ������.�� �� ��.�!

.�� ��M�3 �*������� *�� 3��0�� �� ���.���� �L*��� �� ������.�/ .G3!�� ��3*��O��;T��

��������L����/ ML 61� � �61�;-� �� .���-� �� ��.�.�� B7)Z7D �� .���� 13� *����1!

*�;-� ��� ���.��������� �� ������.� � *��� ��� �3�.��� ��� �61�;T�� �� 3����� ��

3�.��)

����� *��.� � �3*��.��.� ������.�� 61� � �H*����-� *��� � .��61� ���.���� B7)9@D/

mM (t) =
2

3
Lmag Im

[
iS(t)

(
iRe

jε
)∗]
/ B7)ZAD

,�� �4.��� �����������!�� � ��.���;-� ��.�� �� ������.�� �� ��.�� � � X1H� ���1�.��.�

��� ������.�� �� ��.�.��) ��3� �� ������.�� �� ��.�� �-� *���3 ��� 3������ �3

3�.���� ��3 ��.�� 5����� �� ��61���/ � �*��*����� �14�.�.1�� iRe
jε *�� 13� 5�����K�

�61������.� 61� *���� ��� 3����� ��3 �������� �*������ �� ��.�.��) �3� 3������

�� ���.����� ���� *��4��3�/ ��3� ���L 3��.���� 3��� .����/ � 1.���K�� � X1H� ��

��.�� �1 � ��.�� ������.� �� 3�5��.�K�;-� �61������.�/ ��O���� ��� �����������

�� ��.�.��) 
���!�� ������.�� 61� ����� ����L���� .�34�3 �-� *���3 ��� 3������

����.�3��.�/ �1 ��M�/ � *��.�� �� ���0���3��.� ��� ����L���� �� ��.�.��/ 3�� *���3

��� ��.�3����/ ��3� ���L ���.� �� ��*E.1�� Z) ��.�������!�� P �61�;-� B7)79D �

��34����� 61�/ *��� �61�;-� B7)Z8D/ Lmut = Lmag �/ ��3 � �M1�� �� $�51�� 7)]

.�3!�� 61�+

ψ
R
(t) = LRiR(t) + LmagiS(t)e

−jε(t)/

�/ �61������.�3��.�+

ψ
R
(t)ejε = LRiR(t)ejε + LmagiS(t))

	14�.�.1����!�� LR = Lmag(1 + σR) ���� *��� �61�;-� B7)Z8D/ �� �61�;-� ��.�����/

7Z



iS(t)

ω

ω1 ���� �� �����

���� �� �	��

ωmR

iSb

iSq

iSd
imR

���� �� 
������

iSa

δ

ζ

ε ρ

$�51�� 7)]+ ����;T�� ��51����� ��.�� ��.���� ������.� *��� |imR| = iSd)

�4.�3!��+

ψ
R
(t)ejε = Lmag(1 + σR)iR(t)ejε + LmagiS(t))

���������!�� Lmag �3 ����G����/ *���!�� ��������+

ψ
R
(t)ejε = LmagimR(t)/ B7)Z\D

����/

imR(t) =
[
iS(t) + (1 + σR) iRe

jε
]
) B7)Z@D

��.�/ � *��.�� �� �61�;-� ���3�/ 61�+

iRe
jε =

imR(t) − iS(t)

1 + σR
B7)?8D

� �14�.�.1����!�� iRe
jε �� �61�;-� B7)ZAD ���1�.�+

mM (t) =
2

3
Lmag Im

[
iS(t)

(
imR(t) − iS(t)

1 + σR

)∗]

mM (t) =
2

3

Lmag
1 + σR

Im [iS (imR − iS)
∗] )


� ������ ��3 � �61�;-� B7)Z>D/

Lmag =
LS

(1 + σS)
/

� 61� *��3�.� ���������� � *����.�3� �61�;-� ��3�+

mM(t) =
2

3

LS
(1 + σR) (1 + σS)

Im [iSi
∗
mR − iSi

∗
S] )


 $�51�� 7)] 3��.�� 61�/ .�3����!�� ��3� ��,��G���� � ��H� �� X1H� �� ��.��/

iS = iSe
jδ �/ *��.��.� mM(t) ���L ���� *��+

mM (t) =
2

3
(1 − σ)LS Im [iSi

∗
mR] / B7)?>D

7?



����

σ = 1 − 1

(1 + σR) (1 + σS)

� � ,�.�� �� ���*���-� .�.�� �� 3�.��/ � 61�� .�3 13� ��X1G���� �3*��.��.� ���

�����.��E�.���� �� 3L61���/ ����� �����0��� �.����� �� 13 *��M�.� ���61��� � �

,1�;-� �� *��S3�.��� .��� ��3� � ,��3� ��� ���01��� � � ��*���1�� �� ��.��,����)

#������ ���3��� �� σ ��.-� ��.�� 8)8?/ *��� 3L61���� �� 4��H� ���*���-� �.� �����

�� 8)78)

��.� ����� 61�/ �� ������ ��3 � $�51�� B7)]D/ imR = imRe
jρ/ ,�K���� ��3 61�

mM(t) *���� ��� �����.� ��3�+

mM (t) =
2

3
(1 − σ)LSimR Im

[
iSe

−jρ] ) B7)?7D

�4����� 61�+

iSe
−jρ = iSe

j(δ+ρ)e−jρ = iSe
jδ = iS cos δ + jiS ��� δ = iSd + jiSq/ B7)?9D

61� ���� P ��51��.� ��.��*��.�;-�+ � ��.�� ������.� �� ��.�.�� *��� ��� ���.� � *��.��

�� 13 ���.�3� �� ����������� 3N��� 61� � ��O���� *��� X1H� �� ��.�� �1 *��� ��.��

������.� �� 3�5��.�K�;-� imR/ ������.���� �� �1�� ��3*����.�� ��.�5�����/ 13� ��

����;-� �� ��.�� ������.� �� 3�5��.�K�;-�/ iSd � �1.�� *��*�����1��� � ���/ iSq)


��.� ,��3�/ � �61�;-� B7)?7D *��� ��� ���1K��� P ��51��.� �H*����-� ��3*���+

mM(t) = kM imRiSq/ kM =
2

3
(1 − σ)LS/ B7)?ZD

61� �L 13� *��.� �� *��61G � .����,��3�;-� �� ��.�� ������.� �� ��.�.�� *���

����������� �� ��3*�/ .�34�3 �0�3��� �����.�;-� *��� ��3*�/ � � �0��� *���

13 ���.���� �L*��� �� 3L61���� �
)

�����3��.� � �61�;-� B7)?ZD ��� ��34�� � �H*����-� *��� � .��61� ���.���� ��

3L61��� ��/ ���� imR � �61������.� P ������.� �� ��3*� � iSq � �61������.� P

������.� �� ��3��1��)

�� ��H�� d � q ��.�4�������� *�� imR ��,���3 ��61���� ��313��.� 1����� ��3

3L61���� �E������� ���� � .����,��3�;-� � 4������ �� *���;-� ε �� ��.��R �61� �

��,��G���� � � ��.�� X1H� �� ��.�� 61� �� 3��� ��3 ����;-� �� ��.�.�� �� ,��6bG����

��51��� ��� ������.�� �� ��.�.�� � ��3 ����;-� �� ��.�� �� ,��6bG���� ��51��� ���

������.�� �� ��.�� �1 ,��6bG���� ��51��� �� �������5�3��.�) � �������5�3��.� �
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��O���� ��3�

S =
ω2

ω1

=
ω1 − ω

ω1

���� ω1 � � ,��6bG���� ��51��� ��� ������.�� �� ��.�.�� � ω2 � ,��6bG���� ��51���

��� ������.�� �� ��.��)


 ,��3� ��3*��O���� �� �H*����-� �� .��61� �� 3�.��/ ���� *��� �61�;-�

B7)?ZD/ �15��� 61� � 3����� ��3*��.� �� 3�.�� �
 ��� ����������� �� ��3*� ��M�

.�34�3 ��3*���) ���� .��.�/ �14�.�.1����!�� LR = Lmag (1 + σR) �� �61�;-� ��

.���-� �� ��.�� B7)Z9D/ �4.�3!��+

RRiR + Lmag
d

dt

[
(1 + σR) iR + iSe

−jε] = 0)

�1�.�*�������!�� �� �H*����T�� ����� *���� �61�;T�� B7)?8D � B7)Z@D *�� e−jε � ��!

������� �� ���1�.���� ��� *������� �� �61�;-� ��.�����/ .�3!�� 61�+

RR
imR − iS
1 + σR

e−jε + Lmag
d

dt
(imRe

−jε) = 0

����3��.� �4��������!�� 61� LR = Lmag (1 + σR) � ��O�����!�� � ����.��.� ��

.�3*� ��.N����

TR =
LR
RR
/

*���!�� ��������+

[imR − iS] e
−jε + TR

d

dt
(imRe

−jε) = 0)

����1�����!�� � �������� � �*N� ��513�� 3���*1��;T�� ��5�4�����/ .�3!�� 61�+

TR
d

dt
imR + (1 − jωTR) imR = iS/ B7)??D

���� ω = dε/dt)

�1�.�*�������!�� � �61�;-� B7)??D *�� e−jρ � �H*�������!�� � ���� ��61����

���1�.� �3+

TR
d

dt

(
imRe

jρ
)
e−jρ + (1 − jωTR) imRe

jρe−jρ = iSe
−jρ/

61� *��� ��� �������.� ��3�+

TRe
jρe−jρ

d

dt
imR + TRimR

[
d

dρ
ejρ

d

dt
ρ

]
e−jρ + (1 − jωTR) imR = iSe

−jρ)

��.� �����/ ��3 � �1HE��� �� $�51�� 7)]/ 61�+

d

dt
ζ(t) = ω1(t) = ωmR(t) +

d

dt
δ(t)/ B7)?]D

d

dt
ρ(t) = ωmR(t)/

7A



� 61� *��3�.� ��������+

TR
d

dt
imR + jωmRTRimR + (1 − jωTR) imR = iSe

−jρ)


 �61�;-� ��.����� *��� ��� ��*����� �3 *��.� ���� � �3�5��L���/ ������� P� ��51��.��

�61�;T��+

TR
d

dt
imR(t) + imR(t) = iSd(t)/ B7)?AD

d

dt
ρ(t) = ω(t) +

iSq(t)

TRimR(t)
= ω(t) + ω2(t)) B7)?\D

��.� 61�/ �� ������ ��3 � �61�;-� B7)?AD � ������.� �� 3�5��.�K�;-� imR � ���.��!

���� *��� ��3*����.� ����.� iSd �� ��.�� ������.� �� ��.�.��/ 61� *��� ��� ��3*�����

��3 � .���-� �� ��3*� �� 3L61��� ��) ���.��.�/ iSd/ iSq �-� �� �1�� 5�����K�� ��

��.���� ����*�����.�� 61� ���.����3 � .��61� �� 3�.��)


� �61�;T�� B7)?ZD/ B7)?AD � B7)?\D/ M1�.�3��.� ��3 �� �61�;T�� 3��S�����

B7)ZZD � B7)Z?D ����.�.1�3 13 3����� �� 3�.�� �� ���1;-� ��� ����������� ��

��3*�) 
� �1�� ������.�� �� ��.���� �� ��61�3� �� �����.�;-� *��� ��3*� �-�

*���1K���� *��� .����,��3�;-� ��� ������.�� �� ��.�.�� �3 13 ���.�3� �� ������!

����� ��O���� *��� S�51�� ρ �� X1H�) ��.� � �H��1.��� �3 ���� *�����/ *��3����

������.���� �� .�G� ������.�� �� ��.�.�� *��� 13 ���.�3� �
 ��,L���� ��.�5����/

iS(t) = iS1(t) + iS2(t)e
jγ + iS3(t)e

j2γ = iSa(t) + jiSb(t)) B7)?@D

��3 � �����;-� �� ������.�� .��,L����� 4����������/ iS1 + iS2 + iS3 = 0/ .�3��

iSa(t) =
3

2
iS1(t)/ B7)]8�D

iSb(t) =

√
3

2
[iS2(t) − iS3(t)] ) B7)]84D

��.�� ������.�� �
 �-� ��.-� ������.���� *��� 5�����K�� �� �3 ��5�3� *��3����.�/

*��� .����,��3�;-� �3 ����������� �� ��3*�

iS(t)e
−jρ(t) = (iSa(t) + jiSb(t)) (cos ρ(t) − j ��� ρ(t)) = iSd(t) + jiSq(t)/ B7)]>D

������� �

iSd(t) = iSa(t) cos ρ(t) + iSb(t) ��� ρ(t)/ B7)]7�D

iSq(t) = iSb(t) cos ρ(t) − iSa(t) ��� ρ(t)) B7)]74D
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� S�51�� ρ �� X1H� � �4.��� *��� ��.�5��;-� �� �61�;-� B7)?\D/ �)�) ��� � 13�

����L��� ��.���� �� 3�.��) 	14�.�.1���� �5��� �� �61�;T�� B7)]8D ��� �61�;T��

B7)]7D � �����K���� ��513�� 3���*1��;T��/ .�3!�� ����.�3��.� � .����,��3�;-� ��

iS1/ iS2 � iS3 *��� iSd � iSq/ �*�����.��� � ��51��/ �3 ��.�;-� 3�.������+


 iSd

iSq


 =


 3

2
cos ρ

√
3

2
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√
3

2
��� ρ
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��� ρ

√
3

2
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√
3

2
cos ρ





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
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$�51�� 7)A+ 
��5��3� �� 4����� �� 3�.�� �� ���1;-� �3 ����������� �� ��3*�/

�1*���� �3*���;-� ��� ������.�� �� ��.�.��)


 $�51�� 7)A �������� � ���5��3� �� 4����� �� 3�.�� ��� ����������� �� ��3*�/

�� ������ ��3 �� �61�;T�� B7)ZZD/ B7)Z?D/ B7)?ZD/ B7)?AD/ B7)?\D) �3� ��K 61�

� .����,��3�;-� .��0� ���� ��3*��.���/ � ��.�1.1�� ���S3��� �� 3�.�� �
 O��

��3��0��.� P �� 13� 3L61��� ��) �3 *��.��1��� �H��.� 13� 5����� ����.��.� ��

.�3*� �� �.���� TR ��3*��L��� �� �.���� �� ��3*� �� 13� 3L61��� ��) ���.��.�

� 3�5��.1�� �� X1H� �� ��.�� �1 � ��.�� ������.� �� 3�5��.�K�;-� �61������.�/ imR/

�-� �-� ���61���� *��� 13� �;-� �L*��� �� ���.���� ��4�� � .��61�R ��.� .��4��0�

���� ��� �.��41E�� P ������.� �� 61����.1�� iSq) 
 ����.��.� �� .�3*� �� ���*���-�

�� ��H� �� 61����.1��/ 61� *������ ��� � �61������.� �� ����.��.� �� .�3*� ��

��3��1�� �� 3�.�� ��/ � ���*��KE��� ������ P �1*���;-� ��� ������.�� �3*��.�� ��

��.�.��)

���� �����;�� 13 ��.� ����3*��0� ���S3��� �� ���.���� �� 3�.�� �
/ � 3��3�

��.��.�5�� �� 3L61��� �� � �*��*�����+ � ������.� �� 3�5��.�K�;-� imR ���� ���

7@



3��.��� �� �E��� 3LH�3�/ ��3�.��� �4��H� �� ���������� 4���/ *��� ��.1��;-� ��

������ �� ,����/ � ���3� �� ���������� 4���/ *��� .���-� 3LH�3� �� ��������/ ��!

61��.� 61� � .��61� ���� ��� ���.������ �.����� �� ������.� �� 61����.1��) %1����

13� �O��G���� �1*����� �� 3L61��� � �� �H.��3� �3*��.S����/ ��3� �3 ��E�1���

���3��.���� *�� 4�.����/ � �E��� �� X1H� *������ ��� ���1K��� 61���� � 3�.�� ,��

�*����� �3 *��E���� ���5�� ��3 ���5� *������) ( ����� 61� �H��.� 13 �����3��.�

�� �.���� 61���� � �E��� �� X1H� *������ ��� �13��.��� �� ���� �� 13� ��3����

��*��.��� �� .��61�)

���.� .��4��0� � 3�.�� �-� ���L �143�.��� � .��61�� �H.����� �) ��3 ����/ 13�

���������.� 3���O��;-� ���L �����K��� �� �61�;-� B7)ZZD �� .��61�) �� �15�� ��

.��61� �� ���5� ���L ����������� � �.��.� �������/ �1 ��M�/ ,�K����

mL(ε, ω, t) = fω(t)/

���� f ��*�����.� � ���O����.� �� �.��.� � �14�.�.1���� ���� �H*����-� M1�.�3��.�

��3 � �61�;-� B7)?ZD �� �61�;-� B7)ZZD/ � �61�;-� �� .��61� *���� � ���+

J
d

dt
ω(t) = kM imR(t)iSq(t) − fω(t)) B7)]ZD


*�������!�� � .����,��3��� �� ��*���� �� �61�;-� B7)9\D � 3���*1����� ��!

5�4����3��.� �0�5�!�� �� ��51��.� ���1�.���+

ω(s)

ISq(s)
=
kMImR
Js + f

=
kabsImR
τs + 1

/

���� τ = J/f / kabs = kM/f � ω(s) � ISq(s) ����.�3 �� .����,��3���� �� ��*����

�� ω(t) � iSq(t) ���*��.���3��.�) 
 $�51�� 7)\ 3��.�� � 3����� �� 3�.�� �� ���1;-�

��4 ���� ���� *���*��.���)
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�*���;-� �-� 61� � �.���� �,�.��� �� �������� *���� ��� ���*��K��� � �� 3��0�� ��

���.���� �� ������.� .��0�3 5��0� ����.��.�/ �)�) � �������� ���.������ �.1� ��3�
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 .����,��3�;-� �������/ �1 ��M�/ � ������� ��
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iS1

iS2

iS3


 =




2
3
cos ρ −2

3
��� ρ

√
3

3
��� ρ

√
3

3
cos ρ

−
√

3
3
��� ρ −

√
3

3
cos ρ




 iSd

iSq


 ) B7)]?D

	� � �61���;-� �� ����� �� *���;-� ��51��� ���� ρ �� *��� *���.��� �� X1H� ��

��.�� �-� *1��� ��� ,��.�/ � *���E��� ��.�3�� 13 ����� ρ′ *��� � *���;-� �.����� �� 13

3����� 3�.�3L.��� ����.�1E�� *��� .�� O�������� ���� �����51�� � �������3��.�

�� ��3��1��;-� ��.���� �� 3L61���/ � ����� �� S�51�� ��.�3��� *��� � X1H� ρ′

���� ��� �H�.�3��.� �51�� �� ����� ���� �� S�51�� ρ �� ���� �� X1H� ,1���3��!

.��) ������.�3��.�/ � *����E*�� �� ���.���� �3 ����������� �� ��3*� *����� 13�

3������ 31�.� �,�.��� �� ������*��� � ��3*��H� ��.�1.1�� �� ���.���� 31�.�����L���

�� 3L61��� �� ���1;-�) 
�513�� ���.�5��� �-� ���.����+

• 
����� ����.� �� X1H� � .��61� *��3�.���� 13 ��,��61���3��.� ���.������ ��
��3*� � ��3�.� �� .��61�)

• �3 ��.��� *��3����.� �� ���.��������� *�������3 61��.������ ��/ � 61� ,�K
� ���.���� 3���� ����E��� � ������ML���� �������3��.�� �� ,���)

����3/ �� �����K�� 13 ��61�3� �� ���.���� �����.��� *��� ��3*� �� *�L.���/

��51�� ������ �4�.L�1��� ����3 ��� �1*������+

• 
 �61���;-� �� ������ �� X1H� ���� ��� ����*�����.� �� ,��6bG���� �� ��.�;-�/
� ��*�����.�� 4�3 � �3*��.1�� � � *���;-� �� ���� �� X1H� ,1���3��.��)
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• �,��.�� �� �.���� �����1�� �� ��������� ���.������ �� ������.�)

• �,��.�� �� 3����� �� X1H� �����51����)

��� ����������

���.� ��*E.1�� ����������1!�� 13 3����� *��� � 3�.�� �� ���1;-�/ �1M� ���!

5��3� �� 4����� *��� ��� ���.� �� $�51�� 7)\ � � ���M1�.� �� �61�;T�� 61� ��������3

��1 ,1������3��.� �+

TR
d

dt
imR(t) + imR(t) = iSd(t) B7)]]D

d

dt
ρ(t) = ω(t) +

iSq(t)

TRimR(t)
B7)]AD

J
d

dt
ω(t) = kM imR(t)iSq(t) − fω(t) B7)]\D

d

dt
ε(t) = ω(t)) B7)]@D

	� � ����� �� S�51�� �� X1H� �� ��.�� ρ �-� *1��� ��� 3�����/ *���!�� ����.�1��

13 �4�������� ��3 � O�������� �� ��.�3�� ��1 �����/ �61� �0�3��� �� ρ′/ �� ������

��3 � �61�;-� ��,�������� B7)]AD) ��.��.��.�/ � ����� ��.�3��� TR′ ���� ��� �51��

�� ����� �� TR �3 .���� �� ���.��.�� *��� 61� � .����,��3�;-� �� �����������

���� *��� �61�;-� B7)]9D ��M� ��������� *��� �1� ������� ���� *��� �61�;-� B7)]?D)

����3/ �-� 0L 13 3�.��� .�.��3��.� ���OL��� *��� �� �����.��� 13 ����� �H�.� ��

TR
′R ���3 ����� � ����� �� ����.��.� �� .�3*� ��.N���� TR �����/ *�� �H�3*�� ��3

� .�3*���.1��/ ���������� ��51��� � ������.� �� ��.��) ��3 ����/ 5����3��.�/ ρ′ �

��,����.� �� ρ � ��.� � 13 *��4��3� ����� �4��.�)

���� �����.�K� *���3�.���� � M1�.�3��.� � 61� 3�.��� � 1�� �� ���.���� ��41�.�

*��� 5����.�� � ��.�4������� � � ����3*��0� ���S3��� �� 3�.�� �� ���1;-�) 


����� ���.��� � ��O��� 13� ,��H� �� �*���;-� �� 3�.�� �3 .���� �� 13 3�����

��3����/ ������������ �� �����.�K�� � *��M�.�� ���.��������� 61� �.����3 ���.��

�4M�.���� �� *��M�.� ���.�� ����� ,��H�) 
�E ��3 � �����0� �� .����� H∞ �� �L��1��

�� ���.��������� *��� � ���.�3� �����3��.���/ .�3� 61� ���L �4������ �� *�NH�3�

��*E.1��)
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�
��	��� #

������� ��$���� H∞

��.� ��*E.1�� .�3 � *��*N��.� �� �����K�� 13� �����-� ��� ������.�� 3��� �3!

*��.��.�� �� .����� �� ���.���� ��41�.� H∞ � .��L � ��51��.� ��.�1.1��+ �� ��;-�

9)> �*�����.�3!�� ��51�� *����3������ 3�.�3L.���� 61� �1H�����-� �� ��.����3��.�

��� ��;T�� ��51��.��R � ��;-� 9)7 .��.� �� �����.���K�;-� ��� �4M�.���� �� *��M�.� ��

���.��������� ��41�.�� �3 .��3�� �� ���3� H∞ �� 13� ,1�;-� �� .����,��G���� �

�� ,��31��;-� ��� *��4��3�� �� �.�3�K�;-� H∞ 61� ���������3 ����� �4M�.����R �

��;-� 9)9 3��.�� ��3� �� �4M�.���� �� *��M�.� �-� ���X�.��.�� � ,�K ���������;T��

��4�� ���� *��4��3�R �� ��;-� 9)Z � �*�����.��� � *��4��3� �� �M1�.� �� 3������

� �� ��;-� 9)? ���������!�� � *��3���� *��.� �� ���1;-� �� *��4��3� �� ���.����

N.�3� H∞/ 61�� ��M�/ � *���3�.��K�;-� ��� ���.��������� 61� ��.�4���K�3 � ���.�3�

�����3��.���R �� ��;-� 9)] .��.�!�� �� ���1;-� �� *��4��3�� H∞ � *��4��3�� ��

�M1�.� �� 3����� � �� ��;-� 9)A 3��.��!�� ��3� � *��4��3� �� �M1�.� �� 3����� �

.����,��3��� �3 *��4��3�� �� >!/ 7! � Z!4����� � �*�����.�3!�� �� ���1;T�� *��� ��

����� �� >! � 7!4�����)

��� ������������ ��	��
	����

����� �
��	�� ����
�� � ��
���

��3 � O�������� �� *����� 13� 4��� .�N���� ������L��� *��� � *��M�.� �� 13

���.�������/ ���-� �61� �*�����.���� ��O��;T�� � ������.�� ������������ � 13� ������

*��1���� �� ��*�;�� ��.������+ �� ��*�;�� �� ,1�;T��) 	�M� X 13 ��*�;� �� ,1�;T��

61� ��.��,�K �� *��*�������� �� ��*�;� ��.����� ��4�� � ���*� ��� ��3*��H�� C)
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�#&�!'() � ��� �
	�� �
 �����
 X� 
��
��
� ‖ . ‖ � ��� �����
 ��� ���
��� ��

����	
 ‖x‖ ∈ R � ��
� x ∈ X� 
����

 ���������	 �� ��������� �	
�	��
�
�� 

�D ‖x‖ ≥ 0� ∀x!

��D ‖x‖ = 0 ⇔ x ≡ 0!

���D ‖αx‖ = |α| ‖x‖� ∀α ∈ C!

��D ‖x+ y‖ ≤ ‖x‖ + ‖y‖� �

�#&�!'() 
 ��� ����"���� {xk} �
���	�� ��	� x0 ∈ X �� ∀ε > 0� ∃N (ε) ∈ N ���

��� ‖xk − x0‖ < ε� ∀k > N � �

��.� 61� � ��O��;-� �� ��61G���� ������5��.� ��61�� 61� ��M� *���E��� ��O���

13� ���3� �3 X)

�#&�!'() � ��� ����"���� {xk} � 
� #����$ �� ∀ε > 0� ∃N (ε) ∈ N ��� ���

‖xk − xj‖ < ε� ∀k, j > N � �

( *���E��� *����� 61� .��� ��61G���� ������5��.� � �� ��1�0W/ ���.1�� � ��!

�E*���� ��3 ��3*�� � ����������) 
���!�� ������.�� ����� 61� 13 ��*�;� �� 61��

.���� �� ��6bG����� �� ��1�0W ������5�3 � ����3����� ��3*��.�)

�#&�!'() � �� �����
 �
	��

 X � 
��
 ��	 
� %����� �� �

� ����"���� 
�

#����$ {xk}� xk ∈ X� �
���	�� ��	� ����� x0 ∈ X� �

��3� �H�3*��� �� ��*�;� �� �����0/ *���3�� ��.��+

�D Cn×m+ ��*�;� ��� 3�.��K�� ��3*��H�� n×m ��3 � ���3� ‖A‖ = σ (A) B3����

����� ���51��� �� 
D)

��D RL∞+ ��*�;� ��� ,1�;T�� ���������/ *�N*����/ ��3 *N��� �� ��H� �3�5��L���/

��3 ���3� ��O���� *�� ‖f‖∞ = max
ω

|f (jω)|

���D RH∞+ ��*�;� ��� ,1�;T�� ���������/ *�N*���� � ��.L����/ ��3 ���3� ��O����

*�� ‖f‖∞ = max
Re(s)>0

|f (s)| = max
ω∈R

|f (jω)|

9Z



��D RH+
∞+ ��*�;� ��� ,1�;T�� ���������/ *�N*���� � ��.�!��.L����

�/ ��3 ���3�

��O���� *�� ‖f‖∞ = max
Re(s)>0

|f (−s)| = max
ω∈R

|f (−jω)|

���� ��1�.��� � ������.� �� ���3� ��O��.� ��������� � ��51��.� ,1�;-� �� .����!

,��G����+

f (s) =
s+ 1

s2 + 3s+ 5
)

���� �3*���� �3

f (jω) =
jω + 1

(jω)2 + 3jω + 5
=

(
5 + 2ω2

)
+ j
(
2ω − ω3

)
ω4 − ω2 + 25

⇒ |f (jω)| =
√
ω6 + 24ω2 + 25
ω4 − ω2 + 25

�

�����

−0.3 −0.2 −0.1 0 0.1 0.2 0.3

−0.3

−0.2

−0.1

0

0.1

0.2

0.3

$�51�� 9)>+ 
��5��3� *���� �� f (s) .��5�������� 13 �E��1�� �� ���� �51�� � ‖f‖∞)

��.� 61� � ‖f‖∞ *��� ��� ����1���� �����.��� �1 �13�����3��.�) 
����.���3��.�/

����!�� ,�K��
d |f (jω)|2

dω
= 0/ �1 ��M�

−2
ω (ω4 + 2ω2 − 26)

(ω4 − ω2 + 25)2 = 0 ⇒ ω
(
ω4 + 2ω2 − 26

)
= 0/

�1M�� ��EK�� ����� �-� ��5�.���� �-� 8 � 7/8Z\) 	14�.�.1���� ����� ������� �� �61�;-�

B9)>D/ .�3!�� 61� � ����� 3LH�3� �� |f (jω)| ������ *��� ω = 2, 048) 
���3/ ‖f‖∞ =

max
ω∈R

|f (jω)| = |f (j2, 048)| = 0, 3678) �13�����3��.�/ ����!�� ��O��� 13 ��.�� ��

,��61G����� ω =
[
ω1 ω2 · · · ωn

]
� ����1��� |f (jωk)|/ k = 1, 2, · · · , n/ � .�3�� �

����� 3LH�3�)
� �
 �
���� �� 	�
�����!���
 � 
�	�"��	�#�� �

��� 	���� �� ��
� �$��� 	!� �
�	� ��
� ����	�#
�
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$�51�� 9)7+ ��LO�� �� |f (jω)|)

�� $�51�� 9)> *���!�� �4������ � ���5��3� *���� �� f (s) .��5�������� 13

�E��1�� �� ���� �51�� � ‖f‖∞ ��61��.� 61� �� $�51�� 9)7 ��.L *��.��� � 5�LO�� ��

|f (jω)|) ��.� � *��.� �� 3LH�3�/ 61� ������*���� P ‖f‖∞)

 ��O��;-� �� ���3� ����1K ��� �0�3���� ��*�;�� �� �����0) 
 ��51�� ���-�

������������ ��*�;�� ���� � *���E��� ��O��� 13 *���1.� ��.����)

�#&�!'() � �� �	

��
 ����	�
 �� X� 
��
��

 �
	 〈 . , . 〉� � ��� �����
 ���

� ��
� ��	 
� ���
	�� (x, y) ∈ X� ���
��� �� ����	
 �
����&
� ����������

 ��

��������� �	
�	��
�
�� 

�D 〈x, x〉 ∈ R � 〈x, x〉 ≥ 0!

��D 〈x, x〉 = 0 ⇔ x ≡ 0!

���D 〈x, αy1 + βy2〉 = α 〈x, y1〉 + β 〈x, y2〉!

��D 〈x, y〉 = 〈y, x〉� �


 ��O��;-� �� *���1.� ��.���� *����4���.� � ��51��.� ��O��;-� �� ���3�+ ‖x‖ =

〈x, x〉1/2) 
���3/ �� �� ��O��� 13 ��*�;� ��3 *���1.� ��.����/ ��.� .��K �����5� �

����� �� ���3�)

�#&�!'() � �� �����
 ���
	��� ' � �� �����
 
� (��)�	� �� ��� �
	 �
�����
 � �
	



��

 
� �� �	

��
 ����	�
� �
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	-� �H�3*��� �� ��*�;� �� "��4��.+

�D Cn ��3 � *���1.� ��.���� 〈x, y〉 = x∗y/ ���� h j i ��*�����.� � ��3*��H�!

���M15��� .���*��.�) 
 ������*�����.� ���3� � ���� *��

‖x‖ = 〈x, x〉1/2 = (x∗x)1/2R

��D �2/ ��*�;� ��� ,1�;T�� �3 R �� 61������ ��.�5�L���

�2 =
{
f (t) ∈ R/ −∞ < t < +∞/ ∫ +∞

−∞ f 2 (t) dt <∞
}
/ ��3

〈x, y〉 =

∫ +∞

−∞
x (t) y (t) dt ⇒ ‖x‖2

�2
=

∫ +∞

−∞
x2 (t) dtR

���D RL2/ ��*�;� ��� ,1�;T�� ��������� ��.��.�3��.� *�N*����/ ��3 *N��� �� ��H�

�3�5��L��� ��3 *���1.� ��.����

〈X, Y 〉 =
1

2π

∫ +∞

−∞
X∗ (jω)Y (jω) dω ⇒ ‖X‖2

L2
=

1

2π

∫ +∞

−∞
|X (jω)|2 dω)

�����  ���
�� �� ��
����� � !�"��
�� �� ��
�� L∞ � ��
��


�� ��
�� L2 ���	#���

���.� 3�3��.�/ � ��.�������.� ������.�� � ����;-� ��.�� �� ���3�� ��� ��,����.��

��*�;�� ������������ �� �14��;-� ��.�����) 	� ��H��5��3�� � ��*�;� �2 ���.���� ��

,1�;T�� �� ��3E��� �� .�3*� � � L2 ���.���� �1�� ������*�����.�� .����,��3����

4���.����� �� ��*����/ ��.-� � �14�.�.1�;-� �� ����L��� s *�� jω �����L P .����,��3���

�� $�1����) 
��.� ,��3�/ *���!�� ,�K�� 1�� �� ����;-� �� ��������/ �*�����.��� �

��51��+ ��M� x(t) ∈ �2 � X(jω) ∈ L2/ ���� X(jω) = F [x(t)]/ F [ . ] ����.� .����,��!

3��� �� $�1����/ ��.-� ‖x‖�2 = ‖X‖L2) ��.� ���1�.��� ��� *��3�.� � 1�� �����.��.�/

*��� 13 ���� ����� x(t) ∈ �2 � �� �1� .����,��3��� �� $�1���� X (jω) ∈ L2/ �� 13�

����� ��*�����.�;-� �� ���3�!2+ ‖x‖2 = ‖X‖2/ ���*������� �� ��.�;T�� �2 �1 L2)

���� ��1�.��� � ����;-� �� �������� � �����6b��.�3��.� � �L��1�� �� ���3�!7 ��

13 �����/ ��������� � ��51��.� �H�3*��+ ��M� f (t) = eat/ t ≥ 0/ a < 0)

‖f‖2
2 =

∫ +∞

0

f 2 (t) dt =

∫ +∞

0

e2atdt =

[
e2at

2a

]+∞

0

= − 1

2a
)

��.� 61�/

F (ω) =

∫ +∞

−∞
f (t) e−jωtdt =

∫ +∞

0

eate−jωtdt =
1

a + jω
/
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13� ��K 61� � ��.�5��� ��*�����.� � .����,��3��� �� ��*���� �� eat *��� s = jω)


���3/

‖F‖2
2 =

1

2π

∫ +∞

−∞
F ∗ (jω)F (jω) dω =

1

2π

∫ +∞

−∞

1

a− jω

1

a + jω
dω =

=
1

2π

∫ +∞

−∞

1

a2 + ω2
dω =

1

2π

[
1

a
tan−1 ω

a

]+∞

−∞
=

1

2π

[
−1

a
π

]
= − 1

2a
)

�3� �1.�� �3*��.��.� ����;-� � ��.�� � ���3�!2 � � ���3�!∞) 
 ���3�!∞ �� 13�

,1�;-� �� .����,��G���� G (s) ∈ RL∞ � ��O���� ��3� ��3� sup
ω

|G(jω)|) ����3/
‖G‖∞ *��� ��� .�34�3 ��O���� ��3� 13� ���3� ���1K���) ���� .��.�/ ,�K!�� 1��

�� ��51��.� .����3�+

�#)*#+, � ��*� G (s) ∈ RL∞ � ��*� u (s) ∈ RL2� +���
� y (s) = G (s) u (s) ∈ RL2

�

‖G‖∞ = max
‖u‖2 �=0

‖Gu‖2

‖u‖2

=




max
ω∈R

|G(jω)| � �� G(jω) �
	 ������	

max
ω∈R

σ̄[G(jω)]� �� G(jω) �
	 ���	��

�

����� $
������� �� ����
���%������� � �%��
��%�������� ����&


�� ���'	��
�� �� (��)�� � ��
�� �� (��)��

	�M� R (s) 13� 3�.��K �� .����,��G���� p×m ��.L��� �1 ��.�!��.L��� � �1*��0�

61� R (s) .��0� � ��51��.� ��*�����.�;-� �3 ��*�;� �� ��.����+

R (s) =


 A B

C D


 / B9)7D

���� A ∈ Rn×n/ B ∈ Rn×m/ C ∈ Rp×n/ D ∈ Rp×m � m,n, p ∈ N∗)

�#&�!'() - ,� ���	���� Wc � Wo� �
���-�� 
�� ��������� �����-�� 
� .$����
�

AWc +WcA
T = −BBT � B9)9D

ATWo +WoA = −CTC� B9)ZD


/0�� 
 �
�� 
� �	�����
� 
� �
��	
��)���
�
� � 
)��	��)���
�
� 	���������������

�3 ,�.� �3*��.��.� ��4�� �� 5��3����� � ��.�4������� *��� ��51��.� .����3�+

9\



�#)*#+, 
 ��*� R (s) =


 A B

C D


 ���/��� �����0���/����� +���
 

�D Wc � Wo ��
 ���	���� �
������� ����
�1��
�� ���������� ����
�1��
����

��D 2� ���
���
	�� ��
0���
� 

 �	

��
 WcWo ��
 
� ����
� ��	� �������	 	����0

����
 �� �����
 
� ����

� 
� R (s)�

�#+)�./*,'()0 #��� J0�1 �� ��� <77=/ *�5) A>!A?) �

��3 4��� �� ������S���� ��� �1.�������� �� *���1.� WcWo/ .�3!�� � ��51��.�

��O��;-�+

�#&�!'() � �3��
	�� ������	�� 
� (��4�� 5667�� ��
 �� 	�8��� ���
	�
�� 

� ��0

�
���
	�� 

 �	

��
 WcWo 
� ��� 	��������
 �� �����
 
� ����

� �������	 
�

R (s) =


 A B

C D


� �

�#&�!'() 1 2 ���
	 ���
	 �������	 
� (��4�� 
�1�� � �����
� �
	�� 
� (��4��

��
	�� 

 
��	�

	 
� (��4���� ��� � 
��
��
� �
	 ‖R‖H �

�*)2,0 #��� ������ <79=/ *�5) >>77) �

��� �����	�������� ��� ����	���� ��

�����	� �� 	����� �� ����� H∞ ��

��� ������ �� 	������������


�61� �3 ����.�/ G (s) ���� ��� ��.������ ��3� ����� �������/ ��.� �/ G (s) =
n (s)

d (s)
/ ���� n (s) � d (s) �-� *����Q3���/ � �-� ��� 61� ��M� �������� �H*����.�3��.�

� ���.�L���)

�� �4M�.���� �� *��M�.�/ 61���� ������������ �� ��3E��� �� ,��61G����/ ����!

.�.1�3 �� ��61���.�� 61� 13� ��.��3����� ,1�;-� �� .����,��G���� ���� �.�����) �

�4M�.��� *�����*�� �� 13 ���.�3� �� ���.���� � � ��.�4�������) ����3/ � ��.�4�������

�� ���.�3� �����3��.���/ �������3��.�/ �-� ��O�� � 61������� �� ���.�3� �� ���!

.����) �1.��� �4M�.����/ .��� ��3� 4��H� �����4������� � �����;T�� ��� *��S3�.���

9@



�� *���.�/ ���.���3��.�C��M��;-� �� ������ �� �1E��/ ����3 .�34�3 ��� �����*���!

��� �� *��M�.� �� ���.�3�� �� ���.����) 
 ��51��/ ���L 3��.���� ��3� �� �4M�.����

�� ���.���� �-� .��.���� �� S34�.� �� .����� �� ���.���� N.�3� H∞) ��.� � ,��.�

��O�����!�� *��4��3�� �� �.�3�K�;-� � ��3*1.����!�� � ,1�;-� �� .����,��G���� ��

���.������� 61� ���� P 3���3�K�;-� ��� ,1�������� �� �1�.� �����0���� � .�34�3 P

��.������� ��.���� �� ���.�3� �����3��.���/ �� ���.��� �� ��O��;-� � ��51��+

�#&�!'() �% �� ������� 	���������

 � ����	������� ���/��� ����

 � ��� ���	��


� ����

� �
����	 �


� 
� ���
���
	�� �
� ��	�� 	��� ��������� �� �
��	
��

	

K (s) � ����)��������� ����

 �
	�� 
 ������� 	���������

 ����	������� ���/���� �

����� �
�%���� �� ����%������� 
�%	���

y (s)
Gp (s)K (s)

r (s) +

−

$�51�� 9)9+ 
��5��3� �� 4����� �� 13 3����� �� *���.� ��3 �����.�K�)

��������� �5��� � $�51�� 9)9/ ���� Gp (s) ��*�����.� � 3����� �� *���.� ��3

�����.�K� � K (s) � ,1�;-� �� .����,��G���� �� ���.�������/ � ��� ����1����) 
�

��51��.�� ���.��;T�� ����3 ��� ,��.�� � Gp (s)+

�D G (s) ∈ RL∞ B��.� �/ G (s) �-� *��� .�� *N��� �� ��H� jωD � 13� ,1�;-�

�� .����,��G���� ���� �� ,��3� �H*�E��.�) %1���� Gp (s) = G (s) + ∆a (s)/

.�3!�� � �0�3��� 3����� ��3 *��.1�4�;-� ���.���) %1���� Gp (s) = [1 +

∆m (s)]G (s)/ .�3!�� � �0�3��� 3����� ��3 *��.1�4�;-� 31�.�*����.���)

��D G (s) � Gp (s) *���1�3 � 3��3� ��3��� �� *N��� ���.L����)

���D |∆(jω)| ≤ δ(jω), ∀ω ∈ R/ ���� δ(jω) � 13� ,1�;-� ���� �-�!��5�.���)

Z8



��3 4��� ��� ���������;T�� ,��.��/ ���L �4������ � *��3���� *��4��3� �� ���!

.����/ 61� � � �� ��.�4���K�;-� �� .���� �� *���.�� *��.�����.�� P ������

Pm = {Gp (s) = [1 + ∆ (s)]G (s) : |∆(jω)| ≤ δ(jω)/ ω ∈ R} B9)?D

61� *��� ��� ��1������ �� ��51��.� ,��3�+ �����.�� K (s) .�� 61� � ���.�3� �����!

3��.��� �� $�51�� 9)9 ��M� ��.����3��.� ��.L��� *��� .��� *���.� Gp (s) ∈ Pm) ��.�

*��4��3� � .�34�3 ���0����� ��3� *��4��3� �� ��.�4������� ��41�.� � � ���������

��3 � �M1�� �� ��51��.� .����3�+

�#)*#+, � �9�
	��� 

 ������
 ����
�� �� �
��	
��

	 K (s) ����)����� �

��

�� ������� Gp (s) ∈ Pm ��� � �
����� ��� K (s) ����)����� G (s) �

‖∆GK(1 +GK)−1‖∞ < 1 B9)]D

�#+)�./*,'()0 #��� #��W���5�� <7Z=) �

��3 4��� �� .����3� �� *�61��� 5��0�/ *���!�� ,��31��� � *��3���� *��4��3�

�� ���.���� N.�3� H∞/ 61� � � �� 3�H�3�K�;-� �� .����S���� P *��.1�4�;-� ���

*��S3�.��� �� ,1�;-� �� .����,��G���� �� *���.�/ 61�� ��M�+ *��M�.�� 13 ���.�������

K (s) �� 3��� � ��.�4���K�� � ���.�3� �����3��.��� *��� .��� *���.� *��.�����.� P

������ Pm � .�� 61� δM = max δ(jω) ��M� 3LH�3�)


 *��.�� �� .����3� �� *�61��� 5��0� � *���E��� ��������+

‖∆GK(1 +GK)−1‖∞ = max
ω∈R

∣∣∆ (jω)G (jω)K (jω) (1 +G (jω)K (jω))−1
∣∣ ≤

≤ max
ω∈R

|∆ (jω)|max
ω∈R

∣∣G (jω)K (jω) (1 +G (jω)K (jω))−1
∣∣ ≤

≤ δM max
ω∈R

∣∣G (jω)K (jω) (1 +G (jω)K (jω))−1
∣∣ < 1) B9)AD


���� ,��3�/ 13� �����;-� �1O����.� *��� ‖∆GK(1 +GK)−1‖∞ < 1 � ���� *��+

δM <
1

‖GK(1 +GK)−1‖∞ . B9)\D

�4�����/ � *��.�� �� $�51�� 9)9 61� � ,1�;-� �� .����,��G���� �� 3��0� ,��0���/

T (s) =
y (s)

r (s)
� ���� *��+

T (s) = [1 +G (s)K (s)]−1G (s)K (s) . B9)@D

�/ ��3 4��� �� �61�;-� B9)\D/ *��� �� 3�H�3�K�� � *��.1�4�;-� ��3���E��� δM /

����3�� 3���3�K�� ‖GK(1 +GK)−1‖∞ *��� .��� ���.������� K (s) 61� ��.�4���K�

Z>



G (s) BK (s) ��. G (s)D) ���.��.�/ � *��4��3� > *��� ��� ,��31���� �� ��51��.�

3������+

�*)34#+, �0

min
K(s) 
�� G(s)

‖GK(1 +GK)−1‖∞ = min
K(s) 
�� G(s)

‖T‖∞ B9)>8D

�����  ���
������� �� ������ � ��������*� �
�����+
��

η (s)

y (s)
G (s)

u (s)

d (s)

K (s)
e (s)r (s)

+

+

+

+

+

−

$�51�� 9)Z+ 
��5��3� �� 4����� *��� � *��M�.� �� ���.��������� N.�3�� H∞)

��������� � ���.�3� �����3��.��� ��*�����.��� �� $�51�� 9)Z/ ���� r(t)/ d(t)/

η(t) � y(t) ����.�3/ ���*��.���3��.�/ �� ������ �� ��,��G����/ *��.1�4�;-� �H.����/

�1E�� � ��E��) 	1*���� 61� d(t) ≡ 0 � η(t) ≡ 0/ .�3!�� 61� � �4M�.��� �� ���.���!

3��.� �� 13� ������ �� ������ r(t) ∈ �2 *��� ��� ����������� � *��.�� �� ��51��.�

*��4��3� �� �.�3�K�;-�+

min
K(s) 
�� G(s)

max
‖r‖2 �=0

‖e‖2

‖r‖2
) B9)>>D

��3 4��� �� $�51�� 9)Z/ .�3!�� 61� � ,1�;-� �� .����,��G���� �� r (s) *��� e (s)/

Tre (s)/ ���L+

e (s) = r (s) −G (s)K (s) e (s) =

= [1 +G (s)K (s)]−1r (s) =

= Tre (s) r (s)

����

Tre (s) = [1 +G (s)K (s)]−1 B9)>7D

Z7



���� *��*������� �� ���3� ���1K���+

max
‖r‖2 �=0

‖Trer‖2

‖r‖2
= ‖Tre‖∞ B9)>9D

�/ *��.��.�+

min
K(s) 
�� G(s)

max
‖r‖2 �=0

‖e‖2

‖r‖2
= min

K(s) 
�� G(s)
‖Tre‖∞. B9)>ZD

��3!�� ��.-� � ��51��.� *��4��3� �� �.�3�K�;-�+

�*)34#+, 
0

min
K(s) 
�� G(s)

‖(1 +GK)−1‖∞ B9)>?D

�����  ����
�� �� ��
�	
%�
��

	�M�/ �5���/ r(t) ≡ 0 � η(t) ≡ 0 �� ���.�3� �� $�51�� 9)Z) ��.-� � �4M�.���

�� ��M��;-� �� *��.1�4�;-� *��� � ������ ��� ������ �2 ���L ����������� � *��.�� ��

��51��.� *��4��3� �� �.�3�K�;-�+

min
K(s) 
�� G(s)

max
‖d‖2 �=0

‖yd‖2

‖d‖2
) B9)>]D


 *��.�� �� $�51�� 9)Z/ .�3!�� 61� � ,1�;-� �� .����,��G���� �� d (s) *��� yd (s)/

Tdy (s)/ � ���� *��+

yd (s) = G (s) d (s) −G (s)K (s) yd (s) =

= [1 +G (s)K (s)]−1G (s) d (s) =

= Tdy (s) d (s)

����

Tdy (s) = [1 +G (s)K (s)]−1G (s) B9)>AD

���� *��*������� �� ���3� ���1K���+

max
‖d‖2 �=0

‖Tdyd‖2

‖d‖2

= ‖Tdy‖∞ B9)>\D

�/ *��.��.�+

min
K(s) 
�� G(s)

max
‖r‖2 �=0

‖yd‖2

‖d‖2
= min

K(s) 
�� G(s)
‖Tdy‖∞/ B9)>@D

61� ���� �� ��51��.� *��4��3� �� �.�3�K�;-�+

Z9



�*)34#+, �0

min
K(s) 
�� G(s)

‖(1 +GK)−1G‖∞ B9)78D

����, -���	�
�� �� 
	���

	1*��0� 61� r(t) ≡ 0 � d(t) ≡ 0) ��.-�/ � �4M�.��� �� �.��1�;-� �� �1E�� *���

� ������ ��� ������ �2 ���L ����������� � *��.�� �� ��51��.� *��4��3� �� �.�3�K�;-�+

min
K(s) 
�� G(s)

max
‖η‖2 �=0

‖yη‖2

‖η‖2
) B9)7>D


� ������ ��3 $�51�� 9)Z/ .�3!�� 61� � ,1�;-� �� .����,��G���� �� η (s) *��� yη (s)/

Tηy (s)/ *��� ��� ����1���� �� ��51��.� ,��3�+

yη (s) = −G (s)K (s) [η (s) + yη (s)] =

= −[1 +G (s)K (s)]−1G (s)K (s) d (s) =

= Tηy (s) η (s)

����

Tηy (s) = −[1 +G (s)K (s)]−1G (s)K (s) B9)77D

���� *��*������� �� ���3� ���1K���+

max
‖η‖2 �=0

‖Tηyη‖2

‖η‖2
= ‖Tηy‖∞ B9)79D

�/ ���.� ,��3�+

min
K(s) 
�� G(s)

max
‖η‖2 �=0

‖yη‖2

‖η‖2
= min

K(s) 
�� G(s)
‖Tηy‖∞. B9)7ZD

��3!��/ ����3/ � ��51��.� *��4��3� �� �.�3�K�;-�+

�*)34#+, �0

min
K(s) 
�� G(s)

‖(1 +GK)−1GK‖∞ = min
K(s) 
�� G(s)

‖T‖∞ B9)7?D

��� ����	���� �� �����	� ������	��	��

���.� *��.� � ��.�������.� ��.���1K�� � ������.� �� ,1�;-� �� �����4������� S (s)/

61� � ��O���� �� ��51��.� ,��3�+

S (s) =
1

G (s)

dT (s)

d [G (s)]
= [1 +G (s)K (s)]−1 )

ZZ



�4����� 61�/

T (s) + S (s) = 1

� 61� *��3�.� �������� �� *��4��3�� > � Z ��3�+

�*)34#+, �0 B��.�4������� ��41�.�D

min
K(s) 
�� G(s)

‖T‖∞ B9)7]D

�*)34#+, 
0 B���.���3��.� �� ������ � ����3*��0� .�����.N���D

min
K(s) 
�� G(s)

‖S‖∞ B9)7AD

�*)34#+, �0 B��M��;-� �� *��.1�4�;-�D

min
K(s) 
�� G(s)

‖SG‖∞ B9)7\D

�*)34#+, �0 B
.��1�;-� �� �1E��D

min
K(s) 
�� G(s)

‖T‖∞ B9)7@D

��.� 61� �� *��4��3�� > � 7 ��61���3 61� ‖T‖∞ � ‖S‖∞ ��M�3 3���3�K����)

( �3*��.��.� ��.�� 61� � 3���3�K�;-� ��31�.S��� �� ‖S‖∞ � ‖T‖∞ � ���X�.��.�/

*���+

S (s) + T (s) = 1 ⇒ T (s) = 1 − S (s) ⇒ ‖T‖∞ = ‖1 − S‖∞
⇒ 1 − ‖S‖∞ ≤ ‖T‖∞ ≤ 1 + ‖S‖∞ B9)98D

�� 3��� ��L��5�+

‖S‖∞ = ‖1 − T‖∞ ⇒ 1 − ‖T‖∞ ≤ ‖S‖∞ ≤ 1 + ‖T‖∞. B9)9>D


���3/ �� .����� ‖T‖∞ << 1/ .�3�� 61� ‖S‖∞ −→ 1 � ����!�����) ��.-�/ ,��3��!

3��.�/ � ���1;-� ��31�.S��� ��� *��4��3�� �� �.�3�K�;-� ����� ���X�.��.�) ��.��!

.��.�/ ��4� �4������ 61� �3 5���� �� �4M�.���� �� ���.���� ������3 �3 ,��H�� ��

,��61G���� ���.��.��/ ���,��3� 3��.�� � ��4��� 9)>) 
���� ,��3�/ �-� ��.���1K�!

��� ,1�;T�� �� *������;-� W1 (s) � W2 (s) ∈ RH∞ ��� *��4��3�� �� �.�3�K�;-�

�� 3��� � *�����K�� �� ,��H�� �� ,��61G���� �� ��.������/ �3 ,1�;-� ��� �4M�.����

������������) �� *��4��3�� �� �.�3�K�;-� *����3 � ���+

Z?



��4��� 9)>+ $��H�� �� ,��61G���� ��� �4M�.���� �� ���.����)

�,!5,  # 6*#78��"!,

�39#/!2) , .#* �#�,4!:, ,

���.���3��.� ���H�

��M��;-� �� *��.1�4�;-� ���H�


.��1�;-� �� �1E�� 
�.�

��.�4������� ��41�.� 
�.�

�*)34#+,. � # �0

min
K(s) 
�� G(s)

‖W1T‖∞ B9)97D

�*)34#+, 
0

min
K(s) 
�� G(s)

‖W2S‖∞ B9)99D

�*)34#+, �0

min
K(s) 
�� G(s)

‖W2SG‖∞ B9)9ZD

��34�3 *���3 ��� ������������ *��4��3�� 3��.�� B���.���3��.�/ ��.�4�������

��41�.� � �.��1�;-� �� �1E��/ *�� �H�3*��D/ 61� *��� ��� ,��31���� �� ��51��.�

,��3�+

min
K(s) 
�� G(s)

∥∥∥∥∥∥

 W1T

W2S



∥∥∥∥∥∥
∞

B9)9?D

�� �������� �� ����	� �� �������

��������� � ���5��3� �� 4����� �� $�51�� 9)? ���� Ti (s) ∈ RH∞) � *��4��3�

�� �M1�.� �� 3������ *��� ��� ��1������ �� ��51��.� ,��3�+ �����.�� Q (s) ∈ RH∞

Z]



z (s)
+

−

T1 (s)

T2 (s)Q (s)T3 (s)

v (s)

$�51�� 9)?+ 
��5��3� �� 4����� *��� � *��4��3� �� �M1�.� �� 3������)

.�� 61� ∀v (s) ∈ RH2/ ‖v‖2 = 1 .�3!�� 61� � sup
‖v‖2=1

‖z‖2 ��M� 3E��3�)


 *��.�� �� $�51�� 9)? *���!�� ��������+

z (s) = [T1 (s) − T2 (s)Q (s)T3 (s)] v (s) = Tvz (s) v (s)

� *��.��.�+

min
Q(s)∈RH∞

sup
‖v‖2=1

‖z‖2 = min
Q(s)∈RH∞

‖Tvz‖∞ = min
Q(s)∈RH∞

‖T1 − T2QT3‖∞


 �3*��.S���� �� *��4��3� �� �M1�.� �� 3������ O���L ����� 3��� �����.�/

61���� ���L 3��.���� 61� .���� �� *��4��3�� �� ���.���� N.�3�H∞/ ,��31����� ��

��;-� ��.�����/ *���3 ��� .����,��3���� �3 13 *��4��3� �� �M1�.� �� 3������) (

�3*��.��.� ������.�� 61�/ 3��3� 61���� � ,1�;-� �� .����,��G���� �� *���.�/ G (s)/

�� $�51�� 9)Z/ � �������/ Tvz(s) ���1�.��.� *��� ��� 3�.������) ��.� ��L ����.����

61���� �L���� �4M�.���� �� *��M�.� ,���3 ������������)

��! ��	����������


61� ���L �4������ � *��3���� *��.� �� ���1;-� �� *��4��3� �� ���.���� N.�3�

H∞/ 61� � � *���3�.��K�;-� ��� ���.��������� 61� ��.�4���K�3 � ���.�3� �����3��!

.��� �� $�51�� 9)Z)

���� �� �4.�� � ������ ��� ���.��������� K (s) 61� ��.�4���K�3 � ���.�3� �����!

3��.��� �� $�51�� 9)Z/ ���L �����������/ �������3��.�/ 13� �1.�� ���O51��;-�/ ��!

*�����.��� �� $�51�� 9)]) �3 ��51��� ���L 3��.���� 61�/ �� �� �4.�� 13 ���.�������

��.�4���K��.� *��� ���� ���.�3�/ ����51��!�� .�34�3 61� � ���.�3� �� $�51�� 9)Z ���L

��.����3��.� ��.L���)

ZA



u2 (s)

+

+
e2 (s)

y1 (s)

K (s)

G (s)
e1 (s)

y2 (s)

−
+u1 (s)

$�51�� 9)]+ 
��5��3� �� 4����� *��� ��L���� �� ��.�4������� ��.���� �� ���.�3� ��

$�51�� 9)Z)

��.�� /���%������� ����
��

	�M�3 G (s) =


 A B

C D


 � K (s) =


 Â B̂

Ĉ D̂


 �����K�;T�� �� ����3 3E��3�

*��� G (s) � K (s)) � ��51��.� ���1�.��� *��� ��� ��1������+


#+, � �
) � ���:���� 
� ��� |1 +G (∞)K (∞)| �= 0� 
 ������� 
� ;���	� <�= ��	/

����	������� ���/��� �� � �
����� �� �


� 
� ���
���
	�� 
� ���	��

Ac =


 A 0

0 Â


+


 B 0

0 B̂




 I D̂

−D I


−1  0 −Ĉ

C 0


 B9)9]D

����	�� ��	�� 	��� ���������

�#+)�./*,'()0 #��� 
�W��) �

�#)*#+, � ���
��� ��� |1 +G (∞)K (∞)| �= 0� +���
 
 ������� 	���������

 
�

;���	� <�= ��	/ ����	������� ���/��� �� � �
����� �� � ���	�� 
� �	�����	"����
 1 K

−G 1


−1

=


 1 −K (1 +GK)−1G −K (1 +GK)−1

(1 +GK)−1G (1 +GK)−1


 B9)9AD

��� 	�����
��


 u1 (s)

u2 (s)


 �


 e1 (s)

e2 (s)


 ��	�����	 � RH∞�

�#+)�./*,'()0 #��� 
�W��) �

Z\



�)*)4;*!) � 2 ������� 	���������

 
� ;���	� <�> ��	/ ����	������� ���/��� �� �

�
����� �� 
 ������� 
� ;���	� <�= �
	 ����	������� ���/���� �

����� ���� 3��.���� 61� � ��.�4���K�;-� �� ���.�3� �����3��.��� �� $�51��

9)] � �61������.� � ��.�4���K�� � ���.�3� �� $�51�� 9)Z/ � *���� ��51��.� � ��O���

13� ������ �� ���.��������� 61� ��.�4���K� G (s)) ���� .��.�/ � *��3���� *���� �

�4.�� 13� ,�.���;-� �1*��3��.� ��*��3� �3 RH∞ *��� G (s)) ���� � � ���1�.� ��

*�NH�3� ��;-�)

��.�� 0���
�
�� ���
��� ��%
� RH∞

	�M� G (s) ∈ R
p×m (s) � ��������� � *��4��3� �� �����.��� 3�.��K��N (s)/ Ñ (s)/

M (s) � M̃ (s) ∈ RH∞/ �� ��3���T�� �*��*������ .��� 61�+

G (s) = N (s)M−1 (s) = M̃−1 (s) Ñ (s) B9)9\D

����.�.1���� 13� ,�.���;-� �1*��3��.� ��*��3� �� G (s)) ���� .����3� �� ��K�1./

��4�!�� 61� N (s)/ Ñ (s)/M (s) � M̃ (s) ����3 ��.��,�K�� P ��51��.� �61�;-� 3�.������
 X̃ (s) −Ỹ (s)

−Ñ (s) M̃ (s)




 M (s) Y (s)

N (s) X (s)


 =


 I 0

0 I


 B9)9@D

�#)*#+, � ��*� G (s) =


 A B

C D


 ��� 
���	���
 �
 �����
 
� ����

� 
� G (s)


�
� (A,B) � �
��	
�/��� � (C,A) � 
)��	�/��� � ��*�� F � H ���	���� ���� ��� 
�

���
���
	�� 
� A +BF � A+HC ������ ��	�� 	��� ��������� ?�1�� 

N (s) =


 A+BF B

C +DF D


 � M (s) =


 A+BF B

F I


 �

Ñ (s) =


 A+HC B +HD

C D


 � M̃ (s) =


 A+HC H

C I


 �

X (s) =


 A+BF −H
C +DF I


 � Y (s) =


 A +BF −H

F 0


 �

X̃ (s) =


 A+HC − (B +HD)

F I


 � Ỹ (s) =


 A+HC −H

F 0


 � B9)Z8D

Z@



+���
� N (s)� Ñ (s)� M (s)� M̃ (s)� X (s)� X̃ (s)� Y (s) � Ỹ (s) ∈ RH∞� M (s) �

M̃ (s) ��
 ����	�8���� � ���������� �� +����-�� �<�<@� � �<�<A�� ���

� �
	����
�

��� ���
	���
 
��������� �
�	��� 
� G (s) �� RH∞�

�#+)�./*,'()0 #��� ��.. �� ��� <7?=) �

��.�� ��
����
�#�
�� �� 1�	��&2	3�
�

���� � ���1;-� ��� *��4��3�� �� �.�3�K�;-� �� ��;-� 9)7/ 0L � ����������� ��

������.G!��� �3 13 *��4��3� �� �M1�.� �� 3������/ 61� ������.� �3 ��.��3����

Q (s) ∈ RH∞ 61� 3���3�K� ‖T1 − T2QT3‖∞/ ���� T1 (s)/ T2 (s) � T3 (s) ∈ RH∞)

���� ����/ ,�K!�� 1�� �� *���3�.��K�;-� �� �̂1��!_1`���)

� .����3� � ��51�� ,������ � �����;-� ������L��� � �1O����.� *��� �� ��O��� �

������ �� .���� �� ���.��������� ��.�4���K��.��)

�#)*#+, � �B�	����	�����
 
� C
���0D�E�	��� ��*�� G (s) = N (s)M−1 (s) =

M̃−1 (s) Ñ (s)� 	��������������� ���
	��-�� �
�	���� �� RH∞� F 
�	���� � F �����	
�


� G (s)� ����������

 F �
����
�
� 
� %��
��� 
�
� ���� +�����
 �<�<A�� +���
� 


�
�*���
 
� �


� 
� �
��	
��

	��

K (s) = U (s)V −1 (s) = Ṽ −1 (s) Ũ (s),

��� ����)������ 
 ������� 	���������

 
� ;���	� <�= � 
�

 �
	 

K = −(Y −MQ)(X −NQ)−1 = −(X̃ −QÑ)−1(Ỹ −QM̃) B9)Z>D


�
� Q(s) ∈RH∞� �

�#+)�./*,'()0

(⇒) 
 *��.�� �� 3�.��K ���� *��� �61�;-� B9)9AD *���!�� ��������+


 1 K

−G 1



−1

=


 1 UV −1

−NM−1 1



−1

=




 M U

−N V




 M−1 0

0 V −1






−1

=

=


 M 0

0 V




 M U

−N V



−1

B9)Z7D

?8



��.-�+ 
 1 K

−G 1



−1

∈ RH∞ ⇔


 M U

−N V




−1

∈ RH∞ B9)Z9D

��.� 61� � �61�;-� B9)9@D B����.����� �� ��K�1.D/ *��� .�34�3 ��� �����.� ��3�+
 X̃ (s) Ỹ (s)

Ñ (s) M̃ (s)




 M (s) −Y (s)

−N (s) X (s)


 =


 1 0

0 1


 B9)ZZD

� *��.��.�/ 
 M −Y

−N X



−1

=


 X̃ Ỹ

Ñ M̃


 ∈ RH∞, B9)Z?D

� 61� �15��� 61�/ ,�K���� U = −Y � V = X �� �61�;-� B9)Z9D/ �4.�3!��+
 M U

−N V




−1

=


 X̃ Ỹ

Ñ M̃


 ∈ RH∞. B9)Z]D

	�M� �5��� Q (s) ∈ RH∞) ��.-�/ *��!31�.�*�������!�� � �61�;-� B9)9@D *��
 1 −Q

0 1




� *N�!31�.�*�������!�� *�� 
 1 −Q

0 1



−1

=


 1 Q

0 1


 ,

�4.�3!��+
 1 −Q

0 1




 X̃ Ỹ

Ñ M̃




 M −Y

−N X




 1 Q

0 1


 =


 1 0

0 1


 B9)ZAD


 X̃ −QÑ Ỹ −QM̃

Ñ M̃




 M MQ− Y

−N −NQ+X


 =


 1 0

0 1


 . B9)Z\D


���3/ *��� .��� Q (s) ∈ RH∞/ .�3!�� 61�+

U = −(Y −MQ)/ V = (X −NQ) B9)Z@D

?>



� *��.��.�/

K = UV −1 = −(Y −MQ)(X −NQ)−1 B9)?8D

��.�4���K� � ���.�3� �� $�51�� 9)Z)

��.�/ ����� 61�/ � *��.�� �� �61�;-� B9)ZAD .�3!�� 61�+

(X̃ −QÑ)(MQ− Y ) + (Ỹ −QM̃)(X −NQ) = 0

�/ ����� ,��3�+

(Y −MQ)(X −NQ)−1 = (X̃ −QÑ)−1(Ỹ −QM̃) B9)?>D

K = Ṽ −1Ũ = −(X̃ −QÑ)−1(Ỹ −QM̃) B9)?7D

(⇐) 	�M� K (s) = U (s)V −1 (s) 13 ���.������� 61� ��.�4���K� G (s) � ��������� �

��51��.� *���1.�+
 X̃ Ỹ

Ñ M̃




 M U

−N V


 =


 1 X̃U + Ỹ V

0 ÑU + M̃V


 =


 1 X̃U + Ỹ V

0 D


 B9)?9D

���� D (s) = Ñ (s)U (s) + M̃ (s)V (s)) ��.� 61�/ � *��.�� ��� �61�;T�� B9)9@D �

B9)Z?D 
 X̃ Ỹ

Ñ M̃



−1

�


 M U

−N V



−1

∈RH∞,

�/ *��.��.�/ 
 1 X̃U + Ỹ V

0 D




−1

∈ RH∞,

� 61� �3*���� 61� D−1 ∈ RH∞) 
�O�����+

Q (s) =
[
X̃ (s)U (s) + Ỹ (s)V (s)

]
D−1 (s) B9)?ZD

.�3��+ 
 X̃ Ỹ

Ñ M̃




 M U

−N V


 =


 1 QD

0 D




���!31�.�*������� �34�� �� 3�34��� �� �61�;-� ���3� *��
 M −Y

−N X


 ,

?7



���1�.�+
 M −Y

−N X




 X̃ Ỹ

Ñ M̃




 M U

−N V


 =


 M −Y

−N X




 1 QD

0 D




� 1����� � �61�;-� B9)9@D/ ���1�.�+
 M U

−N V


 =


 M −Y

−N X




 1 QD

0 D


 =


 M −(Y −MQ)D

−N (X −NQ)D





���3/ U (s) = − [Y (s) −M (s)Q (s)]D (s) � V (s) = [X (s) −N (s)Q (s)]D (s) �

��" ��������� ��������� H∞ � �������

��� �� ����	� �� �������

�4.��� 13� *���3�.��K�;-� *��� �� ���.��������� ��.�4���K��.��/ � *���� ��51��.�

� .����,��3�� �� *��4��3�� H∞ ��O����� ��.�����3��.� �3 *��4��3�� �� �M1�.� ��

3������) ���� .��.�/ ���������� S (s) � T (s) �3 ,1�;-� �� *��S3�.�� Q (s)/ �4.�3!

��

S = (1 +GK)−1 =
[
1 −NM−1(Y −MQ)(X −NQ)−1

]−1
=

= (X −NQ)
[
X −NQ−NM−1(Y −MQ)

]−1
=

= (X −NQ)(X −NQ−NM−1Y +NQ)−1 = (X −NQ)(X − M̃−1ÑY )−1 =

= (X −NQ)
[
M̃−1(M̃X − ÑY )

]−1

= (X −NQ)(

1︷ ︸︸ ︷
M̃X − ÑY )M̃

S = (X −NQ)M̃ B9)??D

T = 1 − S = 1 − (X −NQ)M̃ =

−Y Ñ︷ ︸︸ ︷
1 −XM̃ +NQM̃

T = −Y Ñ +NQM̃ B9)?]D


���� ,��3�/ �� *��4��3�� �� �.�3�K�;-� .����,��3�3!�� �3+

�*)34#+,. � # �0

min
K(s) 
�� G(s)

‖W1T‖∞ = min
Q(s)∈RH∞

‖W1(Y Ñ −NQM̃)‖∞ = min
Q(s)∈RH∞

‖T1 − T2QT3‖∞
B9)?AD

?9



���� T1 = W1Y Ñ / T2 = W1N � T3 = M̃ / Ti (s) ∈ RH∞, i = 1, 2, 3)

�*)34#+, 
0

min
K(s) 
�� G(s)

‖W2S‖∞ = min
Q(s)∈RH∞

‖W2(X −NQ)M̃‖∞ = min
Q(s)∈RH∞

‖T1 − T2QT3)‖∞
B9)?\D

���� T1 = W2XM̃ / T2 = W2N � T3 = M̃ / Ti (s) ∈ RH∞, i = 1, 2, 3

�*)34#+, �0

min
K(s) 
�� G(s)

‖W2SG‖∞ = min
K(s) 
�� G(s)

‖W2SM̃
−1Ñ‖∞

= min
Q(s)∈RH∞

‖W2(X −NQ)Ñ‖∞ = min
Q(s)∈RH∞

‖T1 − T2QT3)‖∞ B9)?@D

���� T1 = W2XÑ / T2 = W2N � T3 = Ñ / Ti (s) ∈ RH∞, i = 1, 2, 3

�*)34#+, +!./)0

min
K(s) 
�� G(s)

∥∥∥∥∥∥

 W1T

W2S



∥∥∥∥∥∥
∞

= min
Q(s)∈RH∞

∥∥∥∥∥∥

 −W1Y Ñ

W2XM̃


−


 −W1N

W2N


QM̃

∥∥∥∥∥∥
∞

=

= min
Q(s)∈RH∞

‖T1 − T2QT3‖∞ B9)]8D

���� T1 =


 −W1Y Ñ

W2XM̃


/ T2 =


 −W1

W2


N � T3 = M̃ )


 ���1;-� �� *��4��3� �� �M1�.� �� 3������ � �4.��� � *��.�� �� �1� �������-�

�3 *��4��3�� �� >!/ 7! �1 Z!4�����) ��.� ���L �4M�.� �� *�NH�3� ��;-�)

��# �����	�������� ��� ��������� ��

��$ �� �  �������


 O3 �� �� ,�K�� � �������-� �� *��4��3�� �M1�.� �� 3������ �3 *��4��3��

�� >!/ 7! � Z!4�����/ �*�����.�3!��/ �������3��.�/ ��51�� ������.��/ �� 3��� 61� �

���1�.��� O��� ��M� 13� ������G���� ��.1��� �� .���� �� .N*���� �4�������)

� �3*��.��.� ��.�� 61�/ ���� 13� ,1�;-� �� .����,��G���� R (s) ��.L���/ ��.-�

?Z



�H��.� <7]= 13� �����K�;-� 3E��3�

R (s) =


 Ab Bb

Cb Db


 / B9)]>D

���� �� 5��3����� �� ���.����4������� � �4�����4������� �-� �51��� � ��.-� �� ,��3�

���5����/ ��.� �/ Wc = Wo = Σ = ���5
{
σ1Im1 , σ2Im2 , . . . , σk̄Imk̄

}
/ ��3 σi > 0/

i = 1, 2, . . . , k̄ � σi > σj / i < j/ ���� Imi
� 13� 3�.��K ����.����� �� ����3 �51��

P 31�.�*�������� mi) ��.� �����K�;-� � ���0����� ��3� �����K�;-� 4��������� )�3�

,��3� ��3*��� � ��41�.� �� �� �4.�� 13� �����K�;-� 4��������� � *��.�� �� 13�

�����K�;-� 61��61�� �� R (s) � *��*��.� *�� ������ � ������� <7A=)

��4�� 0���
�
�� 5����
6 & 5�	��
6%


 ��51��/ ,�K!�� � �����.���K�;-� �� ,1�;T�� �����/ �1.��/ ��!����� � ��!�1.��)

�#&�!'() �� ��*� Ti (s) ∈ RH∞� Ti (s) : p×m� p ≥ m� +���
 Ti (s) � 
��
����
�

����	 �� T ∗
i (s)Ti (s) = Im� G���
������� ��� ���	�� Tci (s) ∈ RH∞� Tci (s) : p×m�

p ≤ m � 
��
����
� �
0����	 �� Tci (s)T ∗
ci (s) = Ip� �

���.�3!�� �61�/ ��513�� *��*�������� <7\= ��� ,1�;T�� �� .����,��G���� �����C��!

�����+

�D 	� T (s) � �����C��!����� ��.-� σ̄ [T (jω)] = 1/ ∀ω) ��� ���� ��K-�/ 13� 3�.��K
�� .����,��G���� �����C��!����� � ����3����� *���� .1�� Ba���!*���2DR

��D 
 ���3�!∞ �� 13� ,1�;-� �� .����,��G���� 61��61�� *��.�����.� � RL∞ �-�

�� ��.��� 61���� *��!31�.�*������ B*N�!31�.�*������D *�� ,1�;T�� �� .����,�!

�G���� ����� B��!�����D/ ��.� �/ �� F (s) ∈ RL∞ � Ti (s) ∈ RH∞ ,�� 13� ,1�;-�

�� .����,��G���� �����/ ��.-�+

‖TiF‖∞ = ‖F‖∞ B9)]7D

� 61���� Tci (s) ∈ RH∞ ,�� ��!�����/ .�3�� 61�+

‖FTci‖∞ = ‖F‖∞ B9)]9D

����� ��� ����	� �
 ��	��
	
�
 
�
 	�
�
��� ����
��
�
 �
�
 
 ����

 ���	
�
��
 ��� 	�����

������ �� ��
	�� �� ���	� 	�
�
��� ����� �
�	���� �� 	����� ������
���

??



���D 	�M� Ti (s) : p×m �����) ��.-�

Ei (s) =


 T ∗

i (s)

Ip − Ti (s)T
∗
i (s)




� �����) 
����5�3��.�/ �� Tci (s) : p×m � ��!�����/ ��.-�

Eci (s) =
[
T ∗
ci (s) Im − T ∗

ci (s)Tci (s)
]

� ��!�����)

�#&�!'() �
 ��� ���	�� 
� �	�����	"���� To (s) ∈ RH∞� To (s) : p×m� p ≤ m �


��
����
� 
���	 56>7 �� To (s) ��
 ��	
� �
��
 ��	� �


 Re(s) > 0� G���
�������

��� ���	�� 
� �	�����	"���� Tco (s) ∈ RH∞� Tco (s) : p ×m� p ≥ m � 
��
����
�

�
0
���	 �� ��
 ��	
� �
��
 ��	� �


 Re(s) > 0� �

��4�� 0���
�
�� ������
��

�3� ,�.���;-� �3*��.��.� *��� 13� 3�.��K 61������ Z (s) ∈ RL∞/ ��3 � *��!

*������� Z∗ (s) = Z (s)/ � � �0�3��� ,�.���;-� ��*��.���/ 61� ������.� �3 ��������

Z (s) = Z∗
o (s)Zo (s)/ ���� Zo (s) � 13� 3�.��K �1.�� ����3����� ,�.�� ��*��.���)

�#)*#+, - ��*�� G (s)� G−1 (s) ∈ RL∞� G∗ (s) = G (s)� �� G(∞) > 0� ����


�&���� ��� ���
	���
 ������	�� G (s) = G∗
o (s)Go (s)�

�#+)�./*,'()0 #��� $������ <7@=/ *�5) @8) �

��4��  ��	
�� �� �
�%���� �� ��	��� �� ������� � �
�%�����

�� ��*�
�


 *��.�� ���.� *��.� ���L �1*��.� 61� �� *��4��3��H∞ .��0�3 ���� ������.����

�3 *��4��3�� �� �M1�.� �� 3�����/ ��3� �61���� ������.�� *���� �61�;T�� B9)?AD �

B9)]8D) 	1*��0� ����� 61� �� ��.�M� .��4��0���� ��3 ���.�3�� ���������) ���.��.�

Q (s) ∈ RH∞/ T1 (s) : p×m ∈ RH∞/ T2 (s) : p× 1 ∈ RH∞ � T3 (s) : 1×m ∈ RH∞)

��3!�� ��.-� �� ��51��.�� �����+

?]



<,= �*)34#+,  # ��34)")0

T2 (s) � T3 (s) �-� 3�.��K�� 61�������/ ��.� �/ p = m) ��.-�+

‖T1 − T2QT3‖∞ = ‖T1 − T2iT2oQT3coT3ci‖∞ =

= ‖T ∗
2i(T1 − T2iT2oQT3coT3ci)T

∗
3ci‖∞ =

= ‖T ∗
2iT1T

∗
3ci − T2oQT3co‖∞ =

= ‖R̄ − X̄‖∞ B9)]ZD

���� R̄ (s) = T ∗
2i (s)T1 (s)T ∗

3ci (s) ∈ RL∞ � X̄ (s) = T2o (s)Q (s)T3co (s) ∈ RH∞)

���������� R̄ = R̄+ + R̄−/ ���� R̄+ ∈ RH+
∞ � ��.��.�3��.� *�N*��� � R̄− ∈ RH∞ �

*�N*��� � ��O����� R = R̄+ � X = X̄ − R̄−/ *���!�� ��������+

‖T1 − T2QT3‖∞ = ‖R−X‖∞

���� R ∈ RH+
∞ � X ∈ RH∞) 
���3/ *���!�� �����.���K�� � �0�3��� *��4��3� ��

>!4���� ��3�+

inf
X(s)∈RH∞

‖R−X‖∞) B9)]?D


 ��.��3���;-� �� α = inf
X(s)∈RH∞

‖R−X‖∞ 4�����!�� �� ��51��.� .����3�+

�#)*#+, � �9�
	��� 
� H���	��� ��*� R (s) ∈ RH+
∞ � α = inf

X(s)∈RH∞
‖R −X‖∞�

+���
 α = ‖R‖H = λ1/2
max(WcWo)�

�#+)�./*,'()0 #��� $������ <7@=/ *�5) ?\) �

<3=�*)34#+,  # 
�34)").0

	�M� �5���/ T2 (s) : p× 1 � T3 (s) : 1 × 1) 
��.� ,��3�+

?A



‖T1 − T2QT3‖∞ =

∥∥∥∥∥∥∥

 T ∗

2i

I − T2iT
∗
2i


 (T1 − T2iT2oQT3coT3ci)T

∗
3ci

∥∥∥∥∥∥∥
∞

=

=

∥∥∥∥∥∥∥

 T ∗

2i

I − T2iT
∗
2i


 (T1T

∗
3ci − T2iT2oQT3co)

∥∥∥∥∥∥∥
∞

=

=

∥∥∥∥∥∥∥

 T ∗

2iT1T
∗
3ci − T2oQT3co

(I − T2iT
∗
2i)T1T

∗
3ci



∥∥∥∥∥∥∥
∞

=

=

∥∥∥∥∥∥∥

 R̄1 − X̄

R2



∥∥∥∥∥∥∥
∞

B9)]]D

���� R̄1 (s) = T ∗
2i (s)T1 (s)T ∗

3ci (s) ∈ RL∞/ X̄ (s) = T2o (s)Q (s)T3co (s) ∈ RH∞ �

R2 (s) = (I−T2i (s)T
∗
2i (s))T1 (s)T ∗

3ci (s) ∈ RL∞) ���������� R̄1 = R̄1+ + R̄1−/ ����

R̄1+ ∈ RH+
∞ � ��.��.�3��.� *�N*��� � R̄1− ∈ RH∞ � *�N*��� � ��O����� R1 = R̄1+

� X = X̄ − R̄1−/ *���!�� ��������+

‖T1 − T2QT3‖∞ =

∥∥∥∥∥∥∥

 R1 −X

R2



∥∥∥∥∥∥∥
∞

���� R1 ∈ RH+
∞ � X ∈ RH∞/ �����.���K����/ ��.-�/ � ��51��.� *��4��3�+

inf
X(s)∈RH∞

∥∥∥∥∥∥∥

 R1 −X

R2



∥∥∥∥∥∥∥
∞

) B9)]AD

<"=�*)34#+,  # ��34)").0

���.� E.�3 ���L .��.��� � ���� 3��� 5����/ 61� � � *��4��3� �� Z!4�����) 	�M�/

*��.��.�/ T2 (s) : p× 1 � T3 (s) : 1 ×m) 
���3+

?\



‖T1 − T2QT3‖∞ =

∥∥∥∥∥∥∥

 T ∗

2i

I − T2iT
∗
2i


 (T1 − T2iT2oQT3coT3ci)

[
T ∗

3ci I − T ∗
3ciT3ci

]∥∥∥∥∥∥∥
∞

=

=

∥∥∥∥∥∥∥

 T ∗

2iT1T
∗
3ci − T2oQT3co T ∗

2iT1(I − T ∗
3ciT3ci)

(I − T2iT
∗
2i)T1T

∗
3ci (I − T2iT

∗
2i)T1(I − T ∗

3ciT3ci)



∥∥∥∥∥∥∥
∞

=

=

∥∥∥∥∥∥∥

 R̄11 − X̄ R12

R21 R22



∥∥∥∥∥∥∥
∞

B9)]\D

���� R̄11 (s) = T ∗
2i (s)T1 (s)T ∗

3ci (s) ∈ RL∞ � X̄ (s) = T2o (s)Q (s)T3co (s) ∈ RH∞)

���������� R̄11 = R̄11+ + R̄11−/ ���� R̄11+ ∈ RH+
∞ � ��.��.�3��.� *�N*��� � R̄11− ∈

RH∞ � *�N*��� � ��O����� R11 = R̄11+ � X = X̄ − R̄11−/ *���!�� ��������+

‖T1 − T2QT3‖∞ =

∥∥∥∥∥∥∥

 R11 −X R12

R21 R22



∥∥∥∥∥∥∥
∞

���� R11 ∈ RH+
∞ � X ∈ RH∞) �����.���K�!�� ����3/ � ��51��.� *��4��3�+

inf
X(s)∈RH∞

∥∥∥∥∥∥∥

 R11 −X R12

R21 R22



∥∥∥∥∥∥∥
∞

B9)]@D

��% ���������� ����������� �� � ������

���

��3� �� *��4��3�� � ����3 ,��31����� ���.� .��4��0� ����3 � *��4��3�� H∞

�� >! � 7!4�����/ ��.-� ��3��.� ���-� �*�����.���� �� ���1;T�� *��� ��.�� *��4��3��)

� ���.�� 3��� ��.�������� *����L �����.��� � ���1;-� �� *��4��3� H∞ �� Z!4�����

�3 $������ <7@=)

���� ���� Q ∈ RH∞ �H��.� 13 ���� �� �M1�.� �� 3������ ‖T1 −T2QT3‖∞) 	�M�
α � ���� �� �M1�.� �� 3������ E�O3�/ ��.� �+

α := inf(‖T1 − T2QT3‖∞ : Q ∈ RH∞))

?@



�3� 3�.��K Q ∈ RH∞ 61� ��.��,�;�

α = ‖T1 − T2QT3‖∞

� ����3����� N.�3�)

��7�� 8��	
�� �� �
�%���� �� �&%����

�3� ,��3� �H*�E��.� *��� X (s) �� *��4��3� �� >!4���� � ���� *��� ��51��.�

.����3�+

�#)*#+, 1 ��
����
 ����	�� 
� I�
��	 ��	� 
 �	
)���� 
� J0)�
�
�� ��*�


 A B

C D




��� 	��������
 )�������
� 
� R (s) �
� �	�����
� 
� �
��	
��)���
�
� � 
)��	��)��0

�
�
� ������ �

Σ = diag
{
σ1Im1 , σ2Im2 , . . . , σk̄Imk̄

}
B9)A8D

�
� σi > 0� i = 1, 2, . . . , k̄ � σi > σj� i < j� B�	����
���

 A� B � C �
��������0

����� �
� Σ 
� �������� �
	�� 

Σ =


 σ1Im1 0

0 Σ2


 ⇒


 A B

C D


 =




A11 A12

A21 A22

B1

B2

C1 C2 D


 B9)A>D

+���
� X (s) ��� � �������� 	��������
 �� �����
 
� ����

� 

X (s) =


 Ã B̃

C̃ D̃


 B9)A7D

�
� ��
� ��	�
 
�

 �
	 

Ã = Γ−1
(
σ2

1A
T
22 + Σ2A22Σ2 − σ1C

T
2 UB

T
2

)
B9)A9D

B̃ = Γ−1
(
Σ2B2 + σ1C

T
2 U
)

B9)AZD

C̃ = C2Σ2 + σ1UB
T
2 B9)A?D

D̃ = D − σ1U B9)A]D

Γ = Σ2
2 − σ2

1I B9)AAD


�
� U � ��� ���	�� ��� �������� B1 = −CT
1 U � (I − UTU) ≥ 0�

�#+)�./*,'()0 #��� 
�W�� <98=) �

]8



��7�� 8��	
�� �� �
�%���� �� �&%�����


 ���1;-� �� *��4��3� �� 7!4����� 4�����!�� ��� ��51��.�� ���1�.����+


#+, 
 ��*� ‖R2‖∞ = γ0� +���


∥∥∥∥∥∥∥

 R1 −X

R2



∥∥∥∥∥∥∥
∞

≥ γ0�

�#+)�./*,'()0 #��� 
�W�� <98=) �

�#)*#+, �% ��*� γ0 = ‖R2‖∞ � ���
��� ��� (γ2I − R∗
2R2) = Z∗

oZo� +���
� ��	�

�� 
�

 γ > γ0� ∥∥∥∥∥∥∥

 R1 −X

R2



∥∥∥∥∥∥∥
∞

≤ γ ⇔ ‖(R1 −X)Z−1
o ‖∞ ≤ 1 B9)A\D

�#+)�./*,'()0 #��� $������ <7@=/ *�5) >89) �

��3 4��� �� �����3� >8/ *���!�� ���1K�� � *��4��3� �� 7!4����� � 13 *��4��3�

�� >!4���� � �4.��/ � *��.�� ��E/ � ���1;-� ���.��� �� ������ �.����� ��� ��51��.��

*����� <7@=+

�4>)*!/+) �

�D ���� 13 ���� γ > γ0/ ����1��� � ,�.���;-� ��*��.��� �� γ
2I − R∗

2 (s)R2 (s)/

��.� �+ γ2I −R∗
2 (s)R2 (s) = Z∗

o (s)Zo (s)R

��D ����1�� (R̄1 − X̄)Z−1
o = R̄1Z

−1
o − X̄Z−1

o � ��O�� ¯̄R1 = R̄1Z
−1
o � ¯̄X = X̄Z−1

o R

���D 	� ‖ ¯̄R1‖H ≤ 1/ 1.���K� � 3�.��� �� 4�����;-� *��� �����0�� 13 ���� γ̃ < γ)

���� ���.�L���/ 1.���K���� .�34�3 � 3�.��� �� 4�����;-�/ �����0� γ̃ > γ)

��*�.� �� *����� B�D � B��D �.� 61� � ��5���.3� ������M� *��� 13 ����� γ∗ ��

������ ��3 � �����3� >8R

��D $�;� ¯̄R1 = ¯̄R1+ + ¯̄R1− � ��O�� R̂ = ¯̄R1+ � X̂ = ¯̄X − ¯̄R1− � ������� � *��4��3�

�� ��0��� inf
X̂(s)∈RH∞

‖R̂− X̂‖∞ 1.���K���� � �����3� @)

]>
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�3.#*2,'()0 ����!�� ��.�� 61� � ���1;-� �4.��� *��� � *��4��3� �� 7!4����� �

�14!N.�3�/ �� ���.��� �� 61� .���� *��� � ����� N.�3�/ *������ ,�K�� ��3 61� γ∗

�� �*��H�3� ��4�.�����3��.� �� α = inf

∥∥∥∥∥∥∥

 R̄1 − X̄

R2



∥∥∥∥∥∥∥
∞

)

��& ����������

���.� ��*E.1�� ,���3 �*�����.���� �3*��.��.�� ���3��.�� �� .����� �� ���.����

��41�.� H∞) 
� .������� �*�����.���� *��3�.�3 � *��M�.� �� ���.��������� 61�

�.����3 � �������� �4M�.����/ 61� �-� ������� �3 ���.� � *��.�� �� ,��31��;-� ��

���.�� *��4��3�� �� �.�3�K�;-�) %1���� �-� �3*��.��/ � *�����/ ��3�.��.�� �1*�������

��� *��4��3�� �� �.�3�K�;-�/ � ������.� 61� ����� *����-� �1 �-� ��� ��.��,��.��/

��*������� ��� ,1�;T�� �� *������;-� �����0����)

�� ��*E.1�� ? ���-� *��M�.���� ���.��������� H∞ �� >! � 7!4�����/ .���� ��3�

4��� � 3����� 3�.�3L.��� *��� � 3�.�� �� ���1;-� ������������ �� ��*E.1�� 7)
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�� �� 3�.���� �� ����.�O��;-� �� 3�.�� �� ���1;-� ���� 1.���K��� �� .��4��0�) 
*N�

� ����.�O��;-� ��� *��S3�.��� ���L ,��.� � ������;-� �� 3����� �.����� �� ��3*���!

;-� ��.�� � ���*��.� ���� � � �4.��� � *��.�� �� ��31��;T�� ��3 � 3����� 3�.�3L.���

���.���)

��.� ��*E.1�� ��.L ��.�1.1���� �� ��51��.� ,��3�+ �� ��;-� Z)>/ ��������!�� �

���.�3� ���� 3��.��� �3 4������ � ��1� 3������ �61������.�� �3 3��0� �4��.� �

,��0���/ 1����� *��� ��31��;-�) �� ��;-� Z)7 �*�����.�3!�� ��51�� ������.�� �3*��!

.��.�� *��� � ��.����3��.� ��� ��;T�� �14��6b��.��) 
 ��;-� Z)9 �4���� � .����� ��

������ �� 3�.�� �3 ��K�� ��61��.� �� ��;T�� Z)Z � Z)? .��.�3 �� ������ *��� 3���;-�

�� �����.G���� �� ��.�.�� � �� ������ ��3 � ��.�� 4��61����/ ���*��.���3��.�) ��

���1�.���� ��� ������� ��� ��;T�� ��.������� ��.-� ��.��.���� �� ��;-� Z)]) ��� ��;T��

Z)A � Z)\ ��������!�� � .����� �� ������ �� ���*��.� �� ��5��1 � �� ���1�.���� �����

������/ ���*��.���3��.�) $����3��.�/ � ��;-� Z)@ �*�����.� � ������;-� �� 3�����

*��*��.�/ 1.���K���� �� ���1�.���� ��� �������)
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• �3� ,��.� ��)

• �3 �������� �� ,��6bG���� �0������)
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 �� 3���� ��1�1� ���.�Q���� <9>=)

• �3 ���.�3� �� 3���;-� �� ���������� ��51��� ,��3��� *�� 13 F�������F��5�.��
� 13 ����1�.� �1H�����)
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3�.��D)


 $�51�� Z)> 3��.�� � ��.����5�;-� ��.�� �� ��3*����.�� ��.���� ���3�/ ����

iSqref / iSdref / iS1ref / iS2ref � iS3ref �-� ������.�� �� ��,��G���� � TR′/ imR′/ ω2
′/ ωmR′

� ρ′ �-� �61������.�� ��.�3���� ��� 5�����K�� ��.����� �� 3����� �� 3�.��)

�61�*�3��.�� *��� �� ,�K�� � �61���;-� �� ����� �� *���;-� ��51��� ρ �� X1H�

�� ��.�� ��������3 ��3������3��.� � �*���.� �� ���.����) ����3/ � *���E��� ,�K��

� ��.�3�.��� �� 13 ����� ρ′ *��� ���� *���;-� ��51���/ � *��.�� �� 13 ����� .�34�3

��.�3��� �� ����.��.� �� .�3*� ��.N���� TR′ � �� ���������� ��51��� ω �� ��.��

B61� *��� ��� 3����� � 4��H� �1�.�D) ���� .��.�/ ����.�N�!�� 13 �4�������� �1

��.�3���� �� ��.���� 4������ �� *��.� �� 3����� ��.���� �� 3�.�� ����.��� ��

S�51�� ρ/ ��3� *��� ��� ���.� ��3*������!�� �� $�51��� 7)A � Z)>) %1��.� 3���

*�NH�3� �� TR ��.���� � ����� �� TR′ 3���� ���L � ��,����;� ��.�� ρ � ρ′ �/ *��.��.�/

�� .����,��3�;T�� �� ����������� ����� *���� �61�;T�� B7)]9D � B7)]?D �� ��������-�

�,�.���3��.�) 
����/ �� ������ ��3 � $�51�� Z)>/ ����!�� ������.�� 61� �� ��3�� 61�

��1K�3 � ���0� .����M��� ������3 ��.���S34��� �� ��,��3�;T�� 61� *������3 �������

��.�� �� ,1�;T�� �3*��3��.���� �3 F��,.U���F � � ���.��.� �� ���.�3� �� ���.����)
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$�51�� Z)>+ 
��5��3� ��61�3L.��� �� ���.�3� 3��.��� �3 4������)

��.�� ��.���S34��� �-� �����K���� �.����� �� �*���;T�� �� ��.���� � ��E�� �� �����

�� ��3*1.���� *������ �� 61�� ������.� � 3N�1�� �� ���.����) ���.��.�/ �H��.� 13

��5���.3� 61� �����K� �� ,1�;T�� �� �61���;-� �� ���������� ��51��� � ������.�� ��

���0�/ .����,��3�;-� �� �����������/ ��3*���;-� ��.�� �� ������.��/ ������3��.�

��� �0���� �� �������� � ��.�3�;-� �� S�51�� �� X1H� �� ��.��) � ��5���.3� 1.���K���

���.� .��4��0� ��.L ���.��� �� �*G����� 
) �3� �3*��.��.� ,1�;-� �� *��.� �N5���

�� ���.�3� �� ���.���� � � ,������3��.� �� ������ �� ��3���� *��� � ������3��.�

��� �0���� �� 3�.��K �� �0����3��.�) ���� 13 ���.�� ������/ �� ��.1��K� 4��L���/

*���1� 13� ,��3� �� ���� ��3��0��.� P �� ,1�;-�!�0����3��.� *��5��3��� *���

13� ��� ���� �0���� �� 3�.��K) ���� � .����3���-� ���.�� ������/ � *������ 13 �����

��5�.�� *��� ���� �0��� �� 3�.��K/ .�.���K���� ���� ������) ��.�� ������ �-� *�������

�.����� �� *��.�� �� ��E��� ��5�.��� �� *���� �� �61���;-� �� �����) ���� ����� ��

.����3���-� �� ����� �� ������3��.� *��� 13� �0��� ������*���� � 13 4�. �� 13�

*��.� �� ��E��) � 1�� �� 13 3������3*1.���� *������ ��3� ����� �61�*�3��.� ��

���.���� � 4��.��.� 4���O��/ *��61� *���!�� �����51�� 13 ��.� 5��1 �� ��.���;-� ��3

61��61�� *��.� �� ���.�3� �� ���.����) � 3N�1�� �� ���.���� ������.� 4�����3��.� ��

13 *��5��3� �*����.��� *��� 
�	/ �����.� �3 ������ � ��3 ��.��,��� �� .�H.� *���

��3 � 1�1L���/ ���,��3� �����4��� *�� ����3 �� ��� <97=) 
� .���,�� �� ���.���� �-�

�����K���� *�� 13� ��.��� �� ��.���1*;-� 61� ,�� �3*��3��.��� �� 3��3� ��61���

]?



,��.� �� *��5��3� *�����*��/ 61� ���.�3 4�����3��.� �� ��.���� �� ��.��,��� ��3 �

1�1L���) � ��3*������ ������ � � ���.�3� �*��������� 
�	 *��3�.�3 61� � ��.���

�� �����;� �� ��.���1*;-� � �� ,1�;T�� �� ��.��,��� ��3 � 1�1L��� ������3 � 3��3�

��*�;� �� 3�3N���)

���,��3� ML ,�� �H*������ ��.�����3��.�/ *��� 61� 0�M� � �,��.� ��*����� �� ���!

����3��.� ��� .����,��3�;T�� �� �����������/ �� 4����� �� ��3*���;-� � �0����!

3��.� � �� �������� ����3 ��� .����*����.�� *��� � 3��0� �� ���.���� *�����*��/

�1 ��M�/ ����3 ��� ������������ ������ �/ *��.��.�/ ���*��K����) ��.� � �����51���

�.����� �� 1�� �� 13� 3��0� �� ���.���� �L*��� �� ������.�) 
���3/ � ��5���.3�

.��4��0� ��3 ���� *��E���� �� �3��.��5�3 ���.��.��/ 5������ *�� ��.���1*;-�+ 13

*��� �61���;-� � ��3*���;-� ��� ������.�� � ������3��.� ��� �0���� �� ��������

� �1.�� *��� � 3��0� �� ���.���� *��*���3��.� ��.�/ �1 ��M�/ � �61���;-� �� �����

�� ω � �L��1�� �� iSqref �/ ����� 61� � *��3���� � 3���� �� 61� � ��51���) �H�1�!

.���� .��.�� ,���3 �����K����/ ��3 �L���� ��34���;T�� ��� *��E���� �� �3��.��5�3

� ,���3 ���.���� �� ������� hchaves = 70 × 10−6s *��� ��3*���;-� ��� ������.�� �

������3��.� ��� �0���� �� �������� � hcont = 10×70×10−6s *��� �61���;-� �� �����

�� ω � �L��1�� �� iSqref ) � ����� ��5�.�� �� ���.���� ��� �0���� ���L ,�������� *���

��3*1.����) ���� ,�����.�� � ��3*�.�4���K�;-� ��� ��.����� �� ���.���� ��� 3N�1���

�� �0���� ��3 �� ��E��� ��5�.��� �� ��3*1.����/ �-� 1.���K���� �E���� �N5���� *���-�

��� ��� ������ �� ���.����) 
� ��.����� �� ���.���� ��-�/ *��.��.�/ �*���� ��3

.���T�� *�NH�3�� �� 0V 61���� �3 �E��� �N5��� 4��H� � *�NH�3�� �� 5V 61���� �3

�E��� �N5��� ��.�) ��.�� .���T�� �� ���.���� .G3 ��3� ��,��G���� � F.����F �N5��� ��

��3*1.����)


 3���;-� �� ���������� � �����K��� ��3 � �1HE��� �� 13 ��� ����1�.�� ���.������

���*��E���� �3 13 3N�1�� �� ��.��,��� <97=) �3 ����1�.� �1H�����/ �3*��3��.��� �3

13 ���*���.��� �N5��� *��5��3L��� B13 ��
 �� .�*� �
�D ����� 13 ����� *1���

�� .��3 �� *1���� 5����� *��� F�������FR ��.� *1��� � ��.-� �*������ P ��.���� ��

���.����) 
 ,��6bG���� �� F����VF � OH� � � ���.�5�3 ������ �1���.� � .�3*� ��

�1��;-� �� *1���) 
 ��,����;� ��.�� � ���.���� �� ��5��.����� �� ���.����/ ��*���

� ��.�� �� �1�5�3��.� �� *1��� �/ ��.-�/ �������3��.� *��*�������� P ����������
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���3/ � ��5���.3� �� ���.���� �G � ����� 3����� � � ����1�.� �1H�����

� F����.���F *��� ����.�� 13 ���� *1���) � F�������F �����3��.�� ���*���� ��

��H� �� 3�.�� *���1K 800 *1���� *�� �����1;-� � � ���.���� .��4��0� � 2MHz)

��.� ��34���;-� ���� � 13 ���� �� 3���;-� 3���� 61� 2% <97= *��� �����������

�.� 3000rpm) � ��3�.� ��,����� �� ���������� � ���� *��� ��.������ �� �3��.��5�3

1���� *��� 3���;-� �� ���������� � �L��1�� �� iSqref / � O�� �3 .���� �� 100rpm)


 $�51�� Z)7 3��.�� � 3����� �� ���.�3� ��3*��.�/ �3 3��0� �4��.�/ 1����

*��� ��31��;-� �� ��.��4 � �� $�51�� Z)9 *���!�� �4������ � 3����� �3 3��0�

,��0���/ ��3 � ����1�-� �� 4���� ���.������� � �� ����� ωref ����� � ����� �� ����

eω = ωref − ω)

$����3��.�/ ���� ��� �4������� 61� � ����� �� TR′ *��� ��� �4.��� � *��.�� ���

������� ,��.�� �� 3�.�� �� ���1;-�) ���.1��/ ���� ����� ��O���3��.� ���L �1O����!

.�3��.� *������ � ��E ��3 � ����� �� �� �*����� � .����� �� ���.���� ��41�.� H∞/

�4M�.� �� ��*E.1�� 9)

 �� ������	�� ������������ ���� �����

	��������


�.�� �� �*�����.�;-� ��� �H*���3��.�� *��� ����.�O��;-�/ � ���������.� ��.1!

��� 13� .����� 4L���� �� X1H� �� *�.G���� �� 3�.��) �H.���1!�� *��� .�� ��.1�� �

3����� ������������ *�� �0�*3�� <>\=/ 61� � 3��.���� �� $�51�� Z)Z) ��.� 3�!

���� � �.�� *��� ��.1��� �3 ��5�3� *��3����.�/ ��3 ���3��.�;-� .��,L���� ��������

−

+

RR

S

jX2IRjX1RSIS

VS Rnu jXmag E1

−

+Imag

$�51�� Z)Z+ ����1�.� �61������.� *�� ,��� �� 13 3�.�� �� ���1;-�)

]@



��3�.���� �� 3�.��) ����� �� 5�����K�� ��.-� ��,���������� �� ��.�.��) 
 �����.G����

Rnu ��*�����.� �� *����� �� ,���� B������� P 0��.����� � ������.�� *�����.��D �� 3�!

.��/ 61� ,���3 ���*��K���� �� 3����� ��.����� �� ��;-� 7)> � �61� ���13�3 ���L.��

��1�.��.���) 
 �����.G����
RR

S
������.�� �� *����� �� ��4�� �� ��.�� � � *�.G����

������.��� *��� � ,��3� 3��S���� �� ��H� �� ��.��/ ����� 61� S ����.� � �����!

��5�3��.�) ��3!�� ����� 61� Xmag = ω1Lmag � � ���.S���� �� 3�5��.�K�;-� ��

3�.��/ ���� ω1 � � ,��6bG���� ��51��� ��� ������.�� �� ��.�.��) 
 �����.G���� RS

��*�����.� � *���� �� ��4�� �� ��.�.��/ X1 = ω1L1 � X2 = ω1L2 �-�/ ���*��.���!

3��.�/ �� ���.S����� �� ���*���-� �� ��.�.�� � �� ��.��R �� � ��3��� �� ��*���� ��

������3��.� �� ���� ,��� �� ��.�.�� � �� ��.�� ,�� �51��/ �1 ��M�/ NS = NR/ ��.-�

L1 = σSLmag � L2 = σRLmag ��*�����.�3 �� ���1.S����� �� ���*���-� �� ��.�.�� �

�� ��.��) 
���3/ *���3!�� ��.��3���� �� ������� �� σS � σR) �� ������� ����� ������

5�����K�� *���3 ��� �����.����� �H��1.����!�� 13� ����� �� ������� �� 3�.�� ��

���1;-�) �� ������� ����3 ��� ,��.�� ��4 �����;T�� ���.������� *������3��.�/ 13�

��K 61� �� �����.G����� �����3 ��3 � .�3*���.1�� � � �����.G���� �� ��.�� .�34�3

����� ��3 � ,��6bG���� �� ��.��)

,���� ��
��� � ���'
��� �� 9	:� �� ���;����

�3 3�.�� �� ���1;-� *��� ��� 4�����3��.� ������.� ��3� 13 .����,��3����

��.�.���) 	1� ��.���� � 13 ���.�3� .��,L���� �� .���T�� � ������.��) ���� 13 .����!

,��3���� ��313/ � ��E�� � � *�.G���� ���.���� �� ���1��L���) ��3� � ������3��.�

���1��L��� �� 13 3�.�� �� ���1;-� B� ��.��D � �1�.� ����1�.���/ �-� �H��.� ��E��

PCE

 !
����

�� ��"�


�� 
������#

Pnu

 !
����

�� �$��
�#

PCR

 !
����

�� ��"�


�� �����#

PA&V

 !
����

��� ������


 �
��������#

Pale

 !
����

��
��%����#

Psai

Pent =
√

3VLIL cos θ

PEF Pconv

$�51�� Z)?+ 
��5��3� �� X1H� �� *�.G���� �� 13 3�.�� �� ���1;-�)
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���.���� �� 3�.�� �� ���1;-� ���3��) 
� ����� �����/ � ��E�� � 3��S����) 
 ����;-�

��.�� � *�.G���� ���.���� �� ��.���� � � *�.G���� 3��S���� �� ��E�� � 3��.���� ��

���5��3� �� X1H� �� *�.G���� �� $�51�� Z)?)


 *�.G���� �� ��.���� �3 13 3�.�� �� ���1;-� Pent ��.L �� ,��3� .��,L����

�� .���T�� � ������.�� �� ���0�/ ����.���� *�� VL � IL ���*��.���3��.�/ ���� θ �

� S�51�� �� ��,���5�3 ��.�� ����) 
 *��3���� *���� �����.���� �� 3L61��� � �

*���� ��� ������3��.�� �� ��.�.�� BPCED) 
�*��� ��513� *�.G���� � *������ �3

,��3� �� 0��.����� � ������.�� *�����.�� �� ��.�.�� BPnuD) 
 *�.G���� ���.��.� ���.�

*��.� � .����,����� *��� � ��.�� �.����� �� ��.��,����) ��.� *�.G���� � �0�3���

�� *�.G���� �� ��.��,���� BPEF D) 
*N� � .����,��G���� �� *�.G���� *��� � ��.��/

��513� � *������ ��� ��1� ������3��.�� BPCRD/ � � ���.��.� � ������.��� �� ,��3�

���.���� *��� � ,��3� 3��S���� BPconvD) $����3��.�/ *����� *�� �.��.� � ���.���;-�

BPA&V D � *����� ����.N���� Pale �-� �14.��E���) 
 *�.G���� ���.��.� � � ��E�� ��

3�.�� Psai) 
� *����� �� ������ ��3 ��3*�� �*�����3 �� ���5��3� �� *��.�

3��.���� �� $�51�� Z)?) 
����� P ��.1��K� �� *���� �� ������/ � ����� ���� ��� �

����������� �� 3L61��� � �� ���.� 3������ ��4�.�L���) 
� *����� �� ������ �� 13

3�.�� �� ���1;-� �G3 *������3��.� �� ����1�.� �� ��.�.�� � *������3��.� �� ����1�.�

�� ��.��) ��3� 13 3�.�� �� ���1;-� ���3��3��.� � �*����� � 13� ����������

*�NH�3� �� ���������� �E������/ � 3���3��.� ����.��� ��� ��3*�� 3�5��.���� ��4��

� �1*��,E��� �� ��.�� � 4��.��.� ���.� � �� *����� �� ������ �� ��.�� �-� *�61����

�� ��3*������ ��3 �� *����� �� ������ �� ��.�.��) ��3� � 3���� *��.� ��� *�����

�� ������ �G3 �� ����1�.� �� ��.�.��/ .���� �� *����� �� ������ �-� ������.�����

��61��� *��.� �� ���5��3�) ����� *����� �-� ��*�����.���� �� ����1�.� �61������.�

�� 3�.�� �� ���1;-� *��� �����.�� Rnu B�1 *��� ����1.S���� GnuD) 	� �� *����� ��

������ ��3*���3��.� ,���3 ����� *�� 13 ��3��� BX g�..�D �� ����� �� 13 ���3��.�

����1�.��/ ���� �-� ,��6b��.�3��.� �5��5���� P� *����� 3��S����� � �14.��E��� ��

*��.� �� ���5��3� ���� �� *����� 3��S����� ��.-� ������K����)

%1��.� 3���� ,�� � ���������� �� 3�.�� �� ���1;-�/ 3������ ���-� �� *����� *��

�.��.� � ���.���;-�) ��� �1.�� ����/ 61��.� 3���� ,�� � ���������� �� 3�.�� 3������

�-� �� *����� �� ������ <>\=) ����� .�G� ��.�5����� �� *����� �-� ��513�� ��K��

�5��5���� � �0�3���� �� *����� ��.��������) 
 *���� ��.������� .�.�� �� 3�.��

P� ��K�� � ����������� ����.��.�/ 3��3� �3 ���������� ����L���/ 13� ��K 61� ��

A>



*������� 61� � ��3*T� 31��3 �3 ���.���� �*��.�� ��3 � �����;-� �� ����������)

,���� 8���
���� �� ��
��� �� ��%
� �� 
���
 � � ���;����

�����
���� �� ��
�	��� �<	�������� �� ����
 �� ���	
��

���.� �� *�.G���� ����� �� ��.��,���� �3 13 3�.�� �� ���1;-� � ����13���

��� *����� �� ��4�� �� ��.�� � *��.� ���� � ������.��� �3 *�.G���� 3��S���� *���

5���� � ��H� �� 3�.��) ( *���E��� ��*���� �� ���� 1��� �� *�.G���� �� ��.��,���� �

�����L!��� ��*�����3��.� �� ����1�.� �61������.� �� 3�.��)


 *�.G���� �� ��.��,���� � � *�.G���� 61� ������� ��� ����13��� �3 13 �����.��

�� �����
RR

S
/ ��61��.� 61� �� *����� �� ��4�� �� ��.�� ������*����3 P *�.G����

61� ������� ��� ����13��� �3 13 �����.�� �� ����� RR) 
 ��,����;� ��.�� ���� �

Pconv/ 61� ���� *��.��.� ��� � *�.G���� ����13��� �3 13 �����.�� �� �����

Rconv =
RR

S
−RR

Rconv = RR

(
1

S
− 1

)

Rconv = RR

(
1 − S

S

)
BZ)>D

� ����1�.� �61������.� *�� ,��� ��3 �� *����� �� ��4�� �� ��.�� � � *�.G����

������.��� *��� � ,��3� 3��S����/ ��*������ �3 ���3��.�� ���.��.�� � 3��.���� ��

$�51�� Z)]) ���� �� ��.��3���� �� *��S3�.��� �� 3�.�� �� ���1;-�/ ���.��!��!L ��.�

3����� �� ����1�.� �61������.�)

−

+

RR(1−S
S )

jX1IS

VS Rnu

−

+Imag

(Pconv)

RR

(PCR)

jX2IRRS

(PCE)

(Pnu)
jXmag E1

$�51�� Z)]+ ����1�.� �61������.� *�� ,��� ��3 PCR � Pconv ��*������)

A7



 �� ������ �� ��	�� � �����

� ������ �� 3�.�� � ��K�� 3��� �� *����� ��.�������� �� 3�.�� � ,������ ��,��!

3��-� ��4�� � ������.� �� 3�5��.�K�;-�) � ����1�.� *��� ��.� ������ � 3��.���� ��

O51�� Z)A�) 	-� �����.���� ���� U�..E3�.���/ 13 ���.E3�.�� � .�G� �3*��E3�.���

�� 3�.�� �� ���1;-�/ 61� *��� 5���� �����3��.�) 
� ������ ���5�� �� 3�.�� �-� �

�.��.� � � *���� ������ P ���.���;-�/ �� 3��� 61� .��� � *�.G���� ������.��� *���

3�.�� � ����13��� *�� *����� 3��S�����/ � � �������5�3��.� �� 3�.�� � 31�.�

*�61���) � ����1�.� �61������.� ���.� 3�.�� � 3��.���� �� $�51�� Z)A4) ��3�

����

����&����
��� �
����

 ��
�	�����
����&�
��

'

(

(

(

P1

P2

)
� �����

IL1

IL2

IL3

IL = IL1+IL2+IL3
3

����	���

�	����
��

�������

����

RR( 1−S
S

) >> RR




RR( 1−S
S

) >> X2*


��
 ����	���
�
�	+ �,

(���������
RA&V 

Rnu �
�-�
,

VS

VS

VS

.

.

.

-

-

-

IS

IS

IS

RS

RS

RS

jX1

jX1

jX1

IR = 0

Imag

jX2 RR

jXmag

jXmag

jXmag

Rnu

Rnu

RR( 1−S
S

)

RA&V = RR( 1−S
S

)

Ratrito,vent.

&nucleo>> Xmag

(
)

(�)

$�51�� Z)A+ ������ ��3 ���5� �� 13 3�.�� �� ���1;-�+ B�D ����1�.� �� .��.�) B4D

� ����1�.� �61������.� ���1�.��.�) ��.� 61� ��3 ���5� � �3*��S���� �� 3�.�� �

���������3��.� � ��34���;-� �3 ����� �� RS/ jX1 � jXmag)
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� �������5�3��.� � *�61���/ � �����.G���� 61� ������*���� P *�.G���� ������.���/

RR (1 − S) /S/ � 31�.� 3���� 61� � �����.G���� ������*�����.� P� *����� �� ��4��/

RR/ � 31�.� 3���� 61� � ���.S���� �� ��.�� X2) ���.� ����/ � ����1�.� �61������.� �

���1K��� �*��H�3���3��.� �� ��.�3� ����1�.� �� $�51�� Z)A4) ���.�/ � �����.�� ��

��E�� ��.L �3 *������� ��3 � ���.S���� �� 3�5��.�K�;-� Xmag � �� *����� �� ������

Rnu)

�� 3�.�� � ��K��/ � *�.G���� �� ��.���� 3����� *���� U�..E3�.��� *������ ���

�51�� P� *����� �� 3�.��) 
� *����� �� ��4�� �� ��.�� �-� ���*��KE����/ *��� � ���!

���.� IR � �H.��3�3��.� *�61��� B������ P ��.� �����.G���� �� ���5� RR (1 − S) /SD)


 *���� �� ��4�� �� ��.�.�� � ��.-� ���� *��

PCE = 3I2
SRS/ BZ)7D

�/ *��.��.�/ � *�.G���� �� ��.���� ���� ��� �51�� �+

Pent = PCE + Pnu + PA&V + Pale

= 3I2
SRS + Prot BZ)9D

���� Prot � � *���� ��.������� �� 3�.��

Prot = Pnu + PA&V + Pale) BZ)ZD


���3/ ���� � *�.G���� �� ��.����/ � *���� ��.������� �� 3�.�� *��� ��� ��.��3�!

����)

� ����1�.� �61������.� 61� �������� � �*���;-� �� 3�.�� ���.� �����;-� *���1�

�� �����.���� Rnu � RR (1 − S) /S �3 *������� ��3 � ���.S���� �� 3�5��.�K�;-�Xmag)


 ������.� ������L��� *��� ��.�4������ 13 ��3*� 3�5��.��� � 4��.��.� 5����� �3

13 3�.�� �� ���1;-�/ ������ P ��.� ���1.S���� �� ��.��,����) ��.� ,�K ��3 61�

� ���.S���� Xmag ��M� 31�.� 3���� �� 61� �� �����.G����� �3 *������� ��3 ��� �

*��.��.�/ � ,�.�� �� *�.G���� �� ��.���� ���L *�61���) ��3 � ��.� ������.� �3

�.����/ � 3������ ��� 61���� �� .���-� ���L ��4�� �� ��3*����.�� ���1.���� ��

����1�.�) 
 �3*��S���� �61������.� �� ��.���� �/ ���.� 3���/ �*��H�3���3��.�

�51�� �

|Zeq| =
VS
IS

=
VL√
3IL

≈ X1 +Xmag) BZ)?D


���3/ �� X1 *1��� ��� �����.���� �� ��513� �1.�� 3������/ � ���.S���� �� 3�5!

��.�K�;-� Xmag ���L ���0�����)

AZ



 � ������ ���� � �����	����� �� ��	��

	��


 �����.G���� �� ��.�� RR ��*�����.� 13 *�*�� �H.��3�3��.� ��E.��� �� �*�!

��;-� �� 13 3�.�� �� ���1;-�R *�� �H�3*��/ RR ��.��3��� � ,��3�.� �� �1���

.��61� H ����������/ ��.�*1����� � ���������� �� 61�� ������ � .��61� 3LH�3�)

�1.�� �H�3*�� � � �1� ��X1G���� �� ����� �� ����.��.� �� .�3*� ��.N����/ TR)

�3 ������ *���-� �� 3�.��/ �0�3��� ������ ��3 ��.�� 4��61����/ *��� ��� 1����

*��� ��.��3���� � �����.G���� .�.�� �� ����1�.� �� 3�.�� B��.� ������ ���L �4������

�� *�NH�3� ��;-�D) ��.��.��.�/ ��.� ������ �����.�� ��3��.� � �����.G���� .�.��)

���� �����.��� � �����.G���� RR �� ��.�� ��3 *�����-�/ � ������L��� ���0���� RS ��

3������ 61� ��� *���� ��� �14.��E�� �� .�.��)

�H��.� 3��� �� 13 ������ *��� �� ��.��3���� RS ����*�����.� �� RR/ X1 � X2)

���.� .��4��0� �����K�1!�� 13 ������ 61� ��������� � �,��.� *����1���) ���� �����K�� �

������/ �� ������3��.�� �� ��.�.�� ����3 ��.�� �����.���� �3 ^) � ������ ������.�

�� ��4��*���;-� �� 13� ������.� �� P ������.� �
 ��� ������3��.��) �,�.1�!��

��.-� � 3����� �� ������.� ICC � ��� .���T�� VCC1/ VCC2 � VCC3 ��.�� �� .��3�!

���� ��� ������3��.�� � �3 ��51��� ����1��!�� � 3���� VCC ��� .���T�� 3������) 


������.� ��� ������3��.�� �� ��.�.�� � �M1�.��� *��� � ����� ��3����/ �3 13� .��!

.�.��� �� �61���� �� ������3��.�� �� 3��3� .�3*���.1�� 61� �������3 .�� �1���.�

ICC

VCC3

VCC2

VCC1

RS

RS

RS

jXS

jXS

jXS

�������
���� �� 
������

iS1

iS2

iS3

$�51�� Z)\+ ������ *��� ��.��3���� � �����.G���� �� ��.�.��)

A?



� �*���;-� ���3��) � ������ �-� ���� ��� *�����5��� *��� �� ���.�� 13 �61���3��.�

�H������� ������ P ������.� ��)


 ������.� ICC �� $�51�� Z)\ �� ������ �� 3������ �*��H�3���3��.� �51��

�.����� ��� .�G� ������3��.��/ �� 3������ 61� � �����.G���� .�.�� �� 3��0� *���

��� ����������� ��3�
RS

3
) �����61��.�3��.�/

RS

3
=

VCC
ICC

RS =
3VCC
ICC

BZ)]D

��3 ��.� ����� *��� RS/ �� *����� �� ��4�� �� ��.�.�� ��3 � 3�.�� � ��K��

*���3 ��� ��.��3������/ � �� *����� ��.�������� *���3 ��� �����.����� � *��.�� ��

�61�;-� Z)9 ��3� � ��,����;� ��.�� � *�.G���� �� ��.���� ��3 3�.�� � ��K�� � ��

*����� �� ��4�� �� ��.�.��)

 �! ������ ��� ��	�� ���������

� .������� ������ 61� ���� ��� �H��1.��� �3 13 3�.�� �� ���1;-� *��� ��.��!

3���� �� *��S3�.��� �� ��1 ����1�.� � � �0�3��� ������ ��3 ��.�� 4��61����/ 61�

������*���� �� ������ �� �1�.� ����1�.� �3 13 .����,��3����) ���.� ������/ � ��.��

� 4��61���� �� 3������ 61� ��� �-� *���� 5����) �3 ��51���/ 13� .���-� � �*��!

���� �� 3�.��/ � 3���3!�� � .���-�/ � ������.� � � *�.G���� ���1�.��.��) 
 $�51��

Z)@� 3��.�� �� ����HT�� *��� � ������ ��3 ��.�� 4��61����) ���� �����K�� � ������/

�*����!�� 13� .���-� �
 �� ��.�.�� � � ������.� � �M1�.��� �*��H�3���3��.� *���

� ����� �� ���5� 3LH�3�) 
*N� ����/ .���-�/ ������.� � *�.G���� �-� 3������) �

����1�.� �61������.� *��� ��.� ������ � 3��.���� �� $�51�� Z)@4) ��.� 61� 13� ��K

61� � ��.�� �-� 5���/ ��.-� � �������5�3��.� � S = 1 �/ *��.��.�/ � �����.G���� ��

��.��
RR

S
O�� �51�� � RR B�� ����� 4��.��.� *�61���D) ��3� RR � X2 �-� 31�.� *�!

61����/ 61��� .��� � ������.� �� ��.���� ����1���L �.����� �����/ �� ����� �� ����1���

�.����� �� ���.S���� �� 3�5��.�K�;-� Xmag/ 61� � 31�.� 3����) ��.-�/ � ����1�.�

�� $�51�� Z)] ��4 ��.�� �����;T�� �� ��3*��.� ��3� 13� ��34���;-� �3 ����� ��

X1/ RS/ X2/ � RR/ ������� �� ����1�.� �� $�51�� Z)@4)

��.��.��.� �H��.� 13 *��4��3� ��3 ��.� ������) �3 �*���;-� ���3��/ � ,��!

6bG���� �� ��.�.�� � � 3��3� �� ����) �3 �����;T�� �� *��.���/ � ��.�� .�34�3 ��.L
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IL1

IL2

IL3

ω2 = ω1 = ω1ens

IL = IL1+IL2+IL3
3

≈ ILnominal

Xmag >> |RR + jX2|
Rnu >> |RR + jX2|
�����* �
���
+�-�
 Rnu 
 Xmag

VS

.

-

IS RS jX1 IR jX2

Rnu jXmag
RR
S

= RR

(
)

(�)

$�51�� Z)@+ � ������ ��3 ��.�� 4��61����+ B�D����1�.� �� .��.�) B4D����1�.� �61�!

�����.� �� 3�.��)

�� ,��6bG���� �� ����) ����3/ �3 �����;T�� �� �*���;-� ���3��/ � �������5�3��.�

�� 3������ ��� 3�.���� � �� 7 � Z *�� ���.�/ � � ,��6bG���� ���1�.��.� �� ��.�� ��.L

�� ,��H� ��.�� > � 9 "K) ��.� ���� 13 *��4��3� 61� ������.� �3 61� � ,��6bG���� ��

���� �-� ��*�����.� �� �����;T�� �� �*���;-� ���3�� �� ��.��) ��3� � �����.G����

�,�.��� �� ��.�� � ,��.�3��.� ��*�����.� �� ,��6bG���� *��� 3�.���� ��� �������0 �

� �/ � ,��6bG���� �������.� �� ��.�� *��� ����� � ���1�.���� ������� ���.� ������)

�3� �����;-� .E*��� � 1��� 13� ,��6bG���� 7?d �1 3���� �� ,��6bG���� ��.�*1����)

��61��.� ��.� �4����5�3 � ����.L��� *��� ��.���� ��3 �����.G���� ���������3��.�

����.��.�� B*��M�.�� ������ 
 � 
D/ ��� ���H� � ����M�� 61���� �� .��.� �����.���

� �����.G���� ���3�� �� 13 ��.�� ��3 �����.G���� ����L���) 
����� � ��.�� � �1.���

*��4��3��/ 31�.� �1����� ���� ��� .�3��� �� �� ,�K�� 3���;T�� ���.�� �������)


*N� � �M1�.� �� .���-� � �� ,��6bG���� �� ������/ � ������.� �� 3�.�� � ��*�!

��3��.� �M1�.��� *��� *�NH�3� �� ����� ��3����/ � � *�.G����/ .���-� � ������.�

�� ��.���� �-� 3������ ��.�� 61� � ��.�� �� �61�;� 31�.�) 
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�� 3�.�� � ���� *��

Pent =
√

3VLIL cos θ

��.-� � ,�.�� �� *�.G���� �� ��.�� 4��61���� *��� ��� �����.����/

FP = cos θ =
Pent√
3VLIL

BZ)AD

� � S�51�� �� �3*��S���� � �51�� � ���−1(FP )) � 3N�1�� �� �3*��S���� .�.�� ��

����1�.� �� 3�.�� ��3 � ��.�� 4��61���� �

|ZRB| =
VS
IS

=
VL√
3IL

BZ)\D

� � S�51�� �� �3*��S���� .�.�� � θ) ��.-�

ZRB = RRB + jX ′
RB

= |ZRB| cos θ + j |ZRB| ��� θ) BZ)@D


 �����.G���� �� ��.�� 4��61��� RRB � �51�� �

RRB = RS +RR/ BZ)>8D

��61��.� 61� � ���.S���� �� ��.�� 4��61���� � �51�� �

X ′
RB = X ′

1 +X ′
2/ BZ)>>D

���� X ′
1 � X

′
2 �-� �� ���.S����� �� ��.�.�� � �� ��.�� ���*��.���3��.�/ �� ,��6bG����

�� ������)


 �����.G���� �� ��.�� RR *��� ��� �����.���� ��3�

RR = RRB − RS BZ)>7D

���� RS ,�� ��.��3����� �� ������ *��� � �����.G���� �� ��.�.��) 
 ���.S���� .�.��

�� ��.�� ��,����� *��� � ��.�.�� .�34�3 *��� ��� �����.����) ��3� � ���.S���� �

����.�3��.� *��*�������� P ,��6bG����/ � ���.S���� �61������.� .�.�� �� ,��6bG����

�� �*���;-� ���3�� *��� ��� �����.���� ��3�

XRB =
ω1nom

ω1ens

X ′
RB = X1 +X2 BZ)>9D

��,���K3��.�/ �-� �H��.� 13� 3������ ��3*��� *��� ��*���� �� ���.��41�;T�� ���

���.S����� �� ��.�.�� � �� ��.�� 13� �� �1.��) 
 �H*���G���� .�3 3��.���� 61�

3�.���� �� ���.�� .�*�� �� *��M�.� .G3 ���.�� *��*��;T�� ��.�� �� ���.S����� ��

��.�.�� � �� ��.��/ 61� ��.-� ���13���� �� ��4��� Z)>)

A\



��4��� Z)>+ ��4��� *��� �����-� ��� ���.S����� �� ��.�.�� � �� ��.��)

X1 � X2 �3 ,1�;-� �� XRB

���M�.� �� ��.�� X1 X2

��.�� ��4����� 0.5XRB 0.5XRB

������ 
 0.5XRB 0.5XRB

������ � 0.4XRB 0.6XRB

������ � 0.3XRB 0.7XRB

������ 
 0.5XRB 0.5XRB

 �" �����	���� ��� ������� �� ��	�� �

�����$ ���� � �����	����� �� ��	��

	�� � ��� ��	�� ���������

� 3�.�� 1.���K��� ���.� .��4��0� � 13 3�.�� �� ���1;-� �� ���� *���� .��,L����

��3 ��.�� 5����� �� ��61��� ,�4������ *��� �61�������/ 3����� �
7C�	�C�	!?]/

������ 
) �� ����� ��3����� �� *���� �-�+ ����H-� �� ��.�.�� �3 .��S�51��/ *�.G����

�� 60 W / .���-� �� 30 V / ,��6bG���� �� 60 Hz/ ������.� �� 2.8 A/ ��.�;-� �� 3500

! 3600 rpm) �� ������� ,���3 �����K���� ��3 �� 4�4���� �� ��.�.�� �����.���� �3

��.����)

�3 13� .��.�.��� �� 3���3�K�� � ���� �� ���1�.��� O���/ �� ������ *��� ��!

.��3���;-� �� �����.G���� �� ��.�.�� ,���3 �,�.1���� ? 3���;T�� � � ����� ���.���

,�� ����1���� 1.���K����!�� 3E��3�� 61�������) 
 .�4��� Z)7 �*�����.� �� ���1�.����

�� ������) 	� �� ���1��� ICC � VCC �� .�4��� Z)7 ,���3 ������������ ��3� ��.����/

.�3!�� 61� � ����� �4.��� *��� � �����.G���� �� ���� ������3��.� �� ��.�.�� �

RS =
ITCCVCC
ITCCICC

= 2.00 Ω/

���� ITCC ����.� � ��.�� .����*��.� �� ICC )

�� ������ ��3 ��.�� 4��61����/ .�34�3 ,���3 �����K���� �L���� 3���;T�� �

�����.��1!�� 13 ����� 61� 3���3�K� � ���3� 61���L.��� �� ���� B3�.��� ��� 3E��!

3�� 61�������D) 
 .�4��� Z)9 3��.�� �� ������� 3������ ����� ������) ������������

A@



��4��� Z)7+ ��4��� ��3 �� ������� ��� 3������ �,�.1���� �� ������ *��� � �����.G����

�� ��.�.��)

������ ICC (A) VCC1 (V ) VCC2 (V ) VCC3 (V ) VCC (V )

> 8)@8 8)]9 8)]> 8)]Z 8)]9

7 8)@8 8)]7 8)?? 8)]7 8)]8

9 >)78 8)\? 8)AZ 8)\> 8)\8

Z >)78 8)\7 8)A9 8)\8 8)A\

? 8)98 8)7> 8)>@ 8)78 8)78

��4��� Z)9+ ��4��� ��3 �� ������� ��� 3������ �,�.1���� �� ������ ��3 ��.�� 4��!

61����)

������ IL(A) VL(V ) Pent (W )

> >)]7 >>)7\ 7\)]?

7 7)A? >\)Z8 AA)?8

9 7)]8 >A)]8 A>)88

Z >)]Z >8)Z9 7])78

? >)]> >8)7Z 7?)78
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�� ���1��� ��3� ��.����/ .�3!�� 61�

|ZRB| =
1√
3

ITLVL
ITL IL

= 3.85 Ω)

� ,�.�� �� *�.G���� ����� ���� ���L ���� *��+

FP =
1√
3

(VL ∗ IL)T Pent

(VL ∗ IL)T (VL ∗ IL)
= 0.89/

���� j ��5��O�� *���1.� ��.�� �� ���3��.�� �61������.�� �� ���� ��.��/ �1M� ���1�.���

���.��1� ����� 13 ��.��) ���.��.�/ � S�51�� �� �3*��S���� � θ =���−1FP = 0.47

���) 
���3/

RRB = |ZRB| cos θ = RS +RR = 3.43 Ω)

���� �3*���� 61�

RR = RRB −RS = 3.43 − 2.00 = 1.43 Ω)

�3� ��K 61� � ,��6bG���� ���.���� 1.���K��� �� .��.� ,�� � �� ����/ �1 ��M�/ 60 Hz/ �

���.S���� .�.�� ��3 ��.�� 4��61���� ���L

XRB = |ZRB| ��� θ = X1 +X2 = 1.76 Ω)

������������ � .�4��� Z)>/ .�3!�� 61�/ ��3� � 3�.�� � �� ������ 
+

X1 = X2 =
1.76

2
= 0.88 Ω.

� �� ���1.S����� �� ���*���-� �-� ����� *��

L1 = L2 =
0.88

120π
= 2.33 mH )

$����3��.�/ �� ������ �� 3�.�� � ��K��/ ,���3 �4.���� �� ���1�.���� �*�����!

.���� �� .�4��� Z)Z) ����3��.�/ �*�������!�� � 3�.��� ��� 3E��3�� 61������� P�

���1��� �� .�4���/ .�3!��/ � *��.�� �� �61�;-� Z)?/ 61�+

|Zeq| =
1√
3

ITLVL
ITL IL

= 27.99 Ω/

Xmag ≈ |Zeq| −X1 = 27.99 − 0.88 = 27.11 Ω)

�

Lmag =
27.11

120π
= 71.91 mH )

��3 � ���1�� �� *�.G���� *���!�� ��.��3���� �� *����� ��.��������/ 3�� �-� 0L

��.������ �� ,�KG!�� ���.� .��4��0�) � *�����*�� �4M�.��� ������ �������/ ���.�� ��

\>



��4��� Z)Z+ ��4��� ��3 �� ������� ��� 3������ �,�.1���� �� ������ �� 3�.�� � ��K��)

������ IL (A) VL (V ) Pent (W )

> >)>8 ?>)\A ?])\8

7 >)>8 ?>)@] ?9)A?

9 8)?@ 98)?7 >\)\8

Z >)8@ ?7)97 ?9)7Z

? 8)A] Z8)78 7@)>9

���.�H.� �� .��4��0�/ � � ��.��3���;-� �� 13 ����� *��� � ����.��.� �� .�3*�

��.N���� TR
′/ � ��� 1���� .��.� �� ��.�3���� �3*��3��.��� �� ��5���.3� �� ���.����

��3� ��� 3������ *��� ��31��;-� �3 ��.��4/ ���.�� ��� $�51��� Z)7 � Z)9) ����

.��.�/ ����3 ��� ��.��3������ �� ������� ��� ���*���T��/ ��� ���1.S����� *�N*����

��� ������3��.��)

σS = σR =
L1

Lmag
=

2.33

71.91
= 0.0324/

σ = 1 − 1

(1 + σR) (1 + σS)
= 0.0618/

*��.��.�/

LS = LR = (1 + σS)Lmag = 74.24 mH )


���� 3������/ � ����� �� ����.��.� �� .�3*� ��.N���� �� 3�.�� ���L+

TR =
LR
RR

=
0.07424

1.43
= 0.0519

H

Ω
)

����3/ ����� ,��.�3 ��.��3���� �� ������� �� J / kabs � τ *��� ��3*��.�� ��

3������) ��3!��/ �������3��.�/ 61� � ����� ���.��� *��� � 3�3��.� �� ������� ��

��.�� ���L � ,�������� *��� ,�4�����.�/ �1 ��M�/

J = 0.00057 Kg.m2)


 ��.��3���;-� �� kabs � τ ���L ,��.� � *��.�� �� ������ �� ���*��.� �� ��5��1/ �4M�.�

� ��� ����������� �� *�NH�3� ��;-�)
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 �# ������ �� ������	� �� ��
���

� �4M�.��� ����� ������ � � ��.��3���;-� �� 5��0� �4���1.� kabs � �� ����.��.�

�� .�3*� τ �� 3����� 3�.�3L.��� �� 3�.��) ���� *��� ��� ,��.� 5��;�� �� ,�.� �� 13

����� *��� TR′ ML .�� ���� �����.����/ 61� ���L ���.��� ��3� ����� � ����� TR ����)

���� �1*���;-� ���� ��� ,��.� *��� 61� �� *���� ��K�� 61� 0L � �������3��.� �,�.���

��� .����,��3�;T�� �� ����������� �/ *��.��.�/ *����!�� ��K�� 61� iSq = iSqref �

iSd = iSdref )

���,��3� ML ,�� �H*������ ��.�����3��.�/ � ����L��� �� ���.���� � iSqref �����

61� iSdref ���13� ����� ����.��.� �3 .���� �� �1.��� �H*���3��.�� � ��31��;T��

��61� �3 ����.�) � ����� ,�� �����0��� �*N� �L���� .��.��/ ���� ���.�1!�� iSqref = 0

� �����1!�� iSdref �.� � 3�.�� ��3�;�� � ���� �� ��*�1��) � ����� �����.���� �

iSdref = 2.8 A)

� ������ �� ���*��.� �� ��5��1 �� 4����� �3 �*����� 13 ��5��1 �� ��.����

BiSqref(t)D �� ���.�3� �3 ��5�3� *��3����.� � 3���� � ��E�� Bω(t)D/ �.� 61� �� �.��M�

��5�3� *��3����.� �1.�� ��K) ��3� �� ����M� ��.��3���� �� *��S3�.��� *��� 13�

*���.� �� *��3���� ����3/ ���� *��� �61�;-� B7)9\D/ � ����� �� 5��0� kabs *��� ���

�4.��� ���������!�� � ����� �� ��5�3� �.��5��� *��� ��E�� Bω(tfin)D *��� *���1.� ��

����� O��� �� ��.���� ��3 � ����� �� ������.� �� 3�5��.�K�;-� BiSqref(tfin)iSdrefD/

�1 ��M�+

kabs =
ω(tfin)

iSqref(tfin)iSdref
)

� ����� �� τ � ����1���� � *��.�� �� ��51��.� �H*����-�+

τ =

∫ treg

tdegrau
(ω(tfin) − ω(t))dt

ω(tfin)−ω(tinic)

iSqref (tfin)−iSqref (tinic)

=

∫ treg

tdegrau
(ω(tfin) − ω(t))dt

krel

���� ω(t) � � �1��� �� ���*��.�/ ω(tfin) � � ����� �� ��5�3� *��3����.� �.��5��� *��

ω(t)/ tdeg rau � treg ����.�3 � ���.��.� �� �*����;-� �� ��5��1 � � ���.��.� �3 61� ��

�.��5� � ����� �� ��5�3�/ ���*��.���3��.�) krel � 13 5��0� ����.���/ ����1���� *���

61�����.� ��� ��,����;�� ��.�� �� ������� O��� � ������� �� ��E�� Bω(tfin)−ω(tdegrau)D

� �� ������� O��� � ������� �� ��.���� BiSqref(tfin) − iSqref(tdeg rau)D) ��.� 3�.���

*��� � �L��1�� �� ����.��.� �� .�3*� � ���0����� ��3� 3�.��� ��� L���� <99=) �

3�.��� ,1������ 31�.� 4�3 �� ���� �� 3������ �1������ ��3� �� 61� ,���3 �4.����

�1���.� � ������)

\9



 �% �����	���� �� ������ �� ������	�

�� ��
���


����� P ��3�.�;-� �� ���.�3� �� �61���;-� �� ���������� ��51���/ 1���� ���.�

.��4��0�/ � 3�.�� ,�� �143�.��� � ����������� ��3*��������� ��.�� 500rpm � 2600

rpm) 
1���.� �� �H*���3��.�� ,�� �4������� 61� � ��3*���;-� ��.�� �� �1����

�4.���� �3 4������ � � *��.�� �� ��31��;-�/ *��� � ��.���� iSqref � � ��E�� ω/ �-�

�� �1*��*1�0�3/ � 61� �15���1 61� � ����� �����.���� *��� TR′ �-� ��� ���61���)

���.��.�/ �����K���3!�� ��513�� ����.�O��;T�� ��3 ������� ��,����.�� *��� TR′/

�3 .���� �� ����� ���5����

TR
′ = 0.0519

H

Ω

� �����1�1!�� 61� � ����� � ��� ���.��� � 5% 3���� �� 61� � ���5����/ �1 ��M�/

TR
′ = 0.0493

H

Ω
) BZ)>ZD

�3 ��51���/ ��5��1� �� �L���� �3*��.1��� �3 iSqref �-� �*������� � 3������ ��

��,����.�� ���*��.�� �3 ω) ��.� � ,��.� *��� �� ����O��� � ,��H� �� �����;-� �� 5��0�

kabs � �� ����.��.� �� .�3*� τ ) ���� �1��� �� ���*��.� B> � AD 3��.���� ��

5�LO�� �� $�51�� Z)>8B4D � � ���1�.��� �� 3���� �� ����� �H*���3��.�� �����K����

��4 �� 3��3�� �����;T��/ ��3 � ��.1�.� �� �� �4.�� ������� 3��� ���OL����) 


*��.�� ��� ����� �4.����/ �*�����.���� �� $�51�� Z)>8/ ����1��3!�� �� ������� ��

kabs � τ *��� ���� *�� �� �1���� �� ��.���� � ��E�� ��*�����.���� � �*����;-� ��
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$�51�� Z)>8+ ������� �� ���*��.� �� ��5��1+ B�D iSqref � B4D ω)

\Z



��4��� Z)?+ ��4��� ��3 �� ������� ����1����� � *��.�� ��� ������� �� ���*��.� ��

��5��1)


�5��1 kabs τ (segundos)

> >Z)8778 8)>ZZ9

7 >Z)>Z>? 8)>??>

9 >Z)@9A> 8)>]AA

Z >Z)@89] 8)>]@\

? >Z)@@A\ 8)>A\8

] >Z)A@@@ 8)>\A7

A >?)7@@7 8)7>?\

13 ��5��1) 
����� �� �1E��/ �� ������� �������� � O���� �� ��E�� �-� ���1�.���� ���

3����� ����1����� ���.�� �� ��.������� �� ��5�3� *��3����.�) 
 ��4��� Z)? ��.��.�

�� ������� ����1����� *��� �� *��S3�.��� �3 ���� ������)

 �& ��������� �� ������ ���� �������

���

�����1E�� � ,��� �� ����.�O��;-� �� *��S3�.��� � ����3 1����� �� ��5���.3� ��

���.���� � ��� 3������ *��� ��31��;-� �� ���.�3� �� ���.���� �� 3�.�� �� ���1;-�/ �

*���� O���/ ��.�� �� *��M�.� � �3*��3��.�;-� ��� ���.���������H∞/ � � ������;-� ��

3�����) ���� .��.�/ ���-� ��3*������ �� ���*��.�� �� ��5��1 �4.���� �3 4������ �

�1.��� ��31����� �� ��.��4/ 1.���K����!�� � 3����� �� $�51�� Z)7) � 3����� �����

�1.�3�.���3��.� �� ������� �� kabs � τ �� ������ ��3 � ��4��� Z)?/ ���,��3� � ,��H�

�� �*���;-� �� 3�.��) �� $�51�� Z)>> ��.-� *��.���� �� �1���� �� iSqref � ω �����

� ��31����� *��� ��3*���;-�/ �� ���� �� *��� �����1�� 61� � 3����� ��*�����.�

��.��,�.����3��.� � ���.�3� ����)

\?
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$�51�� Z)>>+ ���*��.�� �3 3��0� �4��.� *��� � ���.�3� ���� B���0� ���.E�1�D � *���

� 3����� B���0� *��.��0���D �3 �L���� ,��H�� �� �*���;-� �� 3�.��)

\]



 ��' ����������

�� ���1�.���� 3��.��3 61� � 3����� *��� ��31��;-� � ���OL��� 61���� ��3!

*����� ��3 � ���.�3� 3��.��� �3 4������) 
 5����� �3*��.S���� �� �� .�� 13

3����� 61� ��*�����.� 4�3 �� �����.��E�.���� �� *���.� ���� � 61� ��31��;T�� *���3

��� �����K���� *��� �� ��.���� � ��3*��.�3��.� ��� ���.�3�� ��3 �� ���.���������

H∞ � ����3 *��M�.����/ �13��.���� � ��51���;� �� *������� �� �3*��3��.�;-� �3

4������)

\A



�
��	��� '

(��) ��  ��(� � ��!���

� �������!��� �

��$����� H∞

���.� ��*E.1��/ ���.��������� ��41�.�� H∞ ���-� *��M�.���� *��� � 3�.�� �� ��!

�1;-� <9Z= � *��.�� �� ��O��;-� �� �4M�.���� �� ���.����) �������3��.�/ �� ��;-� ?)>/

��O��!�� ��3� �4M�.��� �� ���.���� � ���.���3��.� �� ������ � ����3*��0� .���!

��.N���/ 61� ���,��3� ���.� �� ��*E.1�� 9/ ���� P ,��31��;-� �� 13 *��4��3� ��

>!4����) 
 ��;-� ?)7 �*�����.� ���1�.���� �4.���� ��3 � �3*��3��.�;-� ��� ���!

.��������� ����1����� � *��.�� �� ���1;-� �� *��4��3� ,��31���� �� ��;-� ��.�����)

��3 � ��O��;-� �� 13 *��4��3� 3��.�/ 61� ��������� � ��.�4������� ��41�.� � �

�.��1�;-� �� �1E��/ � .�34�3 � ���.���3��.� �� ������ � ����3*��0� .�����.N���/

����������!�� �� ��;-� ?)9 � *��M�.� �� ���.��������� � *��.�� �� *��4��3� �� 7!

4�����) �� ���1�.���� �� �3*��3��.�;-� ������ ���.��������� ��.-� �� ��;-� ?)Z)

!�� �����	� �� ���	������� � ���	��

�� �� �������� H∞ �� �������

�������3��.�/ ��������� ��3� �4M�.��� �� ���.���� �*���� � ���.���3��.� ��

������ � ����3*��0� .�����.N���) ��.� ���� P ����������� �� ���1;-� �� *��4��3� 7/

\\



���� *��� �61�;-� B9)?\D � ��*�.��� � ��51��+

min
K(s) 
�� G(s)

‖W2S‖∞ = min
Q(s)∈RH∞

‖W2(X −NQ)M̃‖∞ = min
Q(s)∈RH∞

‖T1 − T2QT3)‖∞/

61� ��*�����.� 13 *��4��3� �� >!4����) � ,�.� �� ���.�3� ��� ������� ,�����.� 31�.�

�1� ���1;-�) ��.�/ �������3��.�/ 61� � *���.� ��3���� �� ���.�3� .�3 � ��51��.�

,1�;-� �� .����,��G����+

G (s) =
kabsISdref
(τs+ 1)

) B?)>D


���3/ *��� � ���1;-� �� *��4��3�/ � *��3���� *���� � �����.��� 13� ,�.���;-�

�1*��3��.� ��*��3� *��� G (s)/ ��.� �+

G (s) =
Ñ (s)

M̃ (s)
=
N (s)

M (s)
.

��3� G (s) � ������� � ��.L���/ *���!�� ���.��+

N (s) = Ñ (s) = G (s) =
kabsISdref
(τs+ 1)

� M (s) = M̃ (s) = 1) B?)7D


���3!�� �5��� �4.�� ,1�;T�� X (s) = X̃ (s) � Y (s) = Ỹ (s) 61� ��.��,�;�3 �

�61�;-� �� ��K�1. B9)9@D+

X (s) M̃ (s) − Y (s) Ñ (s) = 1) B?)9D

	14�.�.1����!�� �� ,1�;T�� ��� �61�;T�� B?)7D �� �61�;-� B?)9D/ .�3!�� 61�+

X (s) − Y (s)
kabsISdref
(τs+ 1)

= 1/

X (s) (τs+ 1) − Y (s) kabsISdref = (τs+ 1)) B?)ZD

( ,L��� ����O��� 61�

Y (s) = 0 � X (s) = 1/ B?)?D

�-� ���1;T�� �� �61�;-� ���,��.��� B?)ZD) ��.� ����� 61� M̃ (s)/ Ñ (s)/M (s)/ N (s)/

X̃ (s)/ Ỹ (s)/ X (s) � Y (s) ∈ RH∞)

� *��4��3� �5��� � �����.���Q (s) ∈ RH∞ 61� 3���3�K� ‖W2(X−NQ)M̃‖∞ =

‖W2(1−GQ)‖∞/ 13� ��K 61� M̃(s) = 1 � N(s) = G(s)) #G!�� 61�/ ���.� ����/ ��3�

G(s) � ��.L���/ � ���1;-� �� *��4��3�min ‖W2S‖∞ � �4.��� *���Q(s) = 1/G(s)/ 61�

����*���� ��W2(s)) ���� ���� ����� �� Q(s)/ .�3!�� 61�W2(jω)(1−G(jω)Q(jω)) =

0/ ∀ω �/ *��.��.�/ ‖W2S‖∞ = 0) �����6b��.�3��.�+

Q(s) =
1

G(s)
=

(τs+ 1)

kabsISdref
)

\@



����3 ��.� � 13� ,1�;-� �3*�N*���/ �/ *��.��.�/ �-� ��.��,�K P �����;-�Q(s) ∈RH∞/

� 61� ,��;� � ��.���1;-� �� 13 ,�.�� �� ����3������/ *��� 61� �� .��0� 13� ,1�;-�

��������/ *�N*��� � ��.L���) 
���3/ ��O��!��+

Qp(s) =
Q(s)

1
τs+ 1

=
(τs+ 1)

kabsISdref(
1
τs+ 1)

)

��.� 61� 61��.� 3���� ,�� � ����� ��
1
τ 3��� *�NH�3� �� Q(s) ��.��L Qp(s))

$����3��.�/ ��4���� 61� �� �61�;-� B9)Z>D B����3�.��K�;-� �� �̂1��!_1`���D/

� ���M1�.� �� .���� �� ���.��������� K(s) 61� ��.�4���K�3 � ���.�3� � ���� *��

K = −(Y −MQp)

(X −NQp)
/

� .�3!�� 61� �14�.�.1����!�� M / N / X/ Y � Qp �� �61�;-� ���3� ���1�.�+

K(s) =

(τs+1)

kabsISdref(
�
τ s+1)

1 − kabsISdref

(τs+1)
(τs+1)

kabsISdref(
�
τ s+1)

=
(τs+ 1)

kabsISdref(
1
τs+ 1)

(
1
τs+ 1)

(
1
τs+ 1 − 1)

=

=
(τs+ 1)

kabsISdref
1
τs

=
τ

kabsISdref
1
τ

(
s+ 1

τ

s

)
/

K(s) =
ISqref(s)

Eω(s)
=

τ

kabsISdref
1
τ

(
1 +

1

τs

)
/ B?)]D

���� Eω(s) � � �����,��3��� �� ��*���� �� ����� �� ���� eω(t) = ωref(t) − ω(t))

	1�*�������.�3��.� � ���.������� �4.��� �� �61�;-� B?)]D � 13 ��/ 61� ����

.�� ��1� *��S3�.��� �M1�.���� �� 3������ ��G�.��� �� ������.� *��� *����E*�� ��

3����� ��.���� �� ������ <9?=/ ��3 5��0� *��*�������� ���� *��

kp =
τ

kabsISdref
1
τ
/ B?)AD

� ����.��.� �� .�3*� �� ��.�5��;-� ���� *��

ti = τ ) B?)\D

61� � � ����.��.� �� .�3*� �� ���.�3� �3 3��0� �4��.�) ��.� ���1�.���/ �4.��� �

*��.�� �� .����� �� ���.���� ��41�.� H∞/���O�3� 61� � ���.������� ��/ �M1�.��� ��

������ ��3 � *����E*�� �� 3����� ��.����/ � ����3��.� � 3��0�� �*;-� � ��� 1.���K���/

�� � �4M�.��� �� ���.���� ,�� ���.���3��.� �� ������ � ����3*��0� .�����.N���)

���� �� �3*��3��.�� � ���.�������/ ����!�� �4.�� � �61������.� ������.� ��

�61�;-� B?)]D) �.���K����!�� � ��5�� 4������� �� �1�.�� <9]=/ ���� � 3�*��3��.� ��

*����!� *��� � *����!K � ���� *��

s ∼ 2

h

z − 1

z + 1
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���� h ����.� � ��.������ �� �3��.��5�3 � �����K����!�� ��513�� 3���*1��;T��

��5�4�����/ �4.�3!��+

K(z) =
ISqref(z)

Eω(z)
= kp



(

h
2ti

+ 1
)

+
(
h
2ti

− 1
)
z−1

1 − z−1


 ) B?)@D


 *��.�� �� �61�;-� B?)@D �4.�3!�� � ��51��.� �61�;-� � ��,����;��/ 61� .����

*���E��� � �3*��3��.�;-� �� ���.������� �� ��5���.3� �� ���.����+

iSqref(k) = iSqref(k − 1) + kp

(
h

2ti
+ 1

)
e(k) + kp

(
h

2ti
− 1

)
e(k − 1)) B?)>8D

�� ������� �� kabs � τ 1.���K���� *��� � �L��1�� ��� *��S3�.��� �� �� �-�/ ���!

*��.���3��.�/ �� 3����� ���.3�.���� ��3*��� ��� ���1��� �� ��4��� Z)? ��61��.�

61� � ����� ��
1
τ *��� ��� �����0��� ��4�.�����3��.�/ ����� ��.� � ����� *��S3�.��

�� �M1�.� *��� � ���.������� ��)

!�� �����	���� ���������	��� ��	����

� ���	�� ��� ���	��������� H∞ ��

�������

���.� ��;-� �*�����.�3!�� �� ���1�.���� �H*���3��.��� �4.���� ��3 �� �3*��!

3��.�;T�� �� .�G� ���.���������/ ����1����� � *��.�� ��� �H*����T�� �� ��;-� ��.�����)

���� ���.������� � *��M�.��� ��3 13 ����� ��
1
τ ��,����.�) ( �3*��.��.� �4������

61�/ �� ������ ��3 � �61�;-� B?)AD/ 61��.� 3���� � ����� �� τ̄ / 3���� ���L � �����

�� 5��0� �� ���.�������) �������3��.� ,���3 �����K���� ��31��;T�� ��3 � ��.1�.�

�� �� �4������ � ��3*��.�3��.� ��� ����L���� �� ���.�3�) 
�*��� �� ����������

� ����3*��0�/ � ��.�4������� � � ��,��;� �� ���.���� *�� 3��� ��� ��31��;T��/ ��

���.��������� ,���3 �3*��3��.���� �� ��5���.3� �3 4������ � �*������3!�� ��5��1�

�� �L���� �3*��.1��� �� ��,��G���� �� ����������/ .��.� *��� � ���.�3� ���������!

�� ��3���� ��3� *��� �����;T�� �� +50% � −50% �3 .���� �� ����� ��3���� ��

TR
′) ��3 � ��.1�.� �� �� ������� �� ���*��.�� �� ���.�3� ���� �3 .��3�� �� �1E��/

1.���K���3!�� �� �1���� �� ����L��� �� ���.���� ISqref �� ����� �� ����L��� �� ��E��

ω/ �1 ��M�/ ,�K!�� 13� 3���;-� ������.� �� �1E�� 13� ��K 61� � ����L��� �� ��E�� ω

�-� *��� ��� 3����� ��.�� �� �.1�;-� �� �1E��/ �1 3��0��/ � *�N*��� 3���;-� ��

���������� ��.���1K � �1E�� 61� �� 61�� ���3����)

@>



.����  ��	������ ��
� τ̄ = 5τ

���� ��.� ����/ � ���.������� �4.��� .�3 � ��51��.� ,1�;-� �� .����,��G����+

K(s) = 0.0049

(
1 +

1

0.1740s

)
)


 $�51�� ?)> �*�����.� � ��3*���;-� ��.�� .�G� ���1�.���� ��3�����/ ��31�����

�� ��.��4 � 1�����!�� � 3����� �� $�51�� Z)9 B���0�� *��.��0����D/ � ���1�.����

����� �4.���� �3 4������ B���0�� ���.E�1��D) � .�3*� �� �14���� 3���� � �� 1.39s

� � .�3*� �� ���3���;-�0 3���� � �� 3, 15s) 
� $�51��� ?)7 � ?)9 3��.��3 �

�����;-� 61� ������ �� ���.�3� ���� 61���� *��.1�4��� *�� ����� �� ����� ��3����

�� TR′ �� +50% � −50% ���*��.���3��.�) �� $�51�� ?)7 B���1�� �� ��61����D *���!

�� �4������ 13 �13��.� ��� .�3*�� �� �14��� � �� ���3���;-� �� ���.�3� 61����

*��.1�4���) �4�������� � $�51�� ?)7 B���1�� �� �����.�D �G!�� 61� �� ��,����;��

*�����.1��� ��.�� �� �1���� �� ���*��.� ��3���� � ��3 *��.1�4�;-� �� TR′ �����;�3

������� 3LH�3�� �� 7%/ 14% � 17%) �L �� $�51�� ?)9/ 61� ��*�����.� �� ���1�.����

��3 *��.1�4�;-� �� −50% �3 TR
′/ �4�����!�� 13 ��3*��.�3��.� �������/ �1 ��M�/

13� ��3��1�;-� ��� .�3*�� �� �14��� � �� ���3���;-�) 
� ��,����;�� *�����.1���

��.�� �� �1���� �� ���*��.� ��3���� � ��3 *��.1�4�;-� �� TR′ �����;�3 �������

3LH�3�� �� −12%/ −19% � −26%) �3 �34�� �� ����� 3��.���!�� � ��.�4�������

� �-� 0�1�� ��4��!�����/ �H��.� �� ���*��.� �� ��5��1 �� 3���� �3*��.1�� 61����

� ���� �3 TR
′ � *��� −50%/ ���� �*����� 13 ��5���� ��4��!�����) 
 $�51�� ?)Z

�*�����.� �� 5�LO��� �� �1E�� *�����.1�� �� ���.�3� ���� ������*�����.�� P ������.�

�� ��,��G���� B���1�� �� ��61���� �� $�51�� ?)>D) �4�����!�� 61� �� �E���� �� �1E��

�13��.�3 ��3 � ���������� O����� ���.�� ��� ,��H�� (−0.4% � 0.6%)/ (−0.4% �

1%) � (−0.5% � 1.5%))
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 #
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�
 
 �
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 �� ������	
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��
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����� ���	�� �� 
�
 �
��
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$�51�� ?)>+ ���*��.�� �3 3��0� ,��0��� �� ���.�3� ���� B���0� ���.E�1�D � ��

3����� B���0� *��.��0���D �3 .�G� ,��H�� �� �*���;-� �� 3�.��/ 1����� � ���.�������

�� �4.��� � *��.�� �� *��4��3� �� >!4����/ ��3 τ̄ = 5τ ) ���1�� �� ��61����+

��3*�B��51����D × iSqref (A)) ���1�� �� �����.�+ ��3*�B��51����D × ����������

��51��� B�*3D)
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TR
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.����  ��	������ ��
� τ̄ = τ


5���/ � ���.������� �� H∞ .�3 � ��51��.� ,1�;-� �� .����,��G����+

K(s) = 0.0246

(
1 +

1

0.1740s

)
)

��.� 61�/ ��3 ����;-� �� ���.������� ��.�����/ �*���� � 5��0� ,�� ��.�����)

�� $�51�� ?)? � �*�����.��� � ��3*���;-� ��.�� .�G� ���1�.���� ��31����� B��!

�0�� *��.��0����D � ���1�.���� ����� B���0�� ���.E�1��D/ *��� � 3����� ��3���� ��

���.�3� �4.��� �� ��*E.1�� ��.�����) � .�3*� �� �14��� 3���� �5��� � ��.1���3��.�

3���� 61� � ��.�����/ ������ �� �13��.� �� 5��0� kp/ ������� 0.27s � � .�3*� ��

���3���;-� 3���� ���.� ���� � �� 0.89s) 
� $�51��� ?)] � ?)A 3��.��3 � �����;-�

61� ������ �� ���*��.� �� ��5��1 �� ���.�3� ���� 61���� TR′ � *��.1�4��� �3 +50%

� −50% ���*��.���3��.�) �� $�51�� ?)] ����3��.� �� �4����� 13 �13��.� ��� .�3!

*�� �� �14��� � �� ���3���;-� �� ���.�3� 61���� *��.1�4���/ ���3 �� �1�G����

�� ��4��!�����) ��.� 61� �� ��,����;�� *�����.1��� ��.�� � �1��� �� ���*��.� ��3

TR
′ ��3���� � ��3 *��.1�4�;-� �� TR′ �����;�3 ������� 3LH�3�� �� 6%/ 10% �

13%) ����!�� ����� ��.�� �� $�51�� ?)A 61� *��� � ��5��1 �� 3���� �3*��.1�� 0L

13� ��3��1�;-� ��� .�3*�� �� �14��� � �� ���3���;-� ����3 ��3� 13 *�61���

��4��!����� *�����.1��/ ��61��.� 61�/ *��� �� ��5��1� �� 3���� �3*��.1��/ � ��3!

*��.�3��.� �� �����.�) 
� ��,����;�� *�����.1��� ��.�� � �1��� �� ���*��.� ��3����

� ��3 *��.1�4�;-� �� TR′ �����;�3 ������� 3LH�3�� �� −8%/ −19% � −28%) 


$�51�� ?)\ �*�����.� �� 5�LO��� �� �1E�� *�����.1�� �� ���.�3� ���� *��� � ���1��

�� ��61���� �� $�51�� ?)?) 
 $�51�� ?)\ �*�����.� �� 5�LO��� �� �1E�� *�����.1��

�� ���.�3� ���� *��� �� ������.�� �� ��,��G���� 3��.����� �� $�51�� ?)? B���1�� ��

��61����D) �4�����!�� 61� �� �E���� �� �1E�� �13��.�3 ��3 � ���������� O�����

���.�� ��� ,��H�� �� (−3% � 3%)/ (−4% � 6%) � (−4% � 10%))
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 −W1N

W2N


 M̃Q

∥∥∥∥∥∥
∞

=

= min
Q(s)∈RH∞

‖T1 − T2Q‖∞) B?)>9D

���3��3��.�/ � ,1�;-� W1(s)/ ����������� P ��.�4������� ��41�.� � �.��1�;-�

�� �1E��/ � ��.���1K��� �� ,��3� � *�����K�� �� ��.�� ,��6bG�����) ���� ,�K ���.���/

13� ��K 61� �� �4M�.���� ���������� .G3 ��3*����.�� ��5��O��.���� ����� ,��H� ��

,��6bG����) �L � ,1�;-� W2(s)/ ����.��� �� ���.���3��.� �� ������ � ����3*��0�

.�����.N���/ ��.1���3��.� ���� *�����K�� �� 4��H�� ,��6bG�����/ *��� ���� ,��H� �

*��*�������.�/ �� ������ ��3 � �4M�.��� �����������)


 ,1�;-� �� *��� W1(s) � 1�1��3��.� ��O���� � *��.�� �� ������� �� ���*��.�

�3 ,��6bG���� �� *���.� � ��� ���.������ <9A=) � 3�.��� � � ��51��.�+ �*����3!��

�������� �� �L���� ,��6bG�����/ wi/ i = 1, ...., m � *��� ���� 13� �����/ ,�K!�� �

�61���;-� �� ��E�� �� ��5�3� *��3����.� � ����1��3!�� � 5��0� � � ��,���5�3 ��.��

� ��E�� � � ��.���� ������*�����.�) ( �3*��.��.� ������.�� 61� � 61� ��.L �����

,��.� �61� �-� � ����.�O��� � ,1�;-� �� .����,��G���� �� ���.�3� � ��� ���.������ �

��3 �4.�� 13� ������;-� �� ��3� � ���� �� ��.�3�;-� �� TR′ ��X1����� �� ,1�;-�

�� .����,��G���� �� ���.�3� ��3� 13 .���) ��.� 61�/ �� �� ����� TR′/ � ���.�3�

���H� �� .�� 13 ��3*��.�3��.� ������ �/ *��.��.�/ � .��3� �����.� � ��� ���.���

������� ��� �4.��;-� �� ,1�;-� ������.��� <9\= � �-� �����.�3��.� �� ���*��.� �3

,��6bG����) 
*���� �����/ ���!��!L *��,��G���� � ���� ��.�3� ��3�����.1��) ���.�

.��4��0� .�G� �H*���3��.�� ,���3 �����K���� �3 4������ *��� �L���� ,��6bG�����+

13 ����� ����������� ��3����/ ��3 � ����� �� TR′ ���� *��� �61�;-� BZ)>ZD �

�� �1.��� ���� ��3 ����� �� +50% � −50% �� ����� ��3���� ���.��� *��� TR′) ��

���1�.���� ������ �H*���3��.�� ��.-� *��.���� �� $�51�� ?)>9) ��.� �5��� 61�/ ��3�

��.�3�� ������������ *��.1�4�;-� 31�.�*����.���/ ��.� �/ Gp(s) = G(s) [1 +W1(s)]

��.-� .�3!�� 61� *��� ���� ,��6bG���� wi

Gp(jwi)

G(jwi)
− 1 = W1(jwi)/

�/ ��3�/ ∣∣∣∣Gp(jwi)

G(jwi)
− 1

∣∣∣∣ = |W1(jwi)| / B?)>ZD

>8\
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$�51�� ?)>9+ ���*��.�� �3 ,��6bG���� �� ���.�3� ����/ *��� ��,����.�� ������� ��

����.��.� �� .�3*� ��.N���� ��.�3��� TR′) B+D c?8d �� ����/ B◦D 8d �� ���� � B∗D
!?8d �� ����)

��.-� ∣∣∣∣Gp(jwi)

G(jwi)
− 1

∣∣∣∣ ≤ |W1(jwi)| ≤
∣∣∣∣Gp(jwi)

G(jwi)
+ 1

∣∣∣∣ )
�4����� 61�/ �� ������ ��3 � ������.� �� *��L5��,� ��.�����/ G(jwi) ���L �4.���

*��� � ����� �� TR′ ����������� ��3���� ��61��.� Gp(jwi) ���L �4.��� � *��.��

�� ���*��.� �3 ,��6bG���� �� ���.�3� *��� TR′ *��.1�4��� �3 ±50% �� ��1 �����

��3����) 	�M� ��.-� G(jwi) = gie
jφi � Gp(jwi) = giqe

jφiq / ���� q = 2(3) *��� TR′

*��.1�4��� �3 +50%(−50%)) 
 *��.�� ��� ����� ��� �H*���3��.�� �� ���*��.� �3

,��6bG����/ ����1��!��

max

(∣∣∣∣gi2ejφi2

giejφi
− 1

∣∣∣∣ ,
∣∣∣∣gi3ejφi3

giejφi
− 1

∣∣∣∣
)

B?)>?D

*��� ���� ,��6bG���� wi � �M1�.�!�� � ,1�;-� �� *���W1(jwi) 61� ��.��,�;� � �61�;-�

B?)>ZD) 
 $�51�� ?)>Z 3��.�� � 5�LO�� �� �H*����-� B?)>?D ������������!�� �� ��!

�1�.���� �H*���3��.��� �� $�51�� ?)>9) 
 $�51�� ?)>Z �15��� 61� � ,1�;-� �� *���

W1(s) ���� .�� 3N�1�� 3���� ��� 4��H�� ,��6bG����� �� 61� ��� ��.�� ,��6bG�����/

�1 ��M� � *��� ����������� P ��.�4������� ��41�.� � �.��1�;-� �� �1E�� ���� .�� 13

��3*��.�3��.� *����!4��H�) ��.� ���1�.��� ����*����� ���.����K � 61� ��.L �����.�

�� .�4��� 9)> � ������ 61� �� �4M�.���� �� *��M�.�/ 61� �-� ���X�.��.��/ ��3*�.�3

��� 3��3�� ,��H�� �� ,��6bG����/ *��� � *��� *��� � �4M�.��� �� ���.���3��.�/W2(s)/

���� ��� .�34�3 *���� 4��H�) ���� ,�.� � �H.��3�3��.� ������ML��� � �15��� 61�

>8@
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$�51�� ?)>Z+ �1���� �� max
(∣∣∣gi2e

jφi2

giejφi
− 1
∣∣∣ , ∣∣∣gi3e

jφi3

giejφi
− 1
∣∣∣) BcD � |W1(s)| B�D/ *���

a1 = 0.2/ b1 = 131 � c1 = 23)

���L 4��.��.� ��,E��� �.����� � .���� �� �4M�.���� �� ���.���� �� 3��3� .�3*�) 
�!

��3/ � ,1�;-� �������� ���.��� *��� � *��� W1(s)/ �� ������ ��3 � �H*����-� ?)>Z/

���� ��� �� .�*�+

W1(s) =
a1(s+ b1)

(s+ c1)
/ a1/ b1/ c1 > 0 � b1 > c1) B?)>]D

���� � �H*���3��.� �����K��� �� 3�.�� �� ���1;-� ����/ � �1��� ���� *��� �H*����-�

B?)>?D *��� ��� ���.� �� $�51�� ?)>Z) �� 3��3� O51��/ *���!�� �4������ � �1��� ��

,1�;-� *��� W1(s) �M1�.��� *��� ���� ����/ �1 ��M�+

W1(s) =
0.2(s+ 131)

(s+ 23)
/ B?)>AD

� �� $�51�� ?)>? *���3 ��� ���.�� �� 5�LO��� �� |1 ±W1(jw)| |G(jw)| ���������� ��
�1���� �� 3N�1�� �4.���� �H*���3��.��3��.� � *��.�� �� ���.�3� ����/ *��� ��,����.��

������� �� ����.��.� �� .�3*� ��.N���� ��.�3��� TR′)


����� P ��.1��K� �� �4M�.��� ���������/ � *���W2(s)/ ����.��� �� ���.���3��.�

�� ������ � ����3*��0� .�����.N���/ ���L ��O���� ��3� �� .�*� *����!4��H�/ �1 ��M�+

W2(s) =
a2(s+ b2)

(s+ c2)
/ a2/ b2/ c2 > 0 � b2 > c2) B?)>\D

���.��.�/ ���,��3� ML ������.��� ��.�����3��.�/ �� ���� *����/ �� 3������ ��3�

��.-� ��O����� ��� �61�;T�� B?)>]D � B?)>\D ��3*�.�3 ��� 3��3�� ,��H�� �� ,��!

6bG����) ���.� *��.�/ .����!�� ���������.� ��.���1K�� � ������.� �� ����3*��0�

��41�.� <98= � �3 ��51��� ��1����� 13 .����3� ��4�� ��.� ����3*��0�) 
 ��;-�

>>8
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$�51�� ?)>?+ �1���� �� |1 ±W1(jw)| |G(jw)| ���������� �� �1���� �� 3N�1�� �4.�!
��� �H*���3��.��3��.� � *��.�� �� ���.�3� ����/ *��� ��,����.�� ������� �� ����.��.�

�� .�3*� ��.N���� ��.�3��� TR′) B+D c?8d �� ����/ B◦D 8d �� ���� � B∗D !?8d ��

����)

5���� �� ����3*��0� ��41�.� � 61� � ��.�4������� ��.���� � � ����3*��0� ��*���!

O���� ����3 �� 3��.�� *��� *��.1�4�;T�� �� ,1�;-� �� .����,��G���� �� *���.�

G(s))

�#)*#+, �� ��� �
�
���
 ������/	�� � ��1������ ��	� ��� ��*� 
 
��������


	
)���
 �

‖|W2S| + |W1T |‖∞ < 1 B?)>@D

�#+)�./*,'()0 #��� 
�W�� �� ��� <9A=/ *L5) ?]) �


�O����� �� *���� W1(s) � W2(s)/ *���!�� �5��� *�����51�� ��3 � �L��1�� ��

T1(s) � T2(s), ��O�����/ ���*��.���3��.� ��� �61�;T�� B?)>>D � B?)>7D) 	14�.�.1����

�� ������� �� X (s)/ Y (s)/ Ñ (s) � M (s) ����� *���� �61�;T�� B?)7D � B?)?D/ � ���

*���� W1 � W2 ��O����� ��� �61�;T�� B?)>]D � B?)>\D/ ���1�.�+

T1(s) =


 −W1Y Ñ

W2XM̃


 =


 0

a2(s+b2)
(s+c2)


 / B?)78D

T2(s) =


 −W1

W2


NM̃ =


 −a1(s+b1)

(s+c1)

a2(s+b2)
(s+c2)


 kabsISdref

(τs + 1)
) B?)7>D

>>>




� ������ ��3 � ��*E.1�� 9/ *��� �� �������� ���� *��4��3� � ������L��� ������.G!��

�� ��51��.� *��4��3� �� ��0���)

‖T1 − T2Q‖∞ =

∥∥∥∥∥∥∥

 T ∗

2i

I − T2iT
∗
2i


 (T1 − T2iT2oQ)

∥∥∥∥∥∥∥
∞

=

=

∥∥∥∥∥∥∥

 T ∗

2i

I − T2iT
∗
2i


 (T1 − T2iT2oQ)

∥∥∥∥∥∥∥
∞

=

=

∥∥∥∥∥∥∥

 T ∗

2iT1 − T2oQ

(I − T2iT
∗
2i)T1



∥∥∥∥∥∥∥
∞

=

=

∥∥∥∥∥∥∥

 R̄1 − X̄

R2



∥∥∥∥∥∥∥
∞

B?)77D

���� R̄1 (s) = T ∗
2i (s)T1 (s) ∈ RL∞/ X̄ (s) = T2o (s)Q (s) ∈ RH∞ � R2 (s) = (I −

T2i (s)T
∗
2i (s))T1 (s) ∈ RL∞) ���� .��.�/ � *��3���� *���� � �4.�� 13� ,�.���;-�

2�����2!2�1.��2 �� T2/ �1 ��M�+

T2 = T2iT2o/ T2i 2�����2 � T2o 2�1.��2)

��.� � ,��.� �����.�����!�� �������3��.� 13 ,�.�� ��*��.��� T2o �� T �2 T2/ ��.� �/ T �2 T2 =

T �2oT2o � ��*��� ,�K����!�� T2i = T2T
−1
2o ) 
���3+

T �2 T2 =
[
−a1(−s+b1)

(−s+c1)
a2(−s+b2)
(−s+c2)

] −a1(s+b1)
(s+c1)

a2(s+b2)
(s+c2)


 kabsISdref

(−τs+ 1)

kabsISdref
(τs+ 1)

=

=
(kabsISdref)

2

(τs+ 1)(−τs+ 1)

[
a2

1(s+ b1)(s− b1)

(s+ c1)(s− c1)
+
a2

2 (s+ b2) (s− b2)

(s+ c2) (s− c2)

]
=

=
(kabsISdref)

2 [a2
1 (s2 − b21) (s2 − c22) + a2

2 (s2 − b22) (s2 − c21)]

(τs+ 1)(−τs+ 1)(s+ c1)(s− c1) (s+ c2) (s− c2)
=

=
(kabsISdref)

2 [(a2
1 + a2

2) s
4 − (a2

1 (b21 + c22) + a2
2 (b22 + c21)) s

2 + b21c
2
2 + b22c

2
1]

(τs+ 1)(−τs+ 1)(s+ c1)(s− c1) (s+ c2) (s− c2)
/

B?)79D

�/ *��.��.�+

T2o =
kabsISdref

√
a2

1 + a2
2(s+ ρ1)(s+ ρ2)

(τs+ 1)(s+ c1) (s+ c2)
/ B?)7ZD

���� −ρ1 � −ρ2 �-� �� ��EK�� ��.L���� �� �61�;-�(
a2

1 + a2
2

)
s4 − (a2

1

(
b21 + c22

)
+ a2

2

(
b22 + c21

))
s2 + b21c

2
2 + b22c

2
1 = 0)

>>7



�3� ��K ����1���� T2o/ *������!�� �� �L��1�� �� T2i 61� � ���� *��+

T2i = T2T
−1
2o =

kabsISdref
(τs+ 1)


 −a1(s+b1)

(s+c1)

a2(s+b2)
(s+c2)


 (τs+ 1)(s+ c1) (s+ c2)

kabsISdref
√
a2

1 + a2
2(s+ ρ1)(s+ ρ2)

=

=


 − a1(s+b1)(s+c2)√

a21+a22(s+ρ1)(s+ρ2)

a2(s+b2)(s+c1)√
a21+a22(s+ρ1)(s+ρ2)


 ) B?)7?D

� *�NH�3� *���� � � �L��1�� �� R2/ 61� � ���� *��+

R2 (s) = (I − T2iT
∗
2i)T1 =




 1 0

0 1


−


 − a1(s+b1)(s+c2)√

a2
1+a2

2(s+ρ1)(s+ρ2)

a2(s+b2)(s+c1)√
a2
1+a2

2(s+ρ1)(s+ρ2)




[
− a1(s−b1)(s−c2)√

a2
1+a2

2(s−ρ1)(s−ρ2)

a2(s−b2)(s−c1)√
a2
1+a2

2(s−ρ1)(s−ρ2)

]) 0
a2(s+b2)
(s+c2)


 =

=


 1 − a2

1(s+b1)(s−b1)(s+c2)(s−c2)

(a2
1+a2

2)(s+ρ1)(s+ρ2)(s−ρ1)(s−ρ2)

a1a2(s+b1)(s−b2)(s+c2)(s−c1)

(a2
1+a2

2)(s+ρ1)(s+ρ2)(s−ρ1)(s−ρ2)

a1a2(s+b2)(s−b1)(s+c1)(s−c2)

(a2
1+a2

2)(s+ρ1)(s+ρ2)(s−ρ1)(s−ρ2)
1 − a2

2(s+b2)(s−b2)(s+c1)(s−c1)

(a2
1+a2

2)(s+ρ1)(s+ρ2)(s−ρ1)(s−ρ2)




 0

a2(s+b2)
(s+c2)


 =

=




a1a2
2(s+b1)(s+b2)(s−b2)(s−c1)

(a2
1+a2

2)(s+ρ1)(s+ρ2)(s−ρ1)(s−ρ2)

a2(s+b2)
(s+c2)

− a3
2(s+b2)2(s−b2)(s+c1)(s−c1)

(a2
1+a2

2)(s+c2)(s+ρ1)(s+ρ2)(s−ρ1)(s−ρ2)


 =

=




a1a2
2(s+b1)(s+b2)(s−b2)(s−c1)

(a2
1+a2

2)(s+ρ1)(s+ρ2)(s−ρ1)(s−ρ2)

a2(a2
1+a2

2)(s+b2)(s+ρ1)(s+ρ2)(s−ρ1)(s−ρ2)−a3
2(s+b2)2(s−b2)(s+c1)(s−c1)

(a2
1+a2

2)(s+c2)(s+ρ1)(s+ρ2)(s−ρ1)(s−ρ2)


 � (4�%5)


���3 �����/ � *��4��3� � ��� ��������� ���L+

inf
X(s)∈RH∞

∥∥∥∥∥∥∥

 R̄1 − X̄

R2



∥∥∥∥∥∥∥
∞

/ B?)7AD

��34�����/ 3��� 13� ��K/ 61� R̄1 (s) = T ∗
2i (s)T1 (s)/ X̄ (s) = T2o (s)Q (s) � R2 (s) =

(I − T2i (s)T
∗
2i (s))T1 (s)))


� ������ ��3 � 
�5���.3� > �� 	14��;-� 9)\)7/ � *�NH�3� *���� � ����1��� �

����� �� γ0 = ‖R2‖∞ �/ �3 ��51���/ �.����� �� *������� �� �.���;-� ������.� �����

3��3� ��5���.3�/ �����.��� � ����� γ∗ 61� i3���3�K�i � �1�.� ?)7A) ��3 � �����

�� γ∗ �����.����/ �4.�3!�� ��.-� � ,�.�� ��*��.��� Zo/ �H.��E�� �� γ∗2I − R∗
2R2/

��.� �/ γ∗2I −R∗
2R2 = Z�

oZo � �������!�� � *��4��3� �� ��0��� �� >!4���� ���������/

�����.�����!�� X̂) � *��4��3� ���5���� � �����.��� X̄/ 61� � ����1���� *��� ��51��.�

�H*����-�+

X̄ =
(
X̂ + ¯̄R1−

)
Zo/
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���1K��� � *��.�� ��� ��O��;T�� �� ,1�;T�� �� 
�5���.3� > �� 	14��;-� 9)\)7/ 
��.�

,��3�+

Q = T−1
2o X̄)

	� Q(s) ,�� �3*�N*���/ *���3 ��� ��.���1K���� ,�.���� �� ��1 ����3������ *���

.���L!�� 13� ,1�;-� *�N*��� Qp(s) ��3� �� ,�K �� ���� �� >!4����) � ���.������� �

��.-� ����1���� *��� �H*����-�+

K(s) = −(Y (s) −M(s)Qp(s))

(X(s) −N(s)Qp(s))
)

$����3��.�/ .�3!�� 61� � ���.������� �4.��� � ������.�K���/ �.����� �� ��5�� 4�������

�� �1�.��/ *��� 61� *���� ��� �3*��3��.��� �� ��5���.3� �� ���.����) �� 
*G�����

�/ .�3!�� 13 �H�3*�� �� ��5���.3� *��� �� ����1��� ���.��������� � *��.�� �� *��4!

��3� H∞ �� 7!4�����/ 1.���K����!�� � �
��
�)

!� �����	���� ���������	��� ��	����

� ���	�� ��� ���	��������� H∞ ��

��������

�� ���.��������� *��M�.���� ��3 �� *���� W1(s) � W2(s)/ �� 3������ ��3�

,���3 ��O����� ��� �61�;T��/ B?)>]D � B?)>\D � ������������ W1(s) ��3 �� �������

�H*���3��.��� ��.��3������ �� �61�;-� B?)>AD/ ����3 � ���� .�*�� �� ���1�.����+

�1 � .����3� >> �-� � ��.��,��.� 61���� W2(s) �L G�,��� P� 4��H�� ,��6bG�����

�1/ 61���� � .����3� � ��.��,��.�/ �� �� ��3��1�� � G�,��� �� W2(s) ��� 4��H��

,��6bG�����/ � ���.���3��.� O�� �����3��.� ��3*��3�.���) ���� �� �0�5�� � ����

�����1�-� ,���3 �����K���� �������� *��M�.�� � .��.�� ��3 ��.�� *���� ��3 61� ,����

�4.��� 13 ����3*��0� ��.��,�.N��� �� ���.�3�/ � �-� ��� 61� � �61�;-� B?)>ZD

�C�1 � .����3� >> ,����3 ��������) ���� ���.����� ���� ��.1�;-�/ � *��� W1(s)

,�� 3���O���� � O3 �� �� ��� 3���� G�,��� ��� 4��H�� ,��6bG�����/ ���H���� ��

��3*�.�� ��3 W2(s) ����� ,��H� �� ,��6bG����) 
���3/ ��3 13� ���� ��O��;-� ��

W1(s)/ ��.� �/

W1(s) =
a1(s+ b1)

(s+ c1)
/ a1/ b1/ c1 > 0 � b1 < c1/ B?)7\D
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� *���E��� �����;�� 4�3 ����3*��0� ���S3��� � �� 3��3� .�3*� ���*��.�� � .����3�

>>/ ���,��3� ���L ���.� � ��51��) 	��-� �*�����.���� �� ���1�.���� �� �3*��3��.�;T��

�� .�G� ���.���������/ �4.���� ��O�����!�� W1(s) �� ������ ��3 � �61�;-� B?)7\D)

���� ���.������� � *��M�.��� ��3 ��34���;T�� ��,����.�� ��� ,1�;T�� �� *���W1(s)

� W2(s)) 
�*��� �� ���������� � ����3*��0�/ � ��.�4������� � � ��,��;� �� ���.��!

�� *�� 3��� ��� ��31��;T��/ �� ���.��������� ,���3 �3*��3��.���� �� ��5���.3�

�3 4������/ .���� ���� �*������� ��5��1� �� �L���� �3*��.1��� �� ��,��G���� ��

����������/ .��.� *��� � ���.�3� ����������� ��3���� ��3� *��� �����;T�� �� +50%

� −50% �3 .���� �� ����� ��3���� �� TR′) 
���!�� ��34��� 3��� 13� ��K 61� �

3���;-� �� ���������� ��.���1K �1E��/ ,�.� 61� ����1 P �����0� �� ISqref *��� ��

������� �� ���*��.�� �� ���.�3� ���� �3 .��3�� �� �.��1�;-� �� �1E��)

.�,��  ��	������ ��
� W1(s) = (s+3)
(s+10) � W2(s) = 0.1(s+0.1)

(s+0.01)

������!�� ��.�� *����/ � ��51��.� ���.������� ,�� ����1����+

K(s) =
0.0252(s+ 10.0000)(s+ 5.7477)(s+ 3.1318)(s+ 0.0413)

(s+ 24.7184)(s+ 3.1342)(s+ 0.9012)(s+ 0.0100)
)

�4����� �� $�51�� ?)>] 61�/ ���.� ����/ � ��,����;� ����.��� ��.�� �� G�,���� ��

W1(s) � W2(s) ��� 4��H�� ,��6bG����� � *�61���/ �� ��3*����� ��3 �� $�51��� ?)7>

� ?)7]) ��� ����/ ���,��3� ��� �� �� ��*����/ � ���.���3��.� �*�����.� 13 ��3*��!

.�3��.� ��.�������� �� ���.��� �� 61� 0L 13 ������� ���� �� ��5�3� *��3����.�/

���,��3� 3��.�� � $�51�� ?)>A B���1�� �� �����.�D) � ����� �� ���� �� ��5�3� *��3�!

���.� 3���� � �51�� � A)]]9]d/ ����1���� �.����� �� ��31��;-�) ��.� ����� 61� ��

.�3*�� 3����� �� �14��� � �� ���3���;-� ����3 ���*��.���3��.� 27.24s � 67.03s/

� ,���3 ��.��3������ *�� 3��� �� ��31��;-�)) 
� ��,����;�� *�����.1��� ��.�� �

�1��� ��3���� � � �4.��� *��.1�4����!�� TR′ �3 +50% �����;�3 ������� 3LH�3��

�� 13%/ 15% � 19%/ ���,��3� 3��.���� �� $�51�� ?)>\) ���.1�4����!�� TR′ �3

−50%/ .�3!�� 61�/ �� ������ ��3 � $�51�� ?)>@ ����� ��,����;�� �.��5�3 �.� −20%/

−25% � (9% � −30%)) 
 $�51�� ?)78 �*�����.� �� 5�LO��� �� �1E�� *�����.1�� ��

���.�3� ���� *��� �� ������.�� �� ��,��G���� ��*�����.���� �� $�51�� ?)>A B���1�� ��

��61����D) �4�����!�� 61� �� �E���� �� �1E�� �13��.�3 ��3 � ���������� O�����

���.�� ��� ,��H�� (−1.5% � 2%)/ (−2% � 4%) � (−2% � 6%)) ��3*������!�� ��

5�LO��� ��� $�51��� ?)Z � ?)78 �G!�� 61� 0�1�� �.� 13� *���� �� 61� �� ��,��� ��
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$�51�� ?)>A+ ���*��.�� �3 3��0� ,��0��� �� ���.�3� ���� B���0� ���.E�1�D � �� 3�!

���� B���0� *��.��0���D �3 .�G� ,��H�� �� �*���;-� �� 3�.��/ 1����� 13 ���.�������

�4.��� � *��.�� �� *��4��3� �� 7!4�����/ ��3 �� *���� �� $�51�� ?)>]) ���1�� ��

��61����+ ��3*�B��51����D × iSqref (A)) ���1�� �� �����.�+ ��3*�B��51����D ×
���������� ��51��� B�*3D)
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$�51�� ?)>\+ ���1�.���� �H*���3��.��� *��� � ���.������� H∞ �� 7!4�����/ ��3 ��

*���� �� $�51�� ?)>]) ���1�� �� ��61����+ ���*��.�� �3 3��0� ,��0��� �� ���.�3�

���� *��� TR′ ��3���� � ��3 ���� �� +50%) ���1�� �� �����.�+ ��,����;� *�����.1��

��.�� � ���*��.��� �1��� ��3���� � ��3 ����)
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*���� �� $�51�� ?)>]) ���1�� �� ��61����+ ���*��.�� �3 3��0� ,��0��� �� ���.�3�
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.�,��  ��	������ ��
� W1(s) = (s+3)
(s+10) � W2(s) = 0.1(s+1)

(s+0.01)

��3 ��.�� *����/ �4.���!�� � ��51��.� ���.�������+

K(s) =
0.0354(s+ 10.0000)(s+ 5.7477)

(s+ 23.2693)(s+ 0.0087)
)

�� ��.1�.� �� 3��0���� � ���.���3��.� �� �14��;-� ��.�����/ 3��� G�,��� � ����

�� *��� W2(s) ��� 4��H�� ,��6bG�����/ ��3� �� *��� ����.�.�� �.����� �� ��3*���!

;-� ��.�� �� $�51��� ?)>] � ?)7>) ��3� �����6bG���� .�3!�� 61� � ���� �� ��5�3�

*��3����.� ,�� ���1K��� ����.���3��.�/ .���� 13 ����� 3���� �� 8)]8]Zd) ��3!

4�3 0L 13� 3��0��� ��5��O��.��� ��� .�3*�� �� �14��� � �� ���3���;-� 3�����/

61� �5��� ����3 0.47s � 1.42s/ ���*��.���3��.�/ ���,��3� *��� ��� �4������� ��

$�51�� ?)77 B���1�� �� �����.�D) � ��4��!����� .����!�� �,�.��� �3 ��5��1� �� 3����

�3*��.1��/ 61���� �� ���� � ����� �� TR′ *��� −50%/ ���,��3� *��� ��� ���.� ��

$�51�� ?)7Z B���1�� �� ��61����D) 
� ��,����;�� *�����.1��� ��.�� � �1��� ��3����

� � *��.1�4��� �����;�3 ������� 3LH�3�� �� 7%/ 11% � 15% *��� TR′ ��3 ����

�� +50%/ �� $�51�� ?)79 B���1�� �� �����.�D � *��� TR′ ��3 ���� �� −50%/ �����

��,����;�� �.��5�3 �.� −9%/ (11% � −17%) � (16% � −32%)/ ���,��3� 3��.����

�� $�51�� ?)7Z)B���1�� �� �����.�D 
 $�51�� ?)7? �*�����.� �� 5�LO��� �� �1E�� *��!

���.1�� *��� � ������.� �� ��,��G���� �� ���.�3� ����/ ��,����.�� P $�51�� ?)77 B���1��

�� ��61����D) �4�����!�� 61� �� �E���� �� �1E�� �13��.�3 ��3 � ���������� O�����

���.�� ��� ,��H�� (−2% � 3%)/ (−3% � 6%) � (−4% � 10%)) ��.� ����� 61�/ ��3�

W2(s) �-� ,�� ��.�����/ �-� ,�� *���E��� �4.�� 13� 3��0��� ��� �E���� �� �1E��)

>7>



10
−4

10
−3

10
−2

10
−1

10
0

10
1

10
2

10
3

10
4

0

1

2

3

4

5

6

7

8

9

10

Freqüência angular (rad/segundos)

M
ód

ul
o

|W1|

|W2|

$�51�� ?)7>+ �1���� �� 3N�1�� ��� ,1�;T�� �� *��� *��� W1(s) = (s+3)
(s+10)

� W2(s) =

0.1(s+1)
(s+0.01)

)

>77



0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
0

0.5

1

1.5

2

2.5

Tempo (segundos)

iS
qr

ef
 (

A
)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

450

500

550

600

650

700

750

800

850

900

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
0

0.5

1

1.5

2

2.5

3

3.5

4

4.5

5

Tempo (segundos)

iS
qr

ef
 (

A
)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

600

800

1000

1200

1400

1600

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
0

1

2

3

4

5

6

7

Tempo (segundos)

iS
qr

ef
 (

A
)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

600

800

1000

1200

1400

1600

1800

2000

2200

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

$�51�� ?)77+ ���*��.�� �3 3��0� ,��0��� �� ���.�3� ���� B���0� ���.E�1�D � �� 3�!

���� B���0� *��.��0���D �3 .�G� ,��H�� �� �*���;-� �� 3�.��/ 1����� 13 ���.�������

�4.��� � *��.�� �� *��4��3� �� 7!4�����/ ��3 �� *���� �� $�51�� ?)7>) ���1�� ��

��61����+ ��3*�B��51����D × iSqref (A)) ���1�� �� �����.�+ ��3*�B��51����D ×
���������� ��51��� B�*3D)

>79



0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

450

500

550

600

650

700

750

800

850

900

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
−50

−40

−30

−20

−10

0

10

20

30

40

50

Tempo (segundos)

D
ife

re
nç

a 
(%

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

600

800

1000

1200

1400

1600

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
−50

−40

−30

−20

−10

0

10

20

30

40

50

Tempo (segundos)

D
ife

re
nç

a 
(%

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

600

800

1000

1200

1400

1600

1800

2000

2200

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
−50

−40

−30

−20

−10

0

10

20

30

40

50

Tempo (segundos)

D
ife

re
nç

a 
(%

)

�������

��� ���� 
� +50%

�������

��� ���� 
� +50%

�������

��� ���� 
� +50%

$�51�� ?)79+ ���1�.���� �H*���3��.��� *��� � ���.������� H∞ �� 7!4�����/ ��3 ��

*���� �� $�51�� ?)7>) ���1�� �� ��61����+ ���*��.�� �3 3��0� ,��0��� �� ���.�3�

���� *��� TR′ ��3���� � ��3 ���� �� +50%) ���1�� �� �����.�+ ��,����;� *�����.1��

��.�� � ���*��.��� �1��� ��3���� � ��3 ����)

>7Z



0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

450

500

550

600

650

700

750

800

850

900

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
−50

−40

−30

−20

−10

0

10

20

30

40

50

Tempo (segundos)

D
ife

re
nç

a 
(%

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

600

800

1000

1200

1400

1600

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
−50

−40

−30

−20

−10

0

10

20

30

40

50

Tempo (segundos)

D
ife

re
nç

a 
(%

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

500

1000

1500

2000

2500

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
−50

−40

−30

−20

−10

0

10

20

30

40

50

Tempo (segundos)

D
ife

re
nç

a 
(%

)

�������

��� ���� 
� −50%

�������

��� ���� 
� −50%

�������

��� ���� 
� −50%

$�51�� ?)7Z+ ���1�.���� �H*���3��.��� *��� � ���.������� H∞ �� 7!4�����/ ��3 ��

*���� �� $�51�� ?)7>) ���1�� �� ��61����+ ���*��.�� �3 3��0� ,��0��� �� ���.�3�

���� *��� TR′ ��3���� � ��3 ���� �� −50%) ���1�� �� �����.�+ ��,����;� *�����.1��

��.�� � ���*��.��� �1��� ��3���� � ��3 ����)

>7?



1 1.5 2 2.5 3 3.5 4 4.5 5

−2

−1

0

1

2

3

4

5

Tempo (segundos)

ru
íd

o 
de

 iS
qr

ef
 (

%
)

1 1.5 2 2.5 3 3.5 4 4.5 5

−4

−2

0

2

4

6

8

Tempo (segundos)

ru
íd

o 
de

 iS
qr

ef
 (

%
)

1 1.5 2 2.5 3 3.5 4 4.5 5

−5

0

5

10

15

Tempo (segundos)

ru
íd

o 
de

 iS
qr

ef
 (

%
)

$�51�� ?)7?+ ��LO��� �� �1E�� *�����.1�� ��� �1���� �� iSqref �� ���.�3� ����/ �H!

.��E��� �� ���1�� �� ��61���� �� $�51�� ?)77)

>7]



.�,��  ��	������ ��
� W1(s) = (s+30)
(s+100) � W2(s) = 0.1(s+1)

(s+0.01)


 *��.�� ���.�� *���� ����1��1!�� � ��51��.� ���.�������+

K(s) =
0.0345(s+ 100.0000)(s+ 5.7477)(s+ 0.3229)

(s+ 49.2995)(s+ 0.6664)(s+ 0.0072)
)

���.� ����/ ��3*������!�� �� $�51��� ?)7> � ?)7] �4�����!�� 13 �������3��.�

*��� � �����.� �� �1��� �� 3N�1�� �� W1(s). ��.� ,�K ��3 61� 3���� ,��6bG�����

4��H�� ��M�3 *�����K����/ � 61� ,������� � ���1;-� ��� .�3*�� �� �14��� � ��

���3���;-�/ 61� �-� �� 0.09s � 0.53s/ ���*��.���3��.�/ ���,��3� *��� ��� ���.� �

*��.�� �� $�51�� ?)7A B���1�� �� �����.�D) ����3/ 0L 13 *�61��� ��4��!�����) � ����

�� ��5�3� *��3����.� 3����/ ���.� ����/ � �51�� � 8)@>8Ad) 
� $�51��� ?)7\ � ?)7@

3��.��3 � �����;-� 61� ������ �� ���*��.� �� ��5��1 �� ���.�3� ���� 61���� TR′ �

*��.1�4��� �3 +50% � −50%/ ���*��.���3��.�) �� $�51�� ?)7\ �4�����!�� 61� �-�

0L ��,����;� ��5��O��.��� �� .�3*� �� �14��� � � ��,����;� �� .�3*� �� ���3���;-�

� *�61���/ ���3 �� ����*�����3��.� �� ��4��!����� � �� ��,����;�� *�����.1��� ��.��

� �1��� ��3���� � � *��.1�4��� �����;�3 ������� �� 5%/ (−5% � 8%) � (−14% �

15%)) ��.�!�� �����/ �� $�51�� ?)7@/ 61� 0L 13 �13��.� ��� .�3*�� �� �14���

� �� ���3���;-� ����3 ��3� �� ��4��!�����/ � �� ��,����;�� *�����.1��� ��.�� �

�1��� ��3���� � � *��.1�4��� �����;�3 ������� 3LH�3�� �� −5%/ B28% � −28%) �

B30% � −34%)) 
 $�51�� ?)98 �*�����.� �� 5�LO��� �� �1E�� *�����.1�� �� ���.�3�

���� *��� � ���1�� �� ��61���� �� $�51�� ?)7A) �4�����!�� 61� �� �E���� �� �1E��

�13��.�3 ��3 � ���������� O����� ���.�� ��� ,��H�� (−4% � 6%)/ (−5% � 8%) �

(−5% � 10%)) ��3*������!�� �� $�51��� ?)>7 � ?)98/ �G!�� 61� 0�1�� 13� ���1;-�

��5��O��.��� ��� �E���� �� �1E�� �� ���.�3�)

>7A



10
−4

10
−3

10
−2

10
−1

10
0

10
1

10
2

10
3

10
4

0

1

2

3

4

5

6

7

8

9

10

Freqüência angular (rad/segundos)

M
ód

ul
o

|W1|

|W2|

$�51�� ?)7]+ �1���� �� 3N�1�� ��� ,1�;T�� �� *��� *��� W1(s) = (s+30)
(s+100)

� W2(s) =

0.1(s+1)
(s+0.01)

)

>7\



0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
0

0.5

1

1.5

2

2.5

3

3.5

Tempo (segundos)

iS
qr

ef
 (

A
)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

450

500

550

600

650

700

750

800

850

900

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
0

1

2

3

4

5

6

7

Tempo (segundos)

iS
qr

ef
 (

A
)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

600

800

1000

1200

1400

1600

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
0

2

4

6

8

10

Tempo (segundos)

iS
qr

ef
 (

A
)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

600

800

1000

1200

1400

1600

1800

2000

2200

2400

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

$�51�� ?)7A+ ���*��.�� �3 3��0� ,��0��� �� ���.�3� ���� B���0� ���.E�1�D � �� 3�!

���� B���0� *��.��0���D �3 .�G� ,��H�� �� �*���;-� �� 3�.��/ 1����� 13 ���.�������

�4.��� � *��.�� �� *��4��3� �� 7!4�����/ ��3 �� *���� �� $�51�� ?)7]) ���1�� ��

��61����+ ��3*�B��51����D × iSqref (A)) ���1�� �� �����.�+ ��3*�B��51����D ×
���������� ��51��� B�*3D)

>7@



0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

450

500

550

600

650

700

750

800

850

900

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
−50

−40

−30

−20

−10

0

10

20

30

40

50

Tempo (segundos)

D
ife

re
nç

a 
(%

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

600

800

1000

1200

1400

1600

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
−50

−40

−30

−20

−10

0

10

20

30

40

50

Tempo (segundos)

D
ife

re
nç

a 
(%

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

600

800

1000

1200

1400

1600

1800

2000

2200

2400

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
−50

−40

−30

−20

−10

0

10

20

30

40

50

Tempo (segundos)

D
ife

re
nç

a 
(%

)

�������

��� ���� 
� +50%

�������

��� ���� 
� +50%

�������

��� ���� 
� +50%

$�51�� ?)7\+ ���1�.���� �H*���3��.��� *��� � ���.������� H∞ �� 7!4�����/ ��3 ��

*���� �� $�51�� ?)7]) ���1�� �� ��61����+ ���*��.�� �3 3��0� ,��0��� �� ���.�3�

���� *��� TR′ ��3���� � ��3 ���� �� +50%) ���1�� �� �����.�+ ��,����;� *�����.1��

��.�� � ���*��.��� �1��� ��3���� � ��3 ����)

>98



0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

450

500

550

600

650

700

750

800

850

900

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
−50

−40

−30

−20

−10

0

10

20

30

40

50

Tempo (segundos)

D
ife

re
nç

a 
(%

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

600

800

1000

1200

1400

1600

1800

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
−50

−40

−30

−20

−10

0

10

20

30

40

50

Tempo (segundos)

D
ife

re
nç

a 
(%

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5

500

1000

1500

2000

2500

3000

Tempo (segundos)

V
el

oc
id

ad
e 

an
gu

la
r 

(r
pm

)

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
−50

−40

−30

−20

−10

0

10

20

30

40

50

Tempo (segundos)

D
ife

re
nç

a 
(%

)

�������

��� ���� 
� −50%

�������

��� ���� 
� −50%

�������

��� ���� 
� −50%

$�51�� ?)7@+ ���1�.���� �H*���3��.��� *��� � ���.������� H∞ �� 7!4�����/ ��3 ��

*���� �� $�51�� ?)7]) ���1�� �� ��61����+ ���*��.�� �3 3��0� ,��0��� �� ���.�3�

���� *��� TR′ ��3���� � ��3 ���� �� −50%) ���1�� �� �����.�+ ��,����;� *�����.1��

��.�� � ���*��.��� �1��� ��3���� � ��3 ����) ������ 13 ���.������� �4.��� � *��.��

�� *��4��3� �� 7!4�����/ ��3 �� *���� �� $�51�� ?)7])

>9>



1 1.5 2 2.5 3 3.5 4 4.5 5

−4

−2

0

2

4

6

Tempo (segundos)

ru
íd

o 
de

 iS
qr

ef
 (

%
)

1 1.5 2 2.5 3 3.5 4 4.5 5

−6

−4

−2

0

2

4

6

8

10

Tempo (segundos)

ru
íd

o 
de

 iS
qr

ef
 (

%
)

1 1.5 2 2.5 3 3.5 4 4.5 5
−10

−5

0

5

10

15

Tempo (segundos)

ru
íd

o 
de

 iS
qr

ef
 (

%
)

$�51�� ?)98+ ��LO��� �� �1E�� *�����.1�� ��� �1���� �� iSqref �� ���.�3� ����/ �H!

.��E��� �� ���1�� �� ��61���� �� $�51�� ?)7A)

>97



!�! ����������

�� ������ �� .��.� 1.���K���� ���.� .��4��0� �-� �� .�*� ��5��1/ 61� �-� � ��

61������ ��.�5�L��� � � .����� H∞ �-� ���� �3 ���.� ������ ����� .�*�) ����3/

��34�����!�� 61� �� 13 ��5��1 ��5�.��� �� 3��3� �3*��.1��/ �*������ �3 13

.�3*� ��51��.� P �*����;-� �� ��5��1 �������/ � ��3��� �� *��3����/ ��.-� � �����

���1�.��.� *���� � ��� �� 61������ ��.�5�L���2) ���.��.� � ��K�L��� 61� �� .��0�

1���� ������ �� .�*� ��5��1 *��� � �����K�;-� ��� .��.��)

����!�� �O�3�� 61� � ����� 3��0��� ��.���1K��� *���� ���.��������� ��������

�� *��4��3� �� 7!4����� � ��3 ����;-� P �.��1�;-� �� �1E��) ��.� 61� *��� ���.�3��

��3 ���*��.�� ���.��/ � 3��� ���.�M��� 1���!�� ���.��������� �4.���� �� *��4��3�

�� >!4���� B��D/ ��61��.� 61� *��� ����3*��0�� �L*����/ ���.��������� �4.���� ��

*��4��3� �� 7!4����� �� 3��.��3 3��� ���61����/ *�� ���1K���3 ��4��3������ ��

�E���� �� �1E��)


� 3��� 5����/ � �� ���1�.��.� �� *��4��3� �� >!4����/ 61� � � ���.�������

1.���K��� ���5�3��.� �� *�L.��� ����� ����/ �� 3��.��1 ���.�M��� �� *��.� �� ���.�

�� 3�H�3�K�;-� �� ����3*��0�/ ����� 61� ��M� �M1�.��� ���,��3� � *����E*�� ��

3����� ��.����) 
��3 �����/ �H��.� � ���.�5�3 �� ��� 31�.� ��3*��� � *��M�.� �����

.�*� �� ���.�������)

�,�	� 
����� � � ������	
���	� �����
�� �
�
 � ���+� �� #������
�� �� ���#
������

>99



�
��	��� *

���������

� 61� �� *��.���� ���.� ��*E.1�� O��� � �*�����.�� 13� ����� 5���� �� .��4��0�

����3 ��3� �� ��O�1������ 61� ,���3 �����.����� � �*��.�� ��51�� .�3�� 61� ����3

��� �H*������� *��� � �1� ���.��1�;-� � � �*��,��;��3��.� �� ���.�3� 61� ML �H��.�

� ��.L ,1��������� �3 4������)

�3� 5����� ���.��41�;-� �� .��4��0� � � ����.�.�;-� �� 61�/ �� *��.� �� ���.�

�� 3�H�3�K�;-� �� ����3*��0�/ ��3*����1!�� *��� .����� H∞ 61� � �� �M1�.���

�� ������ ��3 � *����E*�� �� 3����� ��.���� � � 3��0�� �*;-� � ��� �3*��3��.���)

���.��������� �� �-� �� ,�.� 1.���K���� �� *�L.���R *���3 � �M1�.� �� ��1� *��S3�.���

�-� � ����������3��.� �����K��� �� ������ ��3 � *��*��.� ���.� .��4��0�) �3 �1.��

��*��.� � ��� ����������� � � ,�.� �� 61� � ���.������� ��41�.� �4.��� � *��.�� ��

*��4��3� �� 7!4����� �-� ����1 � 13 ����3*��0� ��41�.�) ��.� �� ���� P ���.����;-�

��.�� � .����� �*�����.��� �� ��*E.1�� 9/ � �� *���� �4.���� �� *�L.���/ �� ��*E.1�� ?

��3� �����6bG����/ .�3!�� 61� 61� �� �4M�.���� �� *��M�.� .������3!�� ���X�.��.��

�� ���� �� 7!4����� � ��*���O��3��.� ���.� ����/ ��3*�.���� M1�.�3��.� ��� 3��3��

,��H�� �� ,��6bG����) ��3 ���� � ���.���3��.� O�� �����3��.� ��3*��3�.���/ � 61�

����1 �� ����H�3��.� �� 13 ���.���� �� ��41�.�K 61� *��� .�� ���� ���*���L��� *���

��.������;-� ���.� ��.�3�)

� 3����� �� ���.�3� ���.��� �� .��4��0� �� 3��.��1 ��.��,�.N���/ �34��� 0�M�

13� ���.� �����;-� �� 5��0� �3 3��0� �4��.� *��� ���� ����.�O��;-� 61� �� ,�;� �

61� �H*���� ��,����;�� ��.�� � ����� �� ���.���� ��31���� � � ���� �3 ��513�� O51���

�� ��*E.1�� ?)

��3� *��*��.�� *��� � ���.��1�;-� � �*��,��;��3��.� ���.� .��4��0� *���3!��

>9Z



�*��.��+

• *��61��� �� ��X1G���� �� �������� �0������ �� ���.�3�/ ������������ �.��!
��� � �1E��/ � �1� *���E��� 3�����5�3 3�.�3L.��� *��� ����1�-� �� 3�����

�H��.��.�R

• �����.�5�;-� 3��� ��.��0��� ��4�� � �����;-� �� 5��0� �3 3��0� �4��.�R

• 1.���K�;-� �� �1.��� ������ �� ��,��G���� ��,����.�� �� ��5��1R

• .��4��0�� ��3 .��61� �� ���5� � ��.���1K�� *��.1�4�;T�� �H.�����R

• .���� �� ��513�� *��.�� �� i0���U���i ��3� � *���� �� �61���;-� �� �����
*�� �1.�� 3��� 3������ � � ���.�3� �� 3���;-� �� ���������� *�� 13 61�

��.���1K� 3���� �1E�� � *��3�.� ������-� �� ���.��� �� ��.�;-�/ ����3 ��3�

�� 31���;�� �� i��,.U���i *��� �� ���61�� �� ���� �61�*�3��.�)

>9?



��+��,-.�
� $��������/.
�

<>= 
�W��/ �) �)/ 	.���/ �)/ h�1�.������4�� ,���4��V ����5�+ �����*.� ,�� � ���������

3����� �W�.0����/i K+++ 9	�������
�� 
� G��
����� #
��	
�/ ���) 
�!7]/ **)

Ze>]/ >@\>)

<7= J�3��/ �)/ h$���4��V �� �*.�3�� �����.���.W+ 3���� ��,������ .����,��3�.����/

31�.�*����.��� ��3����3�/ ��� �**��H�3�.� ��������/i K+++ 9	�������
�� 
�

G��
����� #
��	
�/ ���) 
�!7]/ **) 98>e978/ >@\>)

<9= J�3��/ �)/ $������/ �) 
)/ h$���4��V/ 3���3�H �����.���.W/ ��� �*.�3�� ��41�.!

����/i K+++ 9	�������
�� 
� G��
����� #
��	
�/ ���) 7\/ **) ?\?e]8>/ >@\9)

<Z= 
..�������/ �)/ ��3����/ �)/ ���,�..�/ 
)/ h$���� �����.�� ���.��� �, ���1�!

.��� 3�.�� 4W 3���� �, � H∞ ���.������/i �� B	
���
���� 
� ��� @�� +�	
����

#
���	���� 
� B
��	 +����	
���� ��
 G��������
��/ ����/ 	�������/ >@@@)

<?= ��V�1,/ 
)/ ���4�1K��/ �) �) ")/ 
�����/ 
)/ �. ��)/ h���1�.��� 3�.�� ��41�.

���.���+ 
� H∞ ���.��� �**����0 U�.0 O��� �����.�.��� ��� ��*1.!�1.*1. ���!

����K��5/i �� 9�� 6L�� G����� #
���	���� 
� ��� K+++ K�
���	��� +����	
����

�
����$/ 
�����/ ��������/ 788>)

<]= �0��������/ 	)/ $�5����/ �)/ $1���/ �)/ hH∞ ����5� �, � ��41�. �*��� ���.������

,�� ���1�.��� 3�.��/i �� B	
���
���� 
� ��� JAAA K+++ K���	����
��� #
���	����


� #
��	
� G��������
��/ _�0��� ����.!������ �, "�U��2�/ "�U��2�/ >@@@)

<A= ��1f./ 	)/ ��34�1�./ �)/ ���0�����/ �)/ �. ��)/ h��41�. ���.��� ��� �.�4���.W

����W��� �, �������K�� �W�.�3 U�.0 *���3�.�� �����.���+ �**����.��� .� ���1�.���

3�.���/i �� B	
���
���� 
� ��� >M�� K+++ #
���	���� 
� ?�����
� ��
 #
��	
�/

�������/ $������/ 788>)

>9]



<\= ��.�5�/ �)/ ��*�����!����K/ �)/ h���61� ��51��.��� �, ���1�.��� 3�.���/i G�0

�
������/ ���) 7@/ ��) 9/ **) ]7>e]99/ >@@9)

<@= ��*�����!����K/ �)/ ��.�5�/ �)/ h
� �1.*1. ,���4��V 5��4���W �.�4�� ���.������

,�� ���1�.��� 3�.���/i K+++ 9	�������
�� 
� G��
����� #
��	
�/ ���) Z8/ ��)

>/ **) >9\e>Z9/ >@@?)

<>8= ��.�5�/ �)/ ���V������/ �) �)/ ��*�����!����K/ �)/ h�� �*��� ���.��� �, ���1�.���

3�.���/i �� B	
���
���� 
� ��� G��	���� #
��	
� #
���	����/ **) 9?7>e9?7?/

	��..��/ g��0��5.��/ �1��C>@@?)

<>>= ��.�5�/ �)/ ���1.��1/ 
)/ h�� ������.�!.�3� ���.��� �, �1����.!,�� ���1�.���

3�.���/i �$����� ��
 #
��	
� .����	�/ ���) 7A/ >@@])

<>7= 
� g�./ �) 
) 	)/ ��.�5�/ �)/ �������/ �)/ h�������. O���!�����.�� ���.��� �,

���1�.��� 3�.��� �� ��41�.�W 5��4���W �.�4��/i G��
������/ ���) 97/ ��) >8/ **)

>9@9e>Z87/ >@@])

<>9= _�3/ _)/ ��.�5�/ �)/ �0�����/ 
)/ �. ��)/ h�0����.���� ��� �H*���3��.�� ��3!

*������ �, .U� ��������� ���.������� ,�� �1����.!,�� ���1�.��� 3�.���/i K+++

9	�������
�� 
� #
��	
� �$����� 9����
�
�$/ ���) ?/ ��) 9/ **) 99\e9Z\/ >@@A)

<>Z= ������/ �)/ ��������/ 	)/ ��3��/ �)/ h�1.*1. ,���4��V ���.��� �, �1����.!

,�� ���1�.��� 3�.��� U�.0 1�V��U� ��.�� �����.����/i K+++ 9	�������
�� 
�

#
��	
� �$����� 9����
�
�$/ ���) Z/ ��) Z/ **) 99]e9ZA/ >@@])

<>?= ������/ �)/ ��������/ 	)/ ��3��/ �)/ h���4�� ���*.��� �1.*1. ,���4��V ���!

.��� �, ���1�.��� 3�.��� U�.0 1����.��� ��.�� �����.����/i �� B	
���
���� 
� ���

<N�� #
���	���� 
� 
�����
� ��
 #
��	
�/ **) ZA8>eZA8?/ _�4�/ ��*��/ 
���3!

4��C>@@])

<>]= �0������/ �)/ h
 ��U �**����0 .� �W��3�� ,���4��V �������K�.��� ���.��� �, ��

���1�.��� 3�.��/i K+++ 9	�������
�� 
� G��
����� #
��	
�/ ���) Z9/ ��) 9/

**) 9@>e9@A/ >@@\)

<>A= $1�.1��.�/ 
) $) 
)/ 	���K��/ 
) �)/ 
���M�/ 
) 
)/ h�3*��3��.�;-� �� 13

���.������� �� ���������� 1����� 3���� �����K��.�� �1���� *��� 13 3�.�� ��

���1;-� .��,L����/i �� #2%+BOAL/ >@@A/ **) Z79eZ7\)

>9A



<>\= �0�*3��/ 	) �)/ +����	�� P������	$ ;��
��������/ 7�� ���.���/ ��U �̂�V/

�����U!"���/ >@@>)

<>@= ����0���/ g)/ #
��	
� 
� +����	���� ?	����/ 7�� ���.���/ ������/ 	*���5��!

#����5/ >@@])

<78= 	��3��/ �) �)/ h��������5 �, ���1�.��� 3��0���� ,�� ����.��� ������/i K+++

9	�������
�� 
� K�
���	$ G��������
��/ ���) 7?/ ��) ]/ **) >>7]e>>9>/ >@\@)

<7>= ��0��/ �)/ h������.�����5 ���.�� ���.��� �, ���1�.��� 3�.�� ������ 4���� ��

*0W����� *�����*���/i 
�*��.3��. �, ���/ ��������.W �, �������.�/ >@@\)

<77= J0�1/ _)/ 
�W��/ �) �)/ ������/ _)/ �
)��� ��
 2������ #
��	
�/ >�. ���.���/

�**�� 	����� �����/ ��U �����W/ ����.���!"���/ >@@])

<79= ������/ _)/ h
�� �*.�3�� 0��V��!���3 �**��H�3�.���� �, ������ 31�.������4��

�W�.�3� ��� .0��� l∞!����� 4�1���/i K���	����
��� Q
�	��� 
� #
��	
�/ ���) 9@/

**) >>>?e>>@9/ >@\Z)

<7Z= #��W���5��/ �)/ #
��	
� �$���� �$�������/ >�. ���.���/ ��34���5�/ �
/ ���

�����/ >@\?)

<7?= ��../ �) �)/ ����4���/ �) 
)/ �����/ �) �)/ h
 ������.��� 4�.U��� �.�.�!

�*��� ��� ��14�W ��*��3� ,���.����� ��*�����.�.����/i K+++ 9	�������
�� 
�

G��
����� #
��	
�/ ���) 
�!7@/ **) \9>e\97/ >@\Z)

<7]= �����/ �) �)/ h������*�� ��3*����. ����W��� �� ������ �W�.�3�+ ���.�����4���.W/

�4�����4���.W ��� 3���� ���1�.���/i K+++ 9	�������
�� 
� G��
����� #
��	
�/

���) 7]/ **) >Ae9>/ >@\>)

<7A= ������/ �) 	)/ �������/ �) �)/ h��3*1.�.��� �, ���1���!����� 3����� �, 31�!

.������4�� �W�.�3� 4W 4������� .�1���.���/i K���	����
��� Q
�	��� 
� �$�����

�������/ ���) 99/ **) \ZAe\?Z/ 7887)

<7\= �������/ �) �)/ h��.�� �� �1�� �� ���.���� ��41�.� H∞/i �����!�$��/ >@@@)

<7@= $������/ �) 
)/ h
 ��1��� �� H∞ ���.��� .0���W/i �� .����	� H
��� �� #
��	
�

��
 K��
	����
� ��������/ ������/ >@\A/ ���) \\/ 	*���5��!#����5)

>9\



<98= 
�W��/ �) �)/ h
������� �� 31�.������4�� ���.���/i ��2H�R(
��$���� S
	4��
�/

������*����/ ��/ >@\Z)

<9>= ��1�1� ���.�Q����/ h���1�� �� �*���;-� �� *���� �� �61���;-� �� ����� ��� !

����-� 7)>/i >@\A)

<97= ����3/ �) �) �)/ 	1�3�.�1/ g) �)/ 	.�*0��/ �) �)/ �. ��)/ h
� �H*���3��.��

��.1* ,�� .0� �.1�W �, O���!�����.�� ���.��� �, �� 3��0����/i �� 'KKK #
��	���


%	������	
 
� G��
�/���� 0 #%G/ **) >88\e>8>>/ $������N*����/ 	�/ 	�.�3!

4��C7888)

<99= k�.�l3/ _) �)/ "�5�b��/ �)/ BK? �
��	
���	� ���
	$� 
����� ��
 ������/ 7��

���.���/ �������0 �����5�� ���V/ ��/ ���.�13��. 	����.W �, 
3�����/ >@@?)

<9Z= �������/ �) �)/ 	���� ��)/ �) 
)/ ����3/ �) �) �)/ hH∞ �*.�3�� ����5� �, ��.�� X1H

�����.�� ���.������ ���1�.��� 3�.�� ������/i �� K+++ K���	����
��� �$��
����


� K�
���	��� +����	
���� ������
 ��	� ��	��������
�/ ��� �� �������/ 7889)

<9?= ������/ 
) �)/ ������/ �)/ 	V�5��.��/ 	)/ h��.����� 3���� ���.���) Z) ��


���.������ ����5�/i K�
���	��� T +������	��� #������	$ B	
���� ?����� ��


?����
�����/ ���) 7?/ **) 7?7e7]?/ >@\])

<9]= $���V���/ �) $)/ ��U���/ �) 
)/ ?������ #
��	
� 
� ?������ �$�����/ >�. ���.���/

������5/ ������01��..�/ 
������!g����W/ >@\8)

<9A= 
�W��/ �) �)/ $������/ �) 
)/ ������4�13/ 
) �)/ ;��
)��4 #
��	
� 9��
	$/ >�.

���.���/ ��U �̂�V/ ���3����� �14���0��5 ��3*��W/ >@@7)

<9\= �5�.�/ _)/ +������	�� 
� #
��	
�� P

�	�
/ 1�m ���;-�/ ��� �� �������/

����.���!"��� �� ������/ >@\?)

>9@



!�,-��.� !

����!0 � �� (��0�!�!

(�����(!� � ��� �
!� 

 ������� 

� .�H.� � ��51�� �*�����.� 13 �H�3*�� �� ��5���.3� *��� � *��5��3� 61� �����K�
�� ,1�;T�� �� ��.��,��� ��3 � 1�1L��� � �� ���.���� �� 3�.�� �� ���1;-�/ 1.���K����!��
� ��3*������ ������) � �H�3*�� �� ���.������� ���.� ���� � 13 ��)

������������������������������������������������������������������������������������������������

�������� ���� ��	
���� 
�
����� �� ��
���� �� �	�����

�������� ������ �������

������ ��  ���!

"��# $� � ����� �! %� "&�!��

���� !'�$� �(� )*+),+,))*

������������������������������������������������������������������������������������������������

��
� �������� �� � ���
� 
��������� �� ��
�� � ��- �� ��.���	���/

�� 
��	��
����/ ���� ��� � ���
�� ��
��� ���	��0��

��	���
�� ���	
12 ���2� � ��.���	��� �3 4��
��

5

6��7��( ������ �8

���� ���/� �6��/�$�/���8

�����������������������������������������������������������������������������������������������5

�����

�9���%�� : ;)8 � �<6����� �( (!������7��$�� 5

	9��	
 : =)8 � ��2 $� %�'�� >�� � ��!��2 $�� ���%�� �� ?�!��

����� ��!%����� ������!%�� $� � 72 $� ������ � $� %� 2 5

� : �9���%�� 1 =�@A8

�9���� : 	9��	
 1 �8

�� : B)8

�C��� : =,2D,8

�� : *2=E=FG,AFE8

>Z8



��*) : ��+*)8


� : H)2)F=G@)2)F)1)2)F=GI8 ���������� $� 
�(6� �����!��5

	 : ,FA8

J6 : )2)EG,E*=FAGDE;G8


! : )2=D);*F,DEFGGF,8

J����= : J61H�9����+H,1
!IK=I8

J����, : J61H�9����+H,1
!I@=I8

J���� : 	1�+H,1��I8

�!'�9C�??��9��� : ;G))8

�����������������������������������������������������������������������������������������������5

%��

!!/LL/!!! � !���7��8

����/!�$!��/����94����� � !���7��8

J!�$9�/J!�$9C�/J!�>9�/J!�>9C� �  ��7!��8

4�����/4��?/49(� /J94(� /J7���/$���� � ��� 8

��$9��?/��>9��?/����/����9�����!��/6��!��� � ��� 8

J6�9�/J6�9C�/�!%� 9!�?/�!%� 9��6 � ��� 8

���%�� � CM��8

��< � N��$8

?!(/��� � C�� ���8

�6��� � ����8

$�$�� � ��<�8

�!����%� � ���!�7O=*P8

��>%94����� � ���!�7O=,P8

����/���� � ����MO)22	@=P �? !���7��8

���?/� !$� � ����MO=22*P �? !���7��8

�39���/�39�	. � ����MO=22*P �? CM��8

C�??��9���� � ����MO=22�!'�9C�??��9���P �? ��� 8

C�??��9��� � ����MO=22�!'�9C�??��9���P �? N��$8

�����������������������������������������������������������������������������������������������5

6����$��� ���� �� �9!�>8 ?��N��$8

�����������������������������������������������������������������������������������������������5

6����$��� ���!C�!����8

C�7!�

���� �: )8

���� �: =))1��*)8

��>9��? �: ,2)8

��$9��? �: ,2D)8

����9�����!�� �: )8

J94(� �: =+H��$9��?1
� I8

J6�9� �: *,;A;1H,+*I+�C���8

J6�9C� �: *,;A;1H=+*I+�C���8

J!�$9� �: ����$HJ6�9�1��$9��?I8

J!�$9C� �: ����$HJ6�9C�1��$9��?I8

J!�>9� �: ����$HJ6�9�1��>9��?I8

J!�>9C� �: ����$HJ6�9C�1��>9��?I8

?!( �: ?� ��8

J7��� �: *A)+	8

�!%� 9!�? �: F)) 1 ��*)8 � ��$+� 5

>Z>



�!%� 9��6 �: D)) 1 ��*)8

��>%94����� �: Q�����2(Q8

����94����� �: =8 � ) 6��� ��� ����!7!�/ = 6��� ���� � , 6��� 6� !��(!� 5

4��? �: �!%� 9!�?8 � ��$+� 5

49(� �: ,))1��*)8 � ��>9��?1J94(� K4�����8 5

$���� �: J����149(� 8 � J���� : 	1�+H,1��I 5

��$

�����������������������������������������������������������������������������������������������5

6����$��� ��C� �9$�9���%��8

C�7!�

� ��	���� 	�
�� 5

�39���O=P�:�3=8

�39���O,P�:�3*8

�39���O*P�:�3F8

�39�	.O=P�:�3,8

�39�	.O,P�:�3E8

�39�	.O*P�:�3A8

��$8

�����������������������������������������������������������������������������������������������5

6����$��� ��C� �9$�9��������8

%�� ! � !���7��8

C�7!�

?�� !�:) �� 	@= $�

C�7!�

����O!P�:����$H*,;A;1���H,1��1!+	II8

����O!P�:����$H*,;A;1�!�H,1��1!+	II8

��$8

��$8

�����������������������������������������������������������������������������������������������5

6����$��� ��!���9���%��8 �������6�8

%�� R/��<! � !���7��8

�/C/�/$ � ��� 8

C�7!�

�  �!���� $�� ���������� 5

� !$�O=P�: F=E@�����$H=I8

� !$�O,P�: F);@�����$H,I8

� !$�O*P�: F==@�����$H*I8

� �� �� � $� 6��!���/ 6�� !���7������ 5

6��!����: 6��!��� K $����8 � $���� : J����149(� 5 � J���� : 	1�+H,1��I 5

��<!�:����$H6��!���I8

!? H��<! S 	@=I ���� 6��!����:6��!���@	8

!�$!���: ����$H6��!���I8

� �� �� � $�� ��������� $� ��?�����!�� 5

� ����	�� ���	3��� 5

��:H=2;*,)F)D=1����O!�$!��P@����O!�$!��PI8

C�:H=2;*,)F)D=1����O!�$!��PK����O!�$!��PI8

��:H@=2;*,)F)D=1����O!�$!��P@����O!�$!��PI8

$�:H@=2;*,)F)D=1����O!�$!��PK����O!�$!��PI8

���?O=P�:HJ!�$9�1����O!�$!��P@J!�>9�1����O!�$!��PI $!% ,)G;=F,8 � ,T*, + ,T== 5

>Z7



���?O,P�:����$HJ!�$9C�1�KJ!�>9C�1CI $!% ,)G;=F,8 � ,T*, + ,T== 5

���?O*P�:����$HJ!�$9C�1�KJ!�>9C�1$I $!% ,)G;=F,8 � ,T*, + ,T== 5

���%���:�C��9��$��8

6���O���%��=�DP�:���%��8

?�� R�:= �� * $�

!? �(�$�5 H ���?ORP S � !$�ORP I

���� ���%���:���%�� ��$ �39���ORP

� �� ���%���:���%�� ��$ �39�	.ORP8

6���O���%��=�DP�:���%��8

�����:����K=8

!? H����S:	9��	
I ����

C�7!�

�����:)8

���� �� �9!�>8

��$8

6���O�������6�����7��D,FGP �: ��!8

��$8

�����������������������������������������������������������������������������������������������5

�����$��� !�!�!� !'�8

C�7!�

6���O���%��=�DP �: �C��9��$��8

6��7��(�9(�$�9��(6��!'�$��H���!��I8

!���� �9���!��9!������6���9��!���9���%��HU��!���9���%��I8

$���C! !��9!������6���9��!���9���%��8

6���O
!(�� P�:
!(��=��$�*8 ����?!7��� ��(6��!'�$�� 6��� �6������ ����!���5

�����7�9��(6��!'�$��H�9���%��I8

����:
���8

!!�:=8

!!!�:=8

��$8

�����������������������������������������������������������������������������������������������5

6����$��� ?!�� !'�8

C�7!�

$���C! !��9!������6���9��!���9���%��8

��������9%����9!������6���9��!���9���%��8

6���O���%��=�DP �: �C��9��$��8

����� ���
��� �� 
���������5

���!7�H$�$��/��>%94�����I8

��N�!��H$�$��I8

?�� LL�:= �� �!'�9C�??��9��� $�

C�7!�

N�!�� �H$�$��/C�??��9���OLLP/Q Q/C�??��9����OLLPI8

��$8

� ���H$�$��I8

?!( �:����8

��$8

�����������������������������������������������������������������������������������������������5

�����$��� 
� �8

>Z9



%��

���V/���W � �W
�8

����	

��
�VWH,,/,I8

4��
�HQ������
���� �� ���
��	��� �� ��
�	���QI8

��
�VWH,F/AI8

4��
�HQ�	���� �� �������� �@ 
�
�����2���QI8

7���<MH,F/)GI8

N�!��HQ=2 ��!�!�� �����2QI8

7���<MH,F/==I8

N�!��HQ,2 �������(6�� � �����2QI8

7���<MH,F/=*I8

N�!��HQ*2 ��!�!�!��2QI8

7���<MH,F/=FI8

N�!��HQE2 .!�� !'��2QI8

7���<MH,F/=;I8

N�!��HQ
�� � � �6��� $���L�$� � O PQI8

7���<MH,/,FI8N�!��HQ�������� ������ �������/ ������ ��  ���! � "��� $� � ����� �2 "�2QI8

7���<MH*)/,*I8N�!��HQ4��? : Q/4��?+��*)�,�)I8 ��6(5

7���<MHF/,*I8N�!��HQ���%�� � Q/�!����%�I8

7���<MHA)/,*I8N�!��HQ���!��� : )QI8

7���<MHEF/,*I8N�!��HQ4����� : Q/4�����+��*)�,�=I8��6(5

.�� ���V�:, 
� ;G ��

����	

��
�VWH���V/=I84��
�H�3��H=GAII8

��
�VWH���V/,EI84��
�H�3��H=GAII8

�	�8

.�� ���V�:* 
� ;D ��

����	

��
�VWH���V/,,I84��
�H�3��H=GAII8

��
�VWH���V/*I84��
�H�3��H=GAII8

�	�8

.�� ���W�:E 
� ,= ��

����	

��
�VWH,/���WI84��
�H�3��H=;GII8

��
�VWH;G/���WI84��
�H�3��H=;GII8

�	�8

.�� ���W�:, 
� ,* ��

����	

��
�VWH=/���WI84��
�H�3��H=;GII8

��
�VWHD)/���WI84��
�H�3��H=;GII8

�	�8

7���<MH=/=I8N�!��H����H,=DII8

7���<MHD)/=I8N�!��H����H=G=II8

7���<MH=/,EI8N�!��H����H=G,II8

7���<MHD)/,EI8N�!��H����H,=;II8

7���<MH,/*I8N�!��H����H,=DII8

7���<MH;G/*I8N�!��H����H=G=II8

7���<MH,/,,I8N�!��H����H=G,II8

>ZZ



7���<MH;G/,,I8N�!��H����H,=;II8

7���<MHF=/=;I8

�	�8

�����������������������������������������������������������������������������������������������5

6����$��� �����8

C�7!�

6��!��� �: )8

��>9��? �: )8

6���O
!(�� P�:
!(��,��$�)8

�����7�
�(6��!'�$��H�!(��,/AFF*FI8

6���O
!(�� P�:
!(��,��$�E8

�����7�
�(6��!'�$��H�!(��,/AFF*FI8

����:
���8

!! �:=8

!!!�:=8

��$8

�����������������������������������������������������������������������������������������������5

�����$��� ���94�����8

����� 
!(��,�����:XD)8

%�� 6=/6,/6*/6E� ��� 8

��(6�� N��$8

L� !���7��8

C�7!�

6���O
!(�� P�:
!(��,�����8

��(6��:6���O�!(��,P1,FA K 6���O�!(��,P8

!? HH��(6�SED)))I ��$ H��(6�YAFF*)II ���� ��<�:��(6�8

6���O
!(�� P�:
!(��,��$�)8

�����7�
�(6��!'�$��H�!(��,/)I8

4������:E1��+HHAFF*F@��<���(6�5I1D))�@AI8 ���$+�5

!? H����94�����:=I ���� 4����� �: =2))E14�����8

!? H����94�����:,I ����

C�7!�

� ����	���� 5

6=�:4�����14�����14�����1)2))))))))=AE)GF8

6,�:4�����14�����1)2)))))A)=,=;DG*8

6*�:4�����1=2)*G*G*));=),G*8

6E�:)2=GE)=D,AD);D*A8

4������:6=@6,K6*K6E8

��$8

��4�!��H����$H4�����1*2GI/)I8

6���O
!(�� P�:
!(��,��$�E8

�����7�
�(6��!'�$��H�!(��,/)I8

��$8

�����������������������������������������������������������������������������������������������5

6����$��� ���� �� �9!�>8

C�7!�

�  �!���� $� %� ��!$�$�� 5

���94�����8

�����:4��?@4�����8 ���$+�5

>Z?



��>9��? �: ��>9��? K J����=1���� @ J����,1����9�����!��8

����9�����!���:����8

!? H��>9��? Y @,)2)I ���� ��>9��? �: @,)2)8

!? H��>9��? S ,)2)I ���� ��>9��? �: ,)2)8

� �� �� � $� 49(� � 5

49(� �:��>9��?1J94(� K4�����8 � J94(� �: =+H��$9��?1
� I 5

� ��7!�� ��!�!��� 5

$���� �: J����149(� 8 � J���� : 	1�+H,16!I 5

J!�>9� �: ����$HJ6�9�1��>9��?I8

J!�>9C��: ����$HJ6�9C�1��>9��?I8

C�??��9���O!!P�:��<8 ���$+�5

C�??��9����O!!P�:��>9��?8

!!�:!!K=8

!!!�:!!!K=8

!? H!!S�!'�9C�??��9���I ���� ?!�� !'�8

!? H!!:F))I ���� 4��?�:�!%� 9��68

!? H!!!Y;)))I ����

C�7!�

4��?�:�!%� 9!�?8

!!�:=8

��$

� ��

C�7!�

!!!�:D)))8

��$8

��$8

�����������������������������������������������������������������������������������������������5

������ ���	�����5

��7!�

���!C�!����8

!�!�!� !'�8

� ����8

��C� �9$�9���%��8

��C� �9$�9��������8

�����8

�� �8

��6���

7���<MHF*/,*I8N�!��H4�����+��*)�F�)I8

7���<MH;)/,*I8N�!��H����$H6��!���1J7���II8� ��� 8

�? R�M6�����$ ����

C�7!�

�6��� �: ���$R�M8

>Z]



���� �6��� �?

Q=Q � C�7!�

�����8

��C! !��9!������6���9��!���9���%��8

�!����%��:Q �
�
����Q8

7���<MHF/,*I8N�!��HQ���%�� � Q/�!����%�I8

7���<MHF=/=;I8

��$8

Q,Q � C�7!�

$���C! !��9!������6���9��!���9���%��8

�!����%��:Q����
�
����Q8

7���<MHF/,*I8N�!��HQ���%�� � Q/�!����%�I8

7���<MHF=/=;I8

6���O���%��=�DP �: �C��9��$��8

��$8

Q*Q � C�7!�

�����8

7���<MH;)/,*I8N�!��HQ)))QI8

��$8

QEQ � ?!�� !'�8

�� � �6��� �: ���$R�M8

��$8

��$8

���! ?!(8

� ����8

��$2

�����������������������������������������������������������������������������������������������5

>ZA



!�,-��.� $

����!0 ��� (��0�!�!(!�!

�"����� ��� �������!��� �

! (!���� �� (��$� �! H∞ � 

�1$�����

� .�H.� � ��51�� �*�����.� 13 �H�3*�� �� ��5���.3� *��� �� ����1��� ���.��!

������� � *��.�� �� *��4��3� H∞ �� 7!4����� ,��31���� �� .���/ 1.���K����!�� �

�
��
�+

������������������������������������������������������������������������������������������������

� �������� ���� �Z����� �� ��	
��������� � ���
�� �� �������� 3!�? ��

� ,@������ .�������� 	� 
���

� ������ "��# $� � ����� �! %� "&�!��

� ���� !'�$� �(� )A+)=+,))*

������������������������������������������������������������������������������������������������

� ��� �  8

�:=)1;)�@A8

?�������C����:F8

��!���!�6���$�:=�@=,8

�������������������������������������������� ����� ���������������������������������������������

�N=:=2)1O= *)2)P8 $N=:O= =))2)P8 �=:�N=H=I8C=:�N=H,I8�=:$N=H=I8$=:$N=H,I8N=�:�?H�N=/$N=I8

�N,:)2=1O= =P8 $N,:O= )2)=P8 �,:�N,H=I8C,:�N,H,I8�,:$N,H=I8$,:$N,H,I8N,�:�?H�N,/$N,I8

4: �7�6���H@E/E/,)I8

O(�$N=�/��7N=�P:C�$�HN=�/4I8

(�$N=H=I:(�$N=�H=/=/=I8 (�$N=H,I:(�$N=�H=/=/,I8

(�$N=H*I:(�$N=�H=/=/*I8 (�$N=HEI:(�$N=�H=/=/EI8

(�$N=HFI:(�$N=�H=/=/FI8 (�$N=HAI:(�$N=�H=/=/AI8

(�$N=H;I:(�$N=�H=/=/;I8 (�$N=HDI:(�$N=�H=/=/DI8

>Z\



(�$N=HGI:(�$N=�H=/=/GI8 (�$N=H=)I:(�$N=�H=/=/=)I8

(�$N=H==I:(�$N=�H=/=/==I8 (�$N=H=,I:(�$N=�H=/=/=,I8

(�$N=H=*I:(�$N=�H=/=/=*I8 (�$N=H=EI:(�$N=�H=/=/=EI8

(�$N=H=FI:(�$N=�H=/=/=FI8 (�$N=H=AI:(�$N=�H=/=/=AI8

(�$N=H=;I:(�$N=�H=/=/=;I8 (�$N=H=DI:(�$N=�H=/=/=DI8

(�$N=H=GI:(�$N=�H=/=/=GI8 (�$N=H,)I:(�$N=�H=/=/,)I8

?!7���8��(! �7<H4/(�$N=/Q7Q/Q !��N!$��Q/,I8�� $ ��

< �C� HQ.��>[\��!� ��7� �� H��$+��7��$��IQ/Q?����!'�Q/=EI

M �C� HQ�]$� �Q/Q?����!'�Q/=EI

O(�$N,�/��7N,�P:C�$�HN,�/4I8

(�$N,H=I:(�$N,�H=/=/=I8 (�$N,H,I:(�$N,�H=/=/,I8

(�$N,H*I:(�$N,�H=/=/*I8 (�$N,HEI:(�$N,�H=/=/EI8

(�$N,HFI:(�$N,�H=/=/FI8 (�$N,HAI:(�$N,�H=/=/AI8

(�$N,H;I:(�$N,�H=/=/;I8 (�$N,HDI:(�$N,�H=/=/DI8

(�$N,HGI:(�$N,�H=/=/GI8 (�$N,H=)I:(�$N,�H=/=/=)I8

(�$N,H==I:(�$N,�H=/=/==I8 (�$N,H=,I:(�$N,�H=/=/=,I8

(�$N,H=*I:(�$N,�H=/=/=*I8 (�$N,H=EI:(�$N,�H=/=/=EI8

(�$N,H=FI:(�$N,�H=/=/=FI8 (�$N,H=AI:(�$N,�H=/=/=AI8

(�$N,H=;I:(�$N,�H=/=/=;I8 (�$N,H=DI:(�$N,�H=/=/=DI8

(�$N,H=GI:(�$N,�H=/=/=GI8 (�$N,H,)I:(�$N,�H=/=/,)I8

��(! �7<H4/(�$N,/Q�Q/Q !��N!$��Q/,I8�� $ ��

������������������������������������� ���	
�/ �/ 	/ V � W ��������������������������������������

 ��$ R9�9���A � ��-��
� ��� �� ������� �� ��	3� � ��	�
�	
� �� 
����

R:(���HR�C�(F6�H,�DII8

���:(���H�����(F6�I8

�7:ORP8 $7:O��� =P8 ��:�?H�7/$7I8

$!�6HQ:::::::::::::::: �� ::::::::::::::::QI8 '6RH��I

���C����:���+?�������C����8

��:R8 $�:O��� =P8 ��:�?H��/$�I8

$!�6HQ:::::::::::::::: �� ::::::::::::::::QI8 '6RH��I

�(:=8 $(:=8 (�:�?H�(/$(I8

$!�6HQ:::::::::::::::: (� ::::::::::::::::QI8 '6RH(�I

�<�! :=8 $<�! :=8 <�! �:�?H�<�! /$<�! I8

$!�6HQ:::::::::::::::: <�! � ::::::::::::::::QI8 '6RH<�! �I

�M�! :)8 $M�! :=8 M�! �:�?H�M�! /$M�! I8

$!�6HQ:::::::::::::::: M�! � ::::::::::::::::QI8 '6RHM�! �I

������������������������������������������������������������������������������������������������

 N:A)))8N: �7�6���H@E/E/ NI8

7�((��:�����HOHH�=T,1�,T,IKH�,T,1�=T,II ) 222

@HH�=T,1$,T,IKHC=T,1�,T,IKH�,T,1$=T,IKHC,T,1�=T,II ) HH$=T,1C,T,IKH$,T,1C=T,IIPI8

7:OP8?�� !:=�E8!? ��� H7�((��H!IIS:)87:O7 7�((��H!IP8��$8��$87=:7H=I87,:7H,I8

�������������������������� 	���������� � ��	���	������ �� 
=/ 
, � 
* ��������������������������


=�:O@N=�1M�! �1��8N,�1<�! �1(�P8

O��===/$�===P:�?$���H
=�H=I/Q%QI8

O��=,=/$�=,=P:�?$���H
=�H,I/Q%QI8

$!�6HQ:::::::::::::::: 
=� ::::::::::::::::QI8 '6RH
=�I


=�:(!���� H
=�I8

$!�6HQ:::::::::::::::: 
=� (!� ::::::::::::::::QI8 '6RH
=�I


,�:O@N=�1��1(�8N,�1��1(�P8

>Z@



O��,==/$�,==P:�?$���H
,�H=I/Q%QI8

O��,,=/$�,,=P:�?$���H
,�H,I/Q%QI8

$!�6HQ:::::::::::::::: 
,� ::::::::::::::::QI8 '6RH
,�I

��������������������������������� .�
������ �		�� @ ��
�� �� 
, ��������������������������������

��,�:�>��HH�=T,1�,T,IKH�,T,1�=T,II1R1���%HO= 7=P/O= 7,PI8

$�,�:���%H���%HO�= $=P/O�, $,PI/���%H$�/$(II8


,��:�?H��,�/$�,�I8

$!�6HQ:::::::::::::::: 
,�� (!� ::::::::::::::::QI8 '6RH
,��I


,!�:
,�+
,��8

$!�6HQ:::::::::::::::: 
,!� ::::::::::::::::QI8 '6RH
,!�I


,!�:(!���� H
,!�I8

$!�6HQ:::::::::::::::: 
,!� (!� ::::::::::::::::QI8 '6RH
,!�I

O��,!==/$�,!==P:�?$���H
,!�H=I/Q%QI8

O��,!,=/$�,!,=P:�?$���H
,!�H,I/Q%QI8


,!���:
,!�Q8

O��,!��==/$�,!��==P:�?$���H
,!���H=I/Q%QI8

O��,!��,=/$�,!��,=P:�?$���H
,!���H,I/Q%QI8

$!�6HQ:::::::::::::::: 
,!1� ::::::::::::::::QI8 '6RH
,!���I

���������������������������������������� �Z����� �� �, �����������������������������������������

�,�:H�M�H,I@
,!�1
,!���I1
=�8

$!�6HQ:::::::::::::::: �,� ::::::::::::::::QI8 '6RH�,�I

�,�:(!���� H�,�I8

$!�6HQ:::::::::::::::: �,� (!� ::::::::::::::::QI8 '6RH�,�I

O��,==/$�,==P:�?$���H�,�H=I/Q%QI8

O��,,=/$�,,=P:�?$���H�,�H,I/Q%QI8

�,���:�,�Q8

O��,��==/$�,��==P:�?$���H�,���H=I/Q%QI8

O��,��,=/$�,��,=P:�?$���H�,���H,I/Q%QI8

�111111111111111111111111111111111111 ����	^���� ���������� 111111111111111111111111111111111111

��===LN:6� M%� H��===/L1NI8 $�===LN:6� M%� H$�===/L1NI8

��=,=LN:6� M%� H��=,=/L1NI8 $�=,=LN:6� M%� H$�=,=/L1NI8

�=LN:O��===LN2+$�===LN 8 ��=,=LN2+$�=,=LNP8

��,==LN:6� M%� H��,==/L1NI8 $�,==LN:6� M%� H$�,==/L1NI8

��,,=LN:6� M%� H��,,=/L1NI8 $�,,=LN:6� M%� H$�,,=/L1NI8

�,LN:O��,==LN2+$�,==LN 8 ��,,=LN2+$�,,=LNP8

��,!==LN:6� M%� H��,!==/L1NI8 $�,!==LN:6� M%� H$�,!==/L1NI8

��,!,=LN:6� M%� H��,!,=/L1NI8 $�,!,=LN:6� M%� H$�,!,=/L1NI8

�,!LN:O��,!==LN2+$�,!==LN 8 ��,!,=LN2+$�,!,=LNP8

��,!��==LN:6� M%� H��,!��==/L1NI2Q8 $�,!��==LN:6� M%� H$�,!��==/L1NI2Q8

��,!��,=LN:6� M%� H��,!��,=/L1NI2Q8 $�,!��,=LN:6� M%� H$�,!��,=/L1NI2Q8

�,!��LN:O��,!��==LN2+$�,!��==LN ��,!��,=LN2+$�,!��,=LNP8

��,==LN:6� M%� H��,==/L1NI8 $�,==LN:6� M%� H$�,==/L1NI8

��,,=LN:6� M%� H��,,=/L1NI8 $�,,=LN:6� M%� H$�,,=/L1NI8

������������������������������� ������� �� 	���� �	.�	�
� �� �, ��������������������������������

�,LN:O��,==LN2+$�,==LN 8 ��,,=LN2+$�,,=LNP8

?�� !:=� N8���(,�,LNH!I:���(H�,LNH�/!I/,I8��$8

���(!�?�,:(�<H���(,�,LN,I

���������������������������� ���.����	
�� ���� .�����
�� �� ��	
�� �����������������������������


,!��
=�:
,!���1
=�8

>?8



O��,!���=/$�,!��=P:�?$���H
,!��
=�/Q%QI8

�,���,�:�,���1�,�8

�,���,�:(!���� H�,���,�I8

O��,���,/$�,���,P:�?$���H�,���,�/Q%QI8

�������������������� ��
�	� ���� �������� 	���� �� 3�	J�� �� �K H���������I ��������������������

� ?�=:=)1���(H�,�/!�?I87�((���6:� ?�=87�((�!�?:���(H�,�/!�?I8$�$��:OP8������ ?�=: )8

���(���R� �(�!�:=2=8

N�! � HH�C�H7�((���6@7�((�!�?IS��!���!�6���$�I _ H���(���R� �(�!�S=II

7�((����� :H7�((�!�?K7�((���6I+,8

�,����,��:HH7�((����� T,I@�,���,�I8

�,����,��:(!���� H�,����,��I8

O��,����,�/$�,����,�P:�?$���H�,����,��/Q%QI8

���,����,�:�����H��,����,�I8!�$:?!�$H��� H���,����,�IY)I8

���,�:���,����,�H!�$I8��,�:�>��H��,����,�H=II+�>��H$�,����,�H=II16� MH���,�I8

�$�,����,�:�����H$�,����,�I8!�$:?!�$H��� H�$�,����,�IY)I8�$�,�:�$�,����,�H!�$I8$�,�:6� MH�$�,�I8

�,��:�?H��,�/$�,�I8

��:
,!��
=�+�,��8

��:(!���� H��I8

O��/$�P:�?$���H��/Q%QI8

O��/C�/��/$$�P:�?,��H��/$�I8

O�(����/C(����/�(����/$(����/�(�!�/C(�!�/�(�!�/$(�!�/��P:���C6��LH��/C�/��/$$�I8

$(����:$(�!�8$(�!�:)8

N�: M�6H�(�!�/HC(�!�1C(�!�QII8

N�: M�6H�(�!�Q/H�(�!�Q1�(�!�II8

 �(C$�:�!7HN�1N�I8 �(C$�(�<:(�<H�C�H �(C$�II8���(���R� �(�!�:�>��H �(C$�(�<I8

$�$��:O$�$��87�((�!�? 7�((���6 7�((����� ���(���R� �(�!�P8

!? ���(���R� �(�!�Y=

7�((���6:7�((����� 8

������ ?�=:=8

� ��!? ������ ?�=::)

� ?�=:,1� ?�=8

7�((���6:� ?�=8

� ��

7�((�!�?:7�((����� 8

��$

��$

����������������������� ������� �� �������� �� 	�3��� � �Z������ .�	��� ������������������������

$!�6HQ:::::::::::::::: �� ::::::::::::::::QI8 '6RH��I

�(���:��H�(�!�/C(�!�/�(�!�/$(�!�I8

�(��:�?H�(���I8

$!�6HQ:::::::::::::::: �(�� ::::::::::::::::QI8 '6RH�(��I

O��(�!�/$�(�!�P:�?$���H�(��/Q%QI8

�(���:��H�(����/C(����/�(����/$(����I8

�(��:�?H�(���I8

$!�6HQ:::::::::::::::: �(�� ::::::::::::::::QI8 '6RH�(��I

O��(����/$�(����P:�?$���H�(��/Q%QI8

O����/����/����/����P:�����!H�(�!�/C(�!�/�(�!�/$(�!�I8

V��:��H����/����/����/����I8

V�:�?HV��I8

>?>



$!�6HQ:::::::::::::::: V� ::::::::::::::::QI8 '6RHV�I

O�</$<P:�?$���HV�/Q%QI8

V����:V�K�(��8

$!�6HQ:::::::::::::::: V���� ::::::::::::::::QI8 '6RHV����I

O�<���/$<���P:�?$���HV����/Q%QI8

VC�����:V����1�,��8

$!�6HQ:::::::::::::::: VC����� ::::::::::::::::QI8 '6RHVC�����I

O�<C����/$<C����P:�?$���HVC�����/Q%QI8

-�:VC�����+
,��8

$!�6HQ:::::::::::::::: -� ::::::::::::::::QI8 '6RH-�I

-�:(!���� H-�I8

$!�6HQ:::::::::::::::: -� (!� ::::::::::::::::QI8 '6RH-�I

O�>/$>P:�?$���H-�/Q%QI8

? ���:H��@V����I8

? ���:(!���� H? ���I8

O�? ��/$? ��P:�?$���H? ���/Q%QI8

�? ��LN:6� M%� H�? ��/L1NI8 $? ��LN:6� M%� H$? ��/L1NI8

? ��LN:O�? ��LN2+$? ��LNP8? ��LN:�C�H? ��LNI8

?!7���8

��(! �7<HN/? ��LNI8

�>6:�>8

$>6:���%H$>/O���C���� =PI8

-6�:�?H�>6/$>6I8

$!�6HQ:::::::::::::::: -6� ::::::::::::::::QI8 '6RH-6�I

J�:@HM�! �@(�1-6�I+H<�! �@��1-6�I8

$!�6HQ:::::::::::::::: J� ::::::::::::::::QI8 '6RHJ�I

J(!��:(!���� HJ�/=�@,I8

O�R(!�/$R(!�P:�?$���HJ(!��/Q%QI8

$!�6HQ:::::::::::::::: J(!�� :::::::::::::::QI8 '6RHJ(!��I

R(!�' : �,$HJ(!��/�/Q����!�QI8

O�R(!�'/$R(!�'P:�?$���HR(!�'/Q%QI8

�R(!�':����$H�R(!�'1=))))))))))))))I+=))))))))))))))8

$R(!�':����$H$R(!�'1=))))))))))))))I+=))))))))))))))8

R(!�':�?H�R(!�'/$R(!�'/�I8

?��(��  ��7

'6RHR(!�'I

������ ������� ���� 
���.���� �� __4=1
 K 4,1�__�	. Y = ���� ����	
�� �������	3� �����
� �������

4=
�:N=�1��1J(!��+H=K��1J(!��I8O�N=�/$N=�P:�?$���H4=
�/Q%QI8

�N=�LN:6� M%� H�N=�/L1NI8 $N=�LN:6� M%� H$N=�/L1NI8 N=�LN:�N=�LN2+$N=�LN8

4,��:N,�+H=K��1J(!��I8O�N,�/$N,�P:�?$���H4,��/Q%QI8

�N,�LN:6� M%� H�N,�/L1NI8 $N,�LN:6� M%� H$N,�/L1NI8 N,�LN:�N,�LN2+$N,�LN8

�����C����:(�<H�C�HN=�LNIK�C�HN,�LNII

?!7���8��(! �7<HN/�C�HN=�LNI/N/�C�HN,�LNI/N/�C�HN=�LNIK�C�HN,�LNII

>?7


